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If you talk to a man in a language he understands, that goes to his head. If
you talk to him in his own language that goes to his heart.
- Nelson Mandela
Language is the road map of a Culture. It tells you where its people come

from and where they are going.
- Rita Mae Brown
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WRT - 1
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T SR I fafay | 15x1=15

Choose and write the correct answer.
1. HUIR Hfod, < & ! HEd ht g SHdTel shiad |

(31) @i (3T) a=i (3) Tagaeht (%) for
2. ‘®Hrhd’ 1 HEheA B

(31) Bforeferor T (1) HeRe™

(3) =REIRE d= (3) Hedt amt
3. ‘‘dros’’ wigdl % WE@® gl

(31) AR Tgaet (1) BRETRE T=

(3) Tmur fag ‘fga’ (3) g 4a
4. T fem & fau aoeR avas ®)

(31) SN (1) ST (3) SATAH (3) T
5. T T e AT L <l €

(1) % (am) u= (3) <4 (3) w7
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6. Tegmm=rSh B T € THH T RO T T TRl & <A T SR W @ & e

Mg

(1) G (am) 3Hfa (3) aIfdwn (3) wEaqU
7. TS Al I & T, TS S qoh 1 TTE B S < |

(31) A (eam) fa= (3) el (3) e
8. AT IR oTafem o T & 1 A, I T Holed HHA © |

(1) =4 (am) o= (3) d9fs (3) WER
9.  HJ I AW Yehd T a1 IS oh! oo shed € |

(27) forsremon (a1 forgremr (3) HaI™ () o fogmo
10. YEUATEE GIAH YHR o B T |

() T (zm) (3) M (3) =W
11. I %1 T T8 7

(1) acHd (3m) Ted (3) W (3) dfsa
12. @ 31ef K1 ANY FE 9 TS gl

(31) T AYH (1) e

(3) TroEres gdam (3) HgaTE® Gl
13. IR o |

(31) GHMR () e (3) A5 (3) FRR
14. TETE 1 3cHd FT ® B

(1) et (1) gt (3) e (3) T
15. i) @YE 9 o |

(31) =WHR (a1 & (3) TN 3 g
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

3
T - 11
(18 Marks)
3AT-1
ol =yl o wifere SR fefa )
Answer any four questions briefly.

TG F7 T & e -1 =med € 2

HIGYTH’ Hierdr 1 Tepfa-T=eon shifse |
Herl Y Tt q ¥ ?

f & Ve T e I T BT ol 8 2
Y fordt hed €27 STehT TROTH 1 BT § 2

I T I T HROT FAET |

AT -2
feredl urer 7 & S fafau |
Answer any five questions.

fordroon ford e €2 91 & M fafau |
= sgeh i g fafea

o TRl #hed © 2

T ST 1 TR 3ere wfed fafau
T SIeh hl TR SRt HIRTELol THEATET |

o= ford ed €2

foran ferdroor ford hgd €7 39k fohan A B0 © 2

4955

4x2=8

5x2=10
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29.

30.

31.

32.

33.

34.

4
T - 111
(18 Marks)
3IT-1
for=dt S owl & R Gfse

Answer any two questions.

T 3R TATR T ST T HITT |
TEIee! ol Sl THE TEHI! o1 A 3eeid it |
GEhfd 1 GG - TR oMl W Jedr § 2

3{9T-2
forsl S 9eai & SR SIS U39 gen 34 3ifar 2

Answer any two questions. Question No. 34 is compulsory.

3 Tl % fou ua vIsg fafan :
(31) S T I G & -
(1) 59 oz =t 3T 2 -

(3) To9® ®E AT -

T I,

(1) T &k Uedl § |

(M) oeh! O wue fo=n S B
(3) 3T UL SIF @R 2

(31) Bk o | U IS Bl B fAfan
(a) HfTH o1 9ga e T
(b) =TSl T T el § 2
(c) % =G I H T
e
(2m) fou T vrssi o v g e
(a) =
(b) X
(c) R

2x3=6

2x3=6
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36.

37.

38.

39.

40.

3M9T-3

for=dl St uel & s foafem |
Answer any two questions.
XA STt ST R T HROT T hITT |
T T % W I 7 A Y - a2
HIAT 7 AT FI {ohaT ?

HIT - IV

(25 Marks)
[t Tl o IW AT |

Answer all the five questions.

(31) sEEfdE U T hid 9R=d fafgu|
AYAT
(3T YT SARAT TSI |
59 et fom rsa, X o Ufs
H =gy gaq =4, W@ fFR afe

H3TY W[
(3T) SMES. ...
.............. fog g
3rerar
(3M) WY ..o
.............. TITA
SIS # STaR HifwT |

Translate the following into English.

(31) RIS el ohi Ushehd THT ST & |

(31 9 a1l | TS 9re =91

(3) g =i =fisil & 9 e ¥ |9 i it STt @t g
(3) Tg® 97 T F1 A 8, TR A= o ufers g B
(3) Hicag FHar iR Ee ygfa &1 gasw ol

4955

2x3=6

5x5=25
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41. ¥ % g THfafEd geHl o W fafaw :

T R WM 95 1 JaRE 30 W 911 36 TF Far e 3R 98 79 36 e
IE 1 3UY o oM | FHER 7 Ul SR e el fean iR 3uew | 351 79 & o @I
o7 | e 1 Sgd hiY ST SR SEA YA 5 % U S el ol Tk FEr oeT § o
T ITSY A& GAAM TV 5 A Hel ST B IE Ah 3737 | ToRe 3 95 o UG Ak T, 5
7 T foren for ae IF 9IR oAl 9 @ §1 381 39 wue visH faamn iR ame 9 fean
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(31) YIRS I RIS gal ?

(am) TaeErl = Sy =il TE g ?
(3) Taer = @ g 7 = foran ?
(3) I5 7 famrd & o H =1 el ?
(3) 39 T o 3fed widen A

(a) R - Ofqeress fran forermmn
(b) fafer - f®
(c) HR-#R - 3w
(d) fosweg divm - 7Rl
() M- - oY 9= FeAm

- foua e ord @

- OEdarEsE gl

srerar
(3m) W& T wifsT

(a) & IN - 3
(b) TEFH R REEIEEaREC R
() T - Ay Sy T
(d) eI - Ofqeress foRan forrmmn
(e) M - Hfdqarass |4l

- oeETEs H9

- ToETE H



43.

44.

45.

4T -V
(24 Marks)

[t ] o IR S|

Answer all the questions.

(31) Y 9= U8 k1 AR fafaw |
3ar

(1) Sfad IR frefor ure =1 aRiw fafaw |

(1) HIgYH shie =1 GRw faf@T |
3trera
(3T e e s 9w fafey

(37) ‘‘facEaren’ wert o1 gy fafau |
AYAT
(3T1) SIS TaM! 1 I fafeT |
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Language — Part I — FRENCH

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

PART -1
( 15 MARKS)
Choisissez la meilleure réponse. 15x1=15
Choose the best answer.
1.  IIs doivent aussi acheter manteaux.
(@) deux (b) trois (c) quatre
2.  Les amis ont regardé un film
(@) frangais (b) anglais (c) tamoul
3. télicite pour la réussite au bac !
(@) Le professeur (b) L’étudiante (c) L’étudiant
4. a une passion pour la médicine.
(@) Dominic (b) Arun (c) Arvind
5.  Vimal est chez
(a) Kamal (b) Dilip (c) Sunil
6. de Christy a trouvé les chaussures.
(@) La mere (b) La soeur (c) Le pere
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10.

11.

12.

13.

14.

15.

de Vijay arrose les plantes dans le jardin.

(a) Le pere (b) La mere

Prakash est I'ami de

(a) Kumar (b) Vijay

Je m’interesse médecine.

(a) au (b) al

C’est un sac a dos ?

(a) nouvel (b) nouveau

ses amis "admirent.

(a) Tout (b) Tous

C était grande surprise pour moi.
(@) un (b) une

Est-ce que vous avez temperature.
(a) de (b) dela

Nous avous voir neige.

(a) de (b) dela

A la sortie d’ salle de concert.

(@) un (b) une

Le frére

Arun

nouvelle

Toutes

la

du

la

la



16.

17.

18.

19.

20.

21.

3 4957

PART - II

(18 MARKS)

SECTION -1
Quatre Au Choix. 4x2=8
Answer any four.
Completez
(@) Il a une aigué.
(b) Akash avais mal a la
Mettez les verbes au passé composé. Suivez le modele.

Ex: Le maitre (écrire au tableau) — Le maitre a écrit au tableau
(a) Sumana (déjeuner en ville)

(b) Nous (ouvrir les cadeaux)

Auxiliaire avoir ou étre ? Mettez la forme convenable :
(@) IIs rentrés du voyage hier soir.

(b) Elle vu ce film plusieurs fois.

Mettez les verbes pronominaux au présent. Suivez le modéle :
Ex : Mon ami/se réveiller de bonne heure — Mon ami se reveille de bonne heure.
(@) Neetu/se reposer dans le salon.

(b) Les enfants/se coucher tot.

Refaites des phrases en remplacant les pronoms COD/COI par les noms indiqués.
Faites attention a I'accord.

(a) Elle I'a reucontrée. (Son amie)

(b) Nous les avons regardés. (Les films)

Mettez les verbes au temps voulu :
(@) S’il pleut, (prendre) ton imperméable.

(b) S’iln’y a pas de courant, nous ne (pouvoir) pas regarder le match.
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

4

SECTION - 2
Répondez aux question. (Cinq Au Choix)
Answer the following questions. (any five)

De quoi n’a-t-on jamais certain ?

Qui veut aller a la plage ?

Comment Avinash trouve-t-il les acteurs du films ?

Que Preethi pense-t-elle du chanteur ?

Quel poste a-t-on confié a Arun ?

Combien de température faisait-il ?

Pourquoi est-ce que tout le monde tousse ?

PART - III

(18 MARKS)
SECTION -1

Deux Au Choix.

Answer any two.

Mettez les phrases suivantes au futur proche

(a) Je vois les tableaux de Renoir.

(b) Quelle langue étrangere apprends-tu a 1'école ?

(c) Les éleves sortent a midi.

Mettez les phrases a la forme négative
(a) Les feuilles ont commencé a tomber.
(b) Jai acheté une forét-noire a la patisserie.

(c) Il a fait des crépes pour ce soir.

Faites 1'accord des adjectifs :

(a) La piéce de théatre est tres (ennuyeux)

(b) La chanteuse est d'une qualité (exceptionnel)

() L'histoire du film est (nul)

5x2=10

2x3=6



32.

33.

34.

35.

36.

37.

5 4957

SECTION - 2
Deux Au Choix. La question numéro 34 est obligatoire. 2x3=6
Answer any two. Question number 34 is compulsory.
Faites des phrases en mettant les verbes au passé composé :
Ex: Mon ami/recevoir le faire-part de mariage — Mon amia a recu le faire-part de
mariage.
(@) Les amis/féliciter les jeunes mariés.
(b) Ma mere/fermer les fenétres a 6 heures du soir.
(c)  Tu/obtenir une bourse pour faire des études supérieures a Paris.

Mettez les verbes au passé composé a la forme négative. Suivez le modele.
Ex: L’éleve (apprendre par coeur le poeme de verlaine).
— L’éleve n’a pas appris par coeur le poéme de verlaine.
(a) Le pharmacien (demander une ordonnance)
(b) Vous (avoir de la courbature).
(c) Mes grands-parents (prendre) réguliérement les médicaments pour le diabete.

Mettez les verbes au passé composé.
(@) Jachete un thermometre.

(b)  Vous choisissez un bon hopital.
(c) Nous faison un régime.

SECTION - 3
Deux Au choix 2x3=6
Answer any two.
Mettez les verbes a 'imparfait :
(@) Le bébé crie toute la nuit.
(b) Méme pendant I'été, elle est souvent enrhumée.
(c) Le docteur est tres sévere avec les malades.

Mettez les phrases au présent progressif :

(a) Elle (montrer) sa cuisiniére a sa voisine.
(b) Je (expliquer) a maman comment 'achat en ligne fonctionne.
(c) Papa (annuler) le produit commandé dans un magasin en ligne.

Conjuguez les verbes au futur simple :

(@) Nous (visiter) le planétarium avec nos professeurs de 1'école.
(b) Demain, c’est dimanche; je (faire) la grasse matinée.
(c) Emilie (apprendre) une nouvelle langue ce semestre.
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38.

39.

PART - IV
(25 MARKS)
Cinq Au Choix. 5x5=25
Answer any five.

(A) Vous étes en vacances. La nuit, vous avez eu mal au ventre. Vous consultez un
médecin qui est pres de I'hotel. Imaginez ce dialogue.

ou
(B) Dites Vrai ou Faux :
i)  Le chanteur est médiocre.
ii) Dominic a une passion pour l'ingenieur.

(
(
(iii) Hier, Arun a recu la confirmation du siége social.
(iv) Vijaya vient d’acheter une nouvelle cocotte.

(

v)  L’école organise une visite culturelle a hyon.

(A) Mettez les phrases suivantes a 1'imparfait.
i)  Vous avez regardé un film hier.
ii) Les enfants ont joué au cricket le week-end.

(
(
(iii) Ton fils a appris a nager en vacances.
(iv) Elle a conduit la voiture tres vite.
(v) L’enfant a récite la poeme plusieurs fois.
ou

B) Remplacez les noms soulignés par des pronoms COD et accordez les participes
1% g p P P p
passés si cela est nécessaire.

(i) Papa a acheté cette calculatrice en ligne.

ii) J'ai reservé les billets de train sur le site internet.

iii) Elle a rendu la ceusiniere défectuere.

iv) Nous avons commandé ces appareils ménagers en lignes.

v) Il a acheté son sac a dos avec une application.



Lisez le texte et repondez aux questions :

4957

Le réveillon de Noél est la soirée du 24 décembre qui précede Noél. C'est 1'occasion
d’organiser un repas festif au sein des familles. Ce repas comprend souvent une dinde
de Noél et une buche de Noél en France Les gens mettent les chaussettes pres de la
cheminée ou sous le sapin de Noél pour permettre au pere Noél de livrer les cadeaux de
Noél. Il y a aussi la messe. A minuit, on se souhaite un joyeux Noél Dans certaines
familles, c’est également le moment d’ouvrir les cadeaux.

Les Questions :

1. Quand est le réveillon de Noél ?

Q91 = W N

Mettez dans I'ordre :

- Pour moi de diriger le service commercial.

- Tu I'as bien mérité !

- En plus, tu travaillais, en toute sincérité.

CI 2 . . .
- C’était une grande surprise pour moi.

- C'était un grand réve.

(A) Ecrivez le contraire des mots soulignés :
a) La garage est devant #

b)  Demain, je vais au cinéma #

d) Elle Va bien #

e) Jai beaucoup d’argent #

(
(
(c) Il estgrand #
(
(

(B) Associez

A
Un film
Un sirop
Aishwarya

Dominic sera

9l &= W N =

Le chanteur

Ot les gens mettent-ils chaussettes ?
Qu’ est-ce qu’on souhait a Noél ?

Avec qui nous fétons le réveillons ?

~—

S

~—

[oN

o~ o~ o~ o~ o~
~

~—

Qu’ est-ce que le repas au réveillon comprend ?

B
Va voir la neige
un bon médecin
extraordinaire
splendide

s'il vous plait
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43.

44.

45.

Traduisez en anglais.

PART - V
(24 MARKS)

Translate into english.

(A) Ramesh :
Rakesh
Ramesh
Kumar
Rakesh
Nitin
Kumar

Ramesh :

(B) Vimal
Dilip
Vimal
Dilip
Vimal
Dilip

Vimal

Qu’ est-ce qu’ on fait demain ? On va au cinéma ?

: On dit qu'il va pleuvoir demain ?

: Quoi ? Tu blagues ? Il va pleuvoir en été ? Ce n’est pas possible.
: On n’est jamais certain de prévision météo.

: S’il pleut, on va rester a la maison et regarder un bon film.

: §'il fait beau, nous pourrons aller a la plage.

: De toute facon, on va s’amuser.

QOui, c’est certain.
ou

: Dilip, Peux-tu me préter ton portable, s’il te plait ? Je dois appeler

mon pere.

: Mais tu n’as pas apporté le tien ?

: Si, mais il n'ya pas suffisamment de crédit pour faire un appel. Ce

matin, j’ai oublié de recharger mon portable.

: Pas de probléme. Vérifie le réseau. Quelque fois, ¢ca ne marche pas

dedans. Va dehors pour faire un coup d’appel.

: Merci. Je vais essayer. Tu as deux cartes SIM. Laquelle jutilise ?

: Utilise plutoét la carte 2 pour une meilleure qualité de réseau.

D’accord.

Ecrivez une lettre au choix :

(A) Ecrivez une lettre a votre ami(e) en présentant un spectacle de danse que vous
avez apprécié.

Oou

(B) Rédigez une lettre a vos parents pour leur raconter comment la visite culturelle
s’est passé en France.

Ecrivez une rédaction :

(A) Reédigez 10 conseils pour vos étudiants qui vont bientot passer des examens.

Oou

(B) Faites le résumé d’un film que vous avez vu.

-00o0-
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Language — Part II — ENGLISH

Time Allowed : 3.00 Hours | [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack
of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline.

PART -1

Note : (i) Answer all the questions. 14x1=14
(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

Choose the appropriate synonym for the italicised words.

1.  The young bird kept calling her mother plaintively.

(@) happily (b) sadly (c) rigorously (d) wvainly
2. Aditya and the narrator reached a point where the road bifurcated.

(a) restrained (b) combined

(c) divided (d) conditioned
3.  The owner of the tea shop, now over sixty, a little rustic in appearance.

(@) old (b) typical countryside

(c) traditional (d) modern

Choose the appropriate antonyms for the italicised words.
4.  His father was preening the feathers.
(@) cleaning (b) clearing (c) dirtying (d) colouring

5. A portion of a wall of the attic had crumbled down.
(@) withered (b) attached (c) broken (d) taken

6. India’s disabled are deprived by attitudinal barriers as they grapple with the challenges
of acceptance and inclusion.

(a) addition (b) separation (c) diversion (d) adoption
7. Choose the correct plural form of “accessory” from the following :
(a) accessorys (b) accessories (c) accessoryes (d) accessoris
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8.  Form a derivative by adding the right suffix to the word “Child” :

(a) -ment (b) -ies (c) -hood (d) -tion
9.  Choose the correct expansion of the abbreviation “GPS” :

(a) Global Protective System (b)  General Police System

(c) Global Positioning System (d) Global Pre-defining System

10. Complete the following sentence with the most appropriate phrasal verb given below.

Mr. Hamel the blackboard and took a piece of chalk to write.
(a) turned up (b) turned to
(c) turned for (d) turned with

11. Choose the suitable option to pair it with the word “side’ to form a compound word :
(a) path (b) walk (c) way (d) road

12. Fill in the blank with the appropriate prepositional phrase given below.

The trial was conducted the procedure of law.
(a) in accordance with (b) dueto
(c) despite of (d) in addition to

13. Choose the appropriate meaning for the given idiom “over the moon” :
(a) Extremely agile (b) Extremely happy
(c) Extremely visible (d) Extremely attentive

14. Choose the most appropriate linker from the given four alternatives.
They faced many hardships they are always cheerful.
(although, nevertheless, whenever, otherwise)

PART - II
SECTION - 1

Answer any three of the following questions in a sentence or two. 3x2=6

15. What did the young bird do to seek the attention of his parents ?
16. Why was the attic ‘a favourite place” for the children ?
17. How many people in India suffer with disability ?

18. What did M. Hamel say about the French language ?



19.

20.

21.

22.

23.

24.

25.

26.

27.

3 4961

SECTION - II

Read the following sets of poetic lines and answer any three of the following. 3x2=6

Not hurrying to, nor turning from the goal;

Not mourning for the things that disappear.

(@) Why do you think the poet is not in a hurry ?
(b) What should one not mourn for ?

Strong is she in her faith and beliefs.

“Persistence is the key to everything,” says she.

(a) What is she strong about ?

(b) How does she deal with the adversities in life ?

But remember, please, the law by which we live,
We are not built to comprehend a lie,

(a) What does the poet expect us to remember ?
(b) How are the machines built ?

A woman is beauty innate,

A symbol of power and strength.
(a) How is a woman ?

(b) What does she symbolize ?

SECTION - III
Answer any three of the following. 3x2=6

Rewrite the following sentence in passive voice.
When will you finish the building ?

Change into indirect speech.
Balu said “Asia is the largest continent”.

Punctuate the following sentence.
were you not a good student i asked

Transform the following sentence into a compound sentence.
On seeing the teacher the children stood up.

Rearrange the words in the correct order to make meaningful sentences.

(a) asudden/it/Aditya’s/I noticed/asked/reason for/expression/and I/change in/
him the.

(b) at once/church-clocks/twelve/All/the/struck.
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SECTION - IV

Answer the following question. 1x2=2

28. A stranger wants to go to a hospital. Write the steps to guide him to reach his destination.

R K. HOSPITAL m

@ You are here

GANDHIROAD — — T
[
I
[
[
I

L — — - - — _— _—
MK ROAD _‘ BUS STOP

LIBRARY

PART - III
SECTION - 1

Answer any two of the following in a paragraph. 2x5=10

29. Highlight the factors responsible for the all-women Indian Navy crew to carry out
their expedition.

30. Give a detailed account of all thoughts and questions in the narrator’s mind while
accompanying Aditya from the tea shop to Sanyal’s house.

31. “Technology is a boon to the disabled”. Justify.

32. We appreciate the value of something only when we are about to lose it. Explain this
with reference to the French language and M. Hamel.

SECTION - II

Answer any two of the following. 2x5=10

33. What qualities have made women powerful according to “Rakhi Nariani Shirke” ?

34. What feelings are evoked in us by the machines in the poem ‘The Secret of
Machines” ?



35.

36.

37.

38.

5 4961

Read the following stanza and answer the questions given below.

We can pull and haul and push and lift and drive,

We can print and plough and weave and heat and light,

We can run and race and swim and fly and dive,

We can see and hear and count and read and write!

(a) Pick out the rhyming words in the above lines.

(b)  Write the rhyme scheme of the given stanza.

(c) Identify the figure of speech employed in the first line of the given stanza.
(d) Pick out the alliterating words in the second line.

Paraphrase the following stanza.

In the dim past, nor holding back in fear
From what the future veils; but with a whole
And happy heart, that pays its toll

To Youth and Age, and travels on with cheer.

SECTION - III

Answer any one of the following. 1x5=5

Rearrange the following sentences in coherent order.
(a)  With the help of the spirits Prospero could command the winds, and the waves
of the sea.

(b) Prospero and his daughter Miranda lived in a cave.

(c)  Ariel then went to fetch Ferdinand.

(d) These gentle spirits were ever after obedient to the will of Prospero.

(e)  Ariel gave a lively description of the storm, and of the terrors of the mariners.

Read the following passage and answer the questions that follow.

Six days passed. Six frantic days of checking their e-mail day and night. Six
torturous days of having the deafeningly loud KNGRRDRRWHEEZE resound in their
home, most nerve wrackingly. Maya complained that she heard a permanent rumbling
sound in her ears even when she was miles away from home and that her ears ached
all the time. Arvind confessed that, for the first time in his life, he was actually looking
forward to going to school considering it was as calm as a monastery compared to
their house. Mrs. Krishnan had lost interest in painting. Zigzag would sometimes
wake up briefly when he wanted to eat some fruit, and sometimes he would sit on the
veranda looking sulky and bored. Zigzag never spoke to anyone, though everyone
tried several times. He only slept. And snored.

On the seventh day, Dr. Somu’s e-mail arrived. It was, as Dr. Krishnan predicted,
ridiculously simple.

Questions :

(@) How did the days pass ?

(b) What was Maya’s complaint ?

(c) What was Arvind’s confession ?

(d) What was Zigzag's routine ?

()  What was Dr. Krishnan’s prediction about Dr. Somu’s e-mail ?
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SECTION - IV
Answer any four of the following. 4x5=20

39. Prepare an attractive advertisement using the hints given below.

Raj appliances - Aadi sale - 20-50% - special offers - first hundred - special prizes -
Vivek and co., - Gandhi Road - Trichy.

40. You are Anand/Aruna living in a remote village in Salem. You participated in a health
camp organised by your school. You were surprised to observe that most of the residents
were unaware of health and hygiene. As a concerned citizen, write a letter to the
editor stating the need to organise such camps focusing on the importance of health
and hygiene.

41. You are Deepan/Deepa, the Literary Association Secretary of GHSS Madurai. Prepare
a notice on behalf of your school, inviting the students to participate in the oratorical
competition to be conducted next month.

42. Look at the following picture and express your views on it in a paragraph of five
sentences.




43.

44.

45.

46.

Make notes or write a summary of the following passage.

The necessity to preserve, transmit and propagate the rich cultural legacy left
behind by the builders of music in the country in general and in Tamil Nadu in particular
was felt in the year 1949. It was felt necessary that the inherited musical urge in our
youngsters and the past tradition of our musical culture with it’s ancient purity could
be well preserved only when opportunities have been provided to those who have an
aptitude for learning music.

The Central and State Governments with their financial aids established the Central
College of Carnatic Music in August 1949. The college is functioning at ‘Brodie Castle’
on Greenways Road with 600 students and it has been named ‘Thendral’. In the
beginning there were only Vocal, Violin and Veena sections besides general Musicology
Candidates with a considerable standard in music alone, were admitted into the two
year Sangeetha Vidwan Title course and after completion they were permitted to appear
for the ‘Sangeetha Vidwan’ Title examination conducted by the Director of Government
Examinations, Madras.

Write your favourite recipe by starting your own blog.

SECTION -V

4961

Quote from memory : 1x5=5

She’s a 1IoNesSS ; woovveeeeeeeeeeeeeeeeeeeeenn.

........................ Today’s woman, dear.

PART - IV

Write a paragraph of about 150 words by developing the following hints. 2x8=16

(@) There was an island - Prospero and his daughter Miranda - Ariel was the chief -
storm created - Ferdinand and Miranda - Prospero ungentle - Prospero’s brother
- King of Naples - repented - Ariel dismissed.

OR

(b) Dr. Ashok T. Krishnan - Zigzag Somu’s pet - children happy - bird can talk -
sing - Zigzag unmoved - sulking - snoring - neighbours complaining - Seventh
day Somu’s e-mail - Zigzag in the clinic - showing strange - genius.
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47.

8

Read the following paragraph and answer the questions that follow.

Water use in a country depends very much on it’s efficiency in water use. Even
in most technologically advanced country, the efficiency of irrigation is only 30 percent.
As the people of California, in the United States of America, and Israel use water
ethically and with enormous care the efficiency in use is high. They are also good in
water management activities. For example, drip irrigation has been used in Israel as
well as California to best effect. The farmers and horticulturists make the water drip
drop-by-drop at the roots of the crop plants. This system of irrigation has now come
into use in India too. With this method of irrigation a high output of crops is being
harvested with small amount of water. In this way, salination of the lands is also
averted to a great extent.

Questions :
(a) Why is the efficiency in water use high in some countries ?
(b) Explain drip irrigation.
(c)  What is the result of the use of drip irrigation ?
(d) (@) Give the appropriate meaning for the word :
‘ethically”
(i) Choose the word opposite to :
‘efficiency’
OR
When things go wrong as they sometimes will;
When the road you're trudging seems all uphill;
When the funds are low, and the debts are high;
And you want to smile, but you have to sigh;
When care is pressing you down a bit
Rest if you must, but don’t you quit.
Success is failure turned inside out;
The silver tint of the clouds of doubt;
And you can never tell how close you are;
It may be near when it seems afar.
So, stick to the fight when you're hardest hit
It's when things go wrong that you mustn’t quit.
Questions :
(a) When do you want to smile but sigh, according to the poet ?
(b) Explain the line :
“When care is pressing you down a bit”
(c) What seems afar ?
(d) Give a suitable title for the poem.

-00o0-
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fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@SNl : Geualermsgrer mrenE LG semer CsmeirLg).

Note : This question paper contains four parts.

U@ - I /PART -1

GOy : () IS g elammssEpsEh allenL walése] . 14x1=14
(i) Garhssunl L mremE edlanLseald Wsab ghuemLw edlenLulener
CarbOshds GNULHLer ellenLulenaryd Carggl er(pseyLb.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

[ HpLliys / Turn over
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n(AXB)=6 womib A=({1, 3} eTafléd n(B) <y &g :

(o)1 (=) 2 (@) 3 () 6
If n(AXB)=6 and A={1, 3} then n(B) is :
(@ 1 (b) 2 (© 3 (d) 6

1729 &3 u&TE srrewlUBHSSDLCUTE, ABSU LST eramsailen ih&@set e
G (hSe :

(o)1 (=) 2 (@) 3 (rr) 4
The sum of the exponents of the prime factors in the prime factorization of 1729 is :
@ 1 (b) 2 (© 3 (d) 4

F,=1,F,=3 womid F,=F,_,+F, _, etans Car(&siiuigen, Fx oy 6ng) :

(1) 3 ()5 (&) 8 () 11
Given F; =1, F,=3 and F,=F,_{+F,_» then F5 is :
@) 3 b) 5 ) 8 d) 11
256 x8y4zlo
——— 7 Wler auf&sepeuld :
25 30,55 CH
16 |x2z% yz 16 | y 16 |xz2
(@) 5 [2 (<) 127 @) 52 (™) 5 [y
Th tof ZEXVED Ll
e square root or ———— ~—~ 1s eJual 1O :
1 25 x6y6z6 E
16 |x2z* y? 16|y 16 |xz
@ 5,2 ®) 2 © 32 @ 5[y
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e Crilw Foarumiger euenrULLD 6 2A,GD.
(=) Crr&CGam(h (<=}) @ulL LD
(@) ureuemerwibd () dlureiemeTiid

Graph of a linear equation is a
(a) Straight line (b) Circle
(c) Parabola (d) Hyperbola

am, amtl am*+2 o fluieumdlen LS5.Cum.ey. :
(=) a™ (<)am*! (Q) am*? (rF) 1
The G.C.D. of am, am*1 agm+2 jg .

(@ am (b) am*! (@ am*? (d 1

AABC uiév DE||BC, AB=3.6 Q&.15., AC=24 Q&.15. wopmid AD=2.1 Q&..5. erefe,
AE uleor f;@TLb :
(=1) 1.4 Q.15 (<) 1.8 Q&.15. (@) 1.2 Q&.15. (/) 1.05 Qa.18.

If in AABC, DE || BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then, the length of AE
is:

(@) 14 cm (b) 1.8 cm (c) 1.2cm (d) 1.05 cm

aul L gdler Ceuafliigymi Lerefluledlmpg eul L s5h@ erdsamear QgmhGCasThser

QUMD ?

(1) gpam) (<) Qram(®

(@) epyeupp eraimantisans (7) ggwi

How many tangents can be drawn to the circle from an exterior point ?
(a) one (b) two

(c) infinite (d) zero

[ Hpliys / Turn over
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10.

11.

(=5,0), (0, =5) wHMID (5, 0) L Fw Lyemaflsarmed Den&ESLILHD PECSHTERTSS 60r
uliy

(1) 0 5. SjO@GS6T (<=4) 25 &. SO @GS6T

(@) 5 & Se@ser (FF) ergla|ldene

The area of a triangle formed by the points (—5, 0), (0, —5) and (5, 0) is :
(a) 0sq. units (b) 25 sq. units

C 5 sg. units d) none of these
q

(0,0), (1, 0) DmILd (0, 1) ereomm LeTelEeneT (penersermas Gamaml (p&sGaTeanTsdl e
SDHOETE

(1) V2 (=) 2 (&) 2+2 (F) 2-42

The perimeter of a triangle formed by the points (0, 0), (1, 0) and (0, 1) is :

@ 2 (b) 2 © 2+42 d 2-42

@ Caryrsdler 2 wrsHnEn isen Hlpaer FersHh@n o drer el /3 : 1
erafle, @Hweneans sramild erHms Casment eTeuTeng) :

(1) 45° (<) 30° (@) 90° (m) 60°

If the ratio of the height of a tower and the length of its shadow is /3 :1 then, the

angle of elevation of the sun has measure :

(a) 45° (b) 30° © 90° d) 60°



12.

13.

14.

5 4962
<rd 5 Qg.15. wHmbd Frywrb 13 .S, 2 erw Cpir Ul Lé gablGer o wiyb:
(<=1) 12 Q&.16. (<) 10 Q&.15. (@) 13 Q&..5. (/) 5 Q&.i8.

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will
be :

(@) 12 cm (b) 10 cm () 13 cm (d 5cm

@ arsCarargdlen CTGSL LTl H6an Y rsSHleneml alrssss en

__ DL BIGTGLD.

(t) w (<) 4w (&) 3 () 2m

The total surface area of a hemisphere is how many times the square of its radius ?

(@ (b) 4 (c) 3w (d) 2

R LUs555550Mmbg o eurliliL wpevpuile @ LsED Csrbblsh&Es
LOEDG. ABSL LGS erantanflen eemmmd @)L WwSliLimeang 7-e3 9L Gammeurs

Q@mUuUSHETET BlEpSSeITag)

(=) (@) 5 @) 5 (") +

A page is selected at random from a book. The probability that the digit at units place
of the page number chosen is less than 7 is :

3 7
@ 75 ® 70 © 3 d 3

[ Hpliys / Turn over
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@3 - I1/ PART - I

@MlLy : eTemeuCuiend 10 ellarTds@hd@ ellenwellGsa|b. aflerm erear 28 &

SL_Lmwwng adenL_Wef&Ese|b. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. A={1, 3, 5}, B={2, 3} eraflé n(A xB)=n(A)xn(B) eTad &T_(HS.

If A={1, 3, 5} and B={2, 3} then show that n(A X B) =n(A) xn(B).

16. A={1,23,4, ..., 45 womid R eratm 2mey “A -uler WBg, e erewrenilen
QUTESLD 6Tal eUETWMISSILILL T R -3 AXA -ullen 2 L SewTong 6T (pgis.

Ggib R -Garer wHULESMSWLD, IFFESMSWLD STERTSE. -

Let A={1, 2, 3, 4, ....., 45} and R be the relation defined as “is square of a number” on
A. Write R as a subset of AX A. Also, find the domain and range of R.

17. 3,6,9,12, ..., 111 erarp Fl (H&CgsTLT auflewsulier o arer 2 miliLsef en

CT TG HENGHH IS &TETS.

Find the number of terms in the A.P.

3,6,9 12, ..., 111.

18. 3+k, 18—k, 5k+1 eremuiency @ sl (hsLsri auflengulleb o ereren erenflev,

k udler gl sres.

If 3+k, 18—k, 5k +1 are in A.P. then find k.



19.

20.

21.

22.

23.

epmIGaier gmbhise LHMD GUmEsHLULe —9 HMD 20 ereafld, @ mugF

FLORTUTHSENCTE HTEUTS.

Determine the quadratic equations, whose sum and product of roots are —9 and 20.

1522 +11x+2=0 eTemn @)(HLIGF FLOGTLTL g6l APEBIGETIG SETEMOEMWS &HTERTS.

Determine the nature of the roots for the quadratic equation 15x%+11x +2=0.

AABC e Lissmsear AB wpmid AC ufler Weglerer Yeraflger wpenmGuw D whHmid

5 wHmD AC=15 Qg.15.

E 9eng DE || BC eraimeumm ieniobgieTerns). g—[‘; =7

eraflé, AE ullerm gl srers.

In AABC, D and E are points on the sides AB and AC respectively such that DE || BC.

If A—D = é and AC=15 cm, find AE.
DB 4

(=3, —4), (7, 2) wHmbd (12, 5) Y Flw yeTaflger em CaTLmwbFamel 6rems

ST(h&.

Show that the points (=3, —4), (7, 2) and (12, 5) are collinear.

8x—7y+6=0 erarm Gariigerm smie| wHMD y eu(Hggeamm(H <,dlueuhenms

STES (h &.

Calculate the slope and y intercept of the straight line 8x—7y +6=0.

4962

[ Hpliys / Turn over



4962

24.

25.

26.

27.

28.

3x—2y—6=0 erarm Cpr&Carh < Fssaflear Coa ghuBsSEHDd el His

ST (HHENETE &TETS.

Find the intercepts made by the line 3x —2y—6=0 on the coordinate axes.

103 B 2 wgeerer Caryrsden Siquiladmpg 30 B Qsranaeildr sanrude
o arem gp( Yatafludedlmpg Caryrsdlen o &fluller ghms Caramsansd Smeanms.

Find the angle of elevation of the top of a tower from a point on the ground, which is

30 m away from the foot of a tower of height 10./3 m -

2w 2 1 HmId SjglitiFliy 250 &.15. Q&TeTL T 2 (HeneTudler SaT eTeneld

5TEH0TS.

Find the volume of a cylinder whose height is 2 m and base area is 250 m?.

@@ usmL o HLLULUGD ACH Crrssled e Branruipbd s LL(HSng.
useLulled enheapluml ear o LugnEh, Bramusdld e

SenL_LILgnH@ner Hapssmeld &mers.

A die is rolled and a coin is tossed simultaneously. Find the probability that the die
shows an odd number and the coin shows a head.

@\ Cprall L& swibliler o wymiseter ed$lgn 1: 2 HMID Sjeunblen g ILIGSSEE
smmerellen NS 3 : 4 erafled, Deupmlen sar 6T satian S0 SHrams.

The heights of two right circular cones are in the ratio 1 : 2 and the perimeters of their
bases are in the ratio 3 : 4. Find the ratio of their volumes.
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L& - III / PART - 111

GO : eTemeuGuienid 10 eleTésEns@ ellenwelssa|b. aferm ereim. 42 &@E

SL_L_muwng el wefl&salb. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29. A={xe W |x<2},B={re N |1<ux =4} wpmwb C={3, 5} crafle,
Ax(BNC)=(AxB) N (AxQC) eremugenend &MLTT&ES6LD.

Let A={x e W | x <2}, B={x e N | 1 <x = 4} and C={3, 5}. Verify that
AX(BNC)=(AxB)n(AxCQ).

30. @@ L (hS AarLr aflemguler Sepwhgs AHS5SOHES eperm o miliLsaflen
F(hs® 27 wHmD Seunder GUMmESEHL®e 288 erafld, b eperm

2 MIUIL|SHMETS &TEHTs.

The sum of three consecutive terms that are in A.P. is 27 and their product is 288. Find
the three terms.

31. 396, 504, 636 <y Sweupdlen 5.CLT.6l. STewrs.

Find the HCF of 396, 504, 636.

32. &ié& :x+y+z=5 2x—y+z=9; x—2y+3z=16.

Solve : x+y+z=5; 2x—y+2z=9;, x -2y +3z=16.

33. 64xt—16x3+17x2—2x +1 GTGTLISEN GUTGSHCLPEOLD HTEHTS.

Find the square root of 64x*—16x3+17x%>—2x+1.

[ Hpliys / Turn over
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34.

35.

36.

37.

38.

10

Ygrarev Canmsens er(pdl, Hlme|s.

State and prove Pythagoras Theorem.

@ WsCaransdlen BH&CHTHSET e LieTall auflF GlFeayd eTerd ST (hs.

Show that in a triangle, the medians are concurrent.

A6, 2), B(=5, —1) womid C(1, 9) -8 (pevansernasd Clgrewr AABC uller (pener

A W9edl(mBg eueruL(BD BHESCSHTL g 6T FOETUTL DL STas.

Find the equation of the median of AABC through A where the vertices are A(6, 2),
B(—5, —1) and C(1, 9).

P(—1, —4), Q(b, c) womid R(5, —1) eremuiar Gy CrrsGCasmigd jenouyLd
Yememlaer erens. Gogd 2b+c=4 erafled b mmibd ¢ -uflerr wHLiL| sres.

If the points P(—1, —4), Q(b, c) and R(5, —1) are collinear and if 2b +c=4, then find
the values of b and c.

@ FULLSET semismy elletsssdlen @@ LsshIGaTIQD HLeld LD
Qewudlemper. @@ sLLGsaMO(HHS soBsmT leTdsgder o Fflulear ermms
Carenriiger peppGul 30° HMID 45° UG, SOBISHT alleTdssSlem 2wy

200 15 erafled @ FLILIOEHEHGGD @enLCuw 2 drer QFTameneald &rems.

(V3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of
the top of the lighthouse as observed from the ships are 30° and 45° respectively. If the

lighthouse is 200 m high, find the distance between the two ships. (V3 =1.732)



39.

40.

41.

42.

11

45 Q&.18. 2 wippeTer i @QenL s e Q\MHLD <, ThisET panpGu 28 Gl LS.

OHMLD 7 GF.5. erafled, @enL & SIS ST AeTen6d STEHTs.

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,
find the volume of the frustum.

eI 2 (Henemudlen L5 et Sieanr&Carerd @enanthbgeumn 2 6rer e GlLmbeantoudien
Qrgs 2wy 25 CF.B. @b, ger afllL b 12 Q&.15. erafled, GLmbenioudew

QrSSL LDULTLINLIS STeuTs.

A toy is in the shape of a cylinder surmounted by a hemisphere. The height of the toy
is 25 cm. Find the total surface area of the toy if its common diameter is 12 cm.

@renlh useLser 2 Bl LuBdlamer. Sl &Gs (umibd s wHiiysetler
Fa(hse (i) 4 -5G& Foors (i) 10 -8 el dlswrs (i) 13 - L& Gomeurs
@muusHETaT HEPS56 HTEs.

Two dice are rolled. Find the probability that the sum of outcome is (i) equal to 4
(ii) greater than 10 (iii) less than 13.

gwerur® (1+m?)x?+2mex+c?—a2=0 -ar epmsear b erafler c?=a%(1+m?)

erar Hlmieys.

If the equation (1+m?)x?+2mcx +c?—a?=0 has equal roots, then prove that
2= a2(1 + mz).

[ HpLiys / Turn over
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u@d - IV / PART - IV
SN : Semesisg elamés@EhsEh ellenLwarflése] . 2x8=16
Note : Answer the following questions.
43. (=) PQ=45 Q&.15.,, ZR=35° wHomib =& R -OlMHbHg euerguliLilL
BRH&CaT igan Bardb RG=6 Q&.18. eram Syenwuwjwrm APQR euenys.
360605
(<=1) 6 Qe.18. el Lpeiter el L b cuenFhgl eul L e enlowidHeol(mbg 8 GF.L5.
Osreneeiled P ererm LieTaflenwd @Mlsseyd. jliLeareatiudelmbg PA
wHmD PB ererm @ QsrOCsTO ST cuamrhg Seupdlen Hermiseamar
el (H .
(a) Construct a APQR whose base PQ=4.5 cm, ZR=35° and the median from R to
RG is 6 cm.
OR
(b) Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its
centre. Draw two tangents PA and PB to the circle and measure their lengths.
44. (1) ¥2+x—12=0 eTaTD FOGTUTL 14 60T UETLIL LD cUeTHEI, STellen SemenLoeniid

M.
S|V
(=) y=22+3x—4 -Wer euegULL eudThE, AT LwearUBHSH
2+3x—4=0 eTay FOATUTL L& SidbsHab.
(a) Draw the graph of x>+x—12=0 and state the nature of their solution.
OR

(b) Draw the graph of y=x%+3x—4 and hence use it to solve x> +3x—4=0.

-00o0-



No. of Printed Pages : 12 4963

UEAANRR A o2yt o

Register Number

Part - 111
Ks%éa”ajm) / MATHEMATICS

(B0 $5590520 faofjix aPP0e855520 / Telugu & English Version)

RSI0IIS0 & 3.00 (FoeoD | [rf&‘% SFBo0 : 100

Time Allowed : 3.00 Hours |

Jedden ¢

(1)

(2)

Instructions : (1)

81008
Note

HE ¢

Note :

(2)

[ Maximum Marks : 100

(08,0 (DEF 520(¢T €350 QO E3:,T° B WICOD0. 6503[_(‘589955 DOV §%5¢5
E3:5,01,050 (10 DTREEIVE BDATIHZATISW.

TRASOGRRE $00030 05 S Basomeds Aeo Soe Sevsy sort doe
SPBR0 GDBIA0B0E. DBDEPOSD PGS GDAIA0B0E.

Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

SIS HOES® Teentd griiHnen T2 0.

This question paper contains four parts.

geo - 1/ PART -1

() o DHDH areved (PO, 14x1=14

(i) 2DS Teord (HEgETEire0d T KBIEPAN JoHE IO HBIM &Y
&% 085w Hoods DEPERar) TPoDok.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
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n(A X B)=6 8050 A={1, 3} @0 n(B) :

(@ 1 (b) 2 © 3 (d 6
If n(AxB)=6 and A={1, 3} then n(B) is :

(@ 1 (b) 2 © 3 (d 6

1729 ($5es se8esr08 Dgfesd (& @3%@@&5) & (Hors o Hrere Indo ¢
@ 1 (b) 2 (© 3 (d) 4
The sum of the exponents of the prime factors in the prime factorization of 1729 is :

@ 1 b) 2 © 3 d) 4

F,=1, F,=3 %0805 F =F, _,+F, _, @0 F;:
@ 3 (b) 5 © 8 d 11

Given F;=1, F,=3 and F,=F, _{+F, _, then F; is :

(@ 3 b 5 () 8 (d) 11
I E @) stsmeo B8 5550 :
25 x°y°z ©
16 |22 o 161 L 16|y o Lo
(@ T 2 (b) 24 © 5 [2 @ 35
256 8. 410
The square root of # is equal to :
16 |x2z* y? 16|y 16 |xz?
= 16 |—2— 27 2=
@ 5,2 (b) 24 © 5[, @ S5y
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Boer H0EBea0 Do) (D
(a) $5¥ B (b) Ko

(c) Soerdedcho (d) 8JoeHedcdo

Graph of a linear equation is a
(a) Straight line (b) Circle

(c) Parabola (d) Hyperbola

am gm+1 am+2 Gog) . F.gr. BP0 -
(a a™ (b) am+l () am*2 (d) 1
The G.C.D. of am, am*1 am+2 g .

(@ a™ (b) am*t () am*? (d) 1

AABC ¢¥, DE || BC, AB=3.6 20.&., AC=2.4 20.. £805%0 AD=2.1 20.8. ©ondss,
AE &S -
(a) 1.4 o.&. (b) 1.8 Do.&. ) 1.2o0.&. (d) 1.050..

If in AABC, DE || BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then, the length of AE
is:

(@) 14 cm (b) 1.8 cm (c) 1.2cm (d) 1.05 cm

2555 Dothyy) Hrod) Eﬁaa:;@% Y K)o)égéa)en f\o‘ﬁﬁéz‘ﬁ){) ?

(a) 288 (b) Bo (c) olo&o (d) oz
How many tangents can be drawn to the circle from an exterior point ?

(a) one (b) two (c) infinite (d) zero

[ Turn over
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9. (=5,0), (0, —5) 508w (5, 0) DoHHeos DY (Bgbaso ToE) DO :
(@) 05 e (b) 255, 5reden
© 53 oHrden @) =39 =D
The area of a triangle formed by the points (—5, 0), (0, —5) and (5, 0) is :
(a) 0sq. units (b) 25 sq. units

(c) 5sq. units (d) none of these

10. (0, 0), (1, 0) 8¢5 (0, 1) HobHoB T a8 (Bgheso T PSS
@ 2 (b) 2 © 2+42 d 2-42
The perimeter of a triangle formed by the points (0, 0), (1, 0) and (0, 1) is :

@ 2 (b) 2 © 2+42 d 2-42

11. 28 &35 BwE) A& S8 ool D LD S5 NS /3 :1 & Y. QP St
cﬁwé& x%agggssaeﬁw Boé :

(a) 45° (b) 30° € 90° d) 60°

If the ratio of the height of a tower and the length of its shadow is /3 :1 then, the

angle of elevation of the sun has measure :

(@) 45° b) 30° (€ 90° d) 60°



12.

13.

14.

5 4963
5 0. 8. aP?S@"go 80 13 0.8, aren A& ZOAS eow eﬁeﬁéo‘ﬁ) F0BH A :
(a) 12 20.8b. (b) 10 o.8. ) 13 20.8». (d) 5 o.&.

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will
be :

(@) 12 cm (b) 10 cm (c) 13 cm (d) 5cm

2.8 @656@)@9&5 %o S Ingo 6HoSe D480 0 a°§©°60 S8 Q) BeR
9] - — —o89 Q@ (@) ~

&0e00od ?
(@ (b) 4w (c) 3w (d) 2w
The total surface area of a hemisphere is how many times the square of its radius ?

(@ (b) 4w (c) 3w (d) 2w

28 QB0 Hod 8 H oﬁﬁcse)wﬁ)aéom NoHEDR0H. wer DODHBY) 0 ﬁoaag, FOISITe)
FE éogpée?s, 88 5);:606‘5 7 ém& ééo&aém &0Go% Ko éoa;°26§é§ :

3 7
@ 19 ® 15 © 3 d 3

A page is selected at random from a book. The probability that the digit at units place
of the page number chosen is less than 7 is :

[ Turn over
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grifo - II/ PART - II

B8 1 AR 10 BHed SSrerto adod. (Y Somg 28 EHS0. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. A={1, 3, 5} £805% B={2, 3} ©o0ds® n(A xB)=n(A) xn(B) ©® »H0&.

If A={1, 3, 5} and B={2, 3} then show that n(A X B)=n(A) xn(B).

16. A=({1,2,3,4, ..., 45} 5B R 0530 AP “af Sogy @) S50 IED0HES
Bo@ogEn ©ond, R AXA a8 eI (@andn. R God) (HEEsn $00asn 8/
L0 (°AE0X0.

Let A={1, 2, 3, 4, ....., 45} and R be the relation defined as “is square of a number” on
A. Write R as a subset of AXA. Also, find the domain and range of R.

17. o8 @&6‘550 See éoaaééa EoRPK508.
3,6,9, 12, ...., 111.
Find the number of terms in the A.P.

3,6,9 12, ..., 111.

18. 3+k 18—k 5k+1en @08 (B&S® 08, k& EfS08.

If 3+k, 18—k, 5k +1 are in A.P. then find k.



19.

20.

21.

22.

23.

écol’@ Sw&o bW ©0 —9 X805 20 e Ko éig‘égbééwoéa 5015560:50&.

Determine the quadratic equations, whose sum and product of roots are —9 and 20.

1522 +11x+2=0 &Erd H8Be0 @Bws) So Jyrard) ddosod.

Determine the nature of the roots for the quadratic equation 15x%+11x +2=0.

AABC &, D £0805m E S50 AB 0805 AC ghessmed Hodden. der @o& DE||BC.

AD _ 3 o easw AC=15 20.8. @anl3dpto AE QD SfPKokm.
DB 4

In AABC, D and E are points on the sides AB and AC respectively such that DE || BC.

If A—D = 3 and AC=15 cm, find AE.
DB 4

(=3, —4), (7, 2) 08¢ (12, 5) DothHHen SBHDH DoHHN EPVOSoE.

Show that the points (—3, —4), (7, 2) and (12, 5) are collinear.

8x—7y+6=035¢ B cﬁwé& TPen 0O Y oS8T POLsN Bé’%&oéo&.

Calculate the slope and y intercept of the straight line 8x—7y +6=0.

4963
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24.

25.

26.

27.

28.

QerdergroD 3x—2y—6=0 B T @oS8 Pomred ELRCE0&.

Find the intercepts made by the line 3x —2y —6=0 on the coordinate axes.

FrEodnD ¥ FEHBE50 @& griisn o0& 30 . ErSSns® &8) a8 Hothy) Lol &
FEHBS0 D gerssdm S8 éagggsméwéa ERP50.  RPHBESw A 10/3 m -

[

Find the angle of elevation of the top of a tower from a point on the ground, which is

30 m away from the foot of a tower of height 10/3 m -

2 o028 D O 250 m? prd DYFo EOAD JEHo @ng) HOTFH0 DKo

Find the volume of a cylinder whose height is 2 m and base area is 250 m?.

Dsewos® 2.8 FY &Bosadod B a¥ TR0 DHEIHDE0H. FDE 2.8 BV
éoaaegzéa KB » JeeBo é"éa&:éa SP0ToHd Ko éoaréegééséa o[04,

A die is rolled and a coin is tossed simultaneously. Find the probability that the die
shows an odd number and the coin shows a head.

BoH Hhe FoBHo den 1:235BS° Hoaw S wrrore DépSoden 3: 135)88°
&INoW. TP HOITere QB BPKoE.

The heights of two right circular cones are in the ratio 1 : 2 and the perimeters of their
bases are in the ratio 3 : 4. Find the ratio of their volumes.
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grifo - 111 / PART - III

B8 1 DIV 10 (BHoH S5rerso adod. (Y Dogy 42 EBHSL. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29. A={x e W | x < 2}, B={x ¢ N | 1 < x = 4} HdFw» C={3, 5}.
AXBNC)=(AXB) N (AXC) &@d JBrhosolk.

Let A={x e W | x <2}, B={x e N | 1 <x =< 4}and C={3, 5}. Verify that
AXxBnNC)=(AxB)n(AxCQC).

30. ©0¥ (BESR Hrth S Drro Iwgo 27 HBAW O ©Ro 288, © KD DO
EFRPS08.

The sum of three consecutive terms that are in A.P. is 27 and their product is 288. Find
the three terms.

31. 396,504, 636 © K.2r.57. EDCS0&.

Find the HCF of 396, 504, 636.

32. x+y+z=52x—y+z=9; x—2y+32z=16 o J*HoBo&.

Solve : x+y+z=5; 2x—y+2z=9; x -2y +3z=16.

33. 6dxt—16x7+17x%—2x+1 BwE) SZoreo EHASOR.

Find the square root of 64x*—16x3+17x2—2x+1.

[ Turn over
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34.

35.

36.

37.

38.

10

PEHER drposeR) BOHED EFHoBod.

State and prove Pythagoras Theorem.

a8 (@ghesos® ggriEren ©NZEI0e SrdoBod.

Show that in a triangle, the medians are concurrent.

5 5000 A(6,2), B(—5, — 1) 506050 C(1, 9) P &) A 0w 3¢ AABC G Soeigrisso
T HEBeSD EHAEED.

Find the equation of the median of AABC through A where the vertices are A(6, 2),
B(—5, —1) and C(1, 9).

P(—1, —4),Q(b, c) £8050 R(5, —1) &3 Dohen $SEPAsTen £8a5m 2b + ¢ =4 80,
b 0805w ¢ HoHHe Jenden BRPSoR.

If the points P(—1, —4), Q(b, c) and R(5, —1) are collinear and if 2b +c=4, then find
the values of b and c.

BIBoe® Boths Lden af BESFS H ITIHS  BHTyow. © Bok HEBe Hod
BEFTR D o @nE) e)Erod B0 HEHI 30° HBA 457 &od. BEEFTER 2

200 m ®ands’, @ Both HESe D Sroe) EFPsos. (V3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of
the top of the lighthouse as observed from the ships are 30° and 45° respectively. If the

lighthouse is 200 m high, find the distance between the two ships. (\/g = 1.732)



39.

40.

41.

42.

11

45 20.00. D% BOND 28 HYE Podsn @) I eNhe TGN 28 Ro. .
£8050 7 20.8. @ HGE PokEn D) HISHOLTRINL SO HS.

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,
find the volume of the frustum.

28 &5 JPFrBod® 6ol B 508’ ©8HTE B8’ Gob. © &y & 25 0.8, ©
£ ), JFeSes a2590 1220.8h. wowSF, T Fndo &880 Yo EHFLoE.

A toy is in the shape of a cylinder surmounted by a hemisphere. The height of the toy
is 25 cm. Find the total surface area of the toy if its common diameter is 12 cm.

Do Frdden GPgodsarpon. o8 Hdere Indo (i) 4 H JSeSorr S0B0%E
(ii) 10 872 TS 0G0 (iii) 13 BT S S0R0%S Ko 00gPagEd BH°Sod.

Two dice are rolled. Find the probability that the sum of outcome is (i) equal to 4
(ii) greater than 10 (iii) less than 13.

(1+m?)x?+2mex+c2—a2=0 SDESwo S3rS Sorerodn DA &odl, @)
?=a%(1+m?) @ J8rDoLod.

If the equation (1+m?)x?+2mcx +c>—a2=0 has equal roots, then prove that
2= a2(1 + mz).

4963
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808 :
Note :
43. (a)
(b)
(a)
(b)
44. (a)
(b)
(a)
(b)

12

geiio - IV / PART - IV

BHD (HHOB JXrerdo aRos. 2x8=16

Answer the following questions.

egr8o PQ=4.5 0.80., ZR=35° £8a5» R 502 RG Hoggigo 6 0.8n.m
soger APQRZ AcHo&.
5 ond

Bodlo 0D 8 0.8, SrSosd e P o3 DotHh Lo 6 o.L. 500 Ko
IR AcHo&. e HE08 PA 58w PB ©3 3o ‘éo)@b';spo:éa A 3B PEHod
Sod0l.

Construct a APQR whose base PQ=4.5 cm, ZR=35° and the median from R to
RG is 6 cm.

OR

Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its
centre. Draw two tangents PA and PB to the circle and measure their lengths.

x2+x-12=0 XBoE) (P ACS0& 08350 08 KJ@SQCSO BoE) B3er°ae)
BOHBAHOAE.
Sae

y=x2+3x—4 (§ Ac$0d $08050 12+3x—4=0 & FHoTocsoE o)
&AXrA0L0&.

Draw the graph of x>+x—12=0 and state the nature of their solution.
OR
Draw the graph of y=x?+3x—4 and hence use it to solve x2+3x—4=0.

-00o0-
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Check the question paper for fairness of printing. If there is any lack of
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Use Blue or Black ink to write and underline and pencil to draw diagrams.

600 €210GGala]dlm Moal @0MEMBMH DN,

This question paper contains four parts.

B89Wo - I/PART -1

i) agRd Col03EIBRHN0 HEMOODLImEMO. 14x1=14

(i) @mMIclenim  moel SEMEEBEIG mlMio WIIWIYW HOmEO
ODMOOETHSIOYT) VOBIWIBMOCU0 B30alaM CHIWI0 G)PIOd.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. n(AxB)=6 8o A={l, 3} ®o @@eEM®BI@, n(B) agm® :
(@ 1 (b) 2 (© 3 (d 6
If n(AxB)=6 and A={1, 3} then n(B) is :
(@ 1 (b) 2 (© 3 (d 6

2. 1729 af)0M aNOHSONOCMaUONY 66 (alo aNdhESYIION af)dstaldemidhalns
BV BB LHQIEN)
@ 1 (b) 2 (© 3 (d) 4
The sum of the exponents of the prime factors in the prime factorization of 1729 is :

@ 1 (b) 2 (© 3 (d) 4

3. F=1F,=380F =F,_;+F, _, 60 agym ®ldléaniomy ag)@sl@d Fs agome :
() 3 (b) 5 © 8 d 11
Given F; =1, F,=3 and F,=F,_{+F, _, then Fsis:

@ 3 b) 5 © 8 d) 11

256 x8y4zlo

mMaIeMR AUANMLIETIN VAMIQ® :
25 x6y6z6 °9 C@ B

2_4

16 (x“z ¥ 16 | y 16 |xz
@ 5,2 b) 10157 © 5[z @ 5y
Th vof 202Vl
€ square root o T 6. 66 1s equal 1o :
25x7y z
16 [x%2* 16l 16 | y 16 |xz
@ 52 (b) 22 © 5|2 CN




80} oafle MAOIOHOTOM (ol 6o}
() emdee (b)
() alocenlog (d)
Graph of a linear equation is a

(a) Straight line (b)

(c) Parabola (d)

a™, a™ 1 am*+2 oM@l denslallSleaids
(a) am (b) am+1
The G.C.D. of am, am*1 gm+2 jg .

(a) am (b) am+ 1

AABC, DE || BC agm@l@ AB=3.6 cm, AC=24 cm, AD=2.1

ag)mmilemseam@onemssl@d, AE @ algo :

(@) 14 cm (b) 1.8 cm

4964
@06,
QIR (V]e

©6a0q]demiog

Circle

Hyperbola

cm

() 12cm (d) 1.05 cm

If in AABC, DE || BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then, the length of AE

1S

(@) 14 cm (b) 1.8 cm

() 12cm (d) 1.05 cm

B0} UODOTICRIHE) 630 nIdanien a3l aflimio ag)@® Mo ldmEO6IH:WD @oLONIO

OMOSIUABRD AUOWHNHIMD H¥lwio ?

(a) & (b) g

(c) ®PMOMo (d) iy

How many tangents can be drawn to the circle from an exterior point ?

two

(@) one (b)

zero

(c) infinite (d)
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10.

11.

(=5, 0), (0, =5), (5, 0) agml 31D dJaflls@lanimm (@leHoememlen

allieldemo :
(@) 0 _oloyo @i (b) 25 aloyo @My
() 5 aloyo @ilg (d) eaIRidd smMmgy

The area of a triangle formed by the points (—5, 0), (0, —5) and (5, 0) is :
(a) 0sq. units (b) 25 sq. units

(c) 5sq. units (d) none of these

(0, 0), (1, 0), (0, 1) agyml enflazyeeB OalldElHelM (@ leHmoem@TIOn cugaal :

@ 2 (b) 2 © 2+42 d 2-v2

The perimeter of a triangle formed by the points (0, 0), (1, 0) and (0, 1) is :

@ 2 (b) 2 © 2+42 d) 2-42

80} 8UWoalipEleon swrnlie @ralen lvelam mlanie @oilees @omialomo

V311 agmMoeemsl@d ruayed @ollid 60al ag)RIclaHtm® @Al :
(a) 45° (b) 30° © 90° d) 60°

If the ratio of the height of a tower and the length of its shadow is /3 :1 then, the

angle of elevation of the sun has measure :

(a) 45° (b) 30° © 90° d) 60°



12.

13.

14.

5 4964

5 eqv.al @oclie 13 om.al. §2IGlaR@O0Ie 088 B0 6607 MAHHILI0D
MO llHIes d@wo :

(a) 12 ev.dl (b) 10 ev.al. (c) 13 ev.dl (d) 5 eqv.adl

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will
be :

(@) 12 cm (b) 10 cm (c) 13 cm (d) 5cm

80} GedaLENIsET O HaoEmo Baldlmal allsldepo @ealan @O
QUBQETONR ag)@® aserB0Rldlenio ?

(@ (b) 4w () 3w (d) 2w
The total surface area of a hemisphere is how many times the square of its radius ?

(@ (b) 4w (c) 3w (d) 2w

B0} aljV®HOTI@ Mo (HA0aSI®MDIW] 80} Calsd HMOOEMMSIHHIM]. @D
calgdlom maudlom myaflafleniom @oseEwlon sQAUOIMETIER @oHHo 7-@3
OO @HHIMIER MVOUN® ag)@@O6N) ?

3 7
@ 19 ® 15 © 3 d 3

A page is selected at random from a book. The probability that the digit at units place
of the page number chosen is less than 7 is :

[ Turn over
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89Wo - I1/ PART - II

&0laj: ago®®lalo alOD CI0GIEIBRH HODOONYI® . G.210Gj0 MMId 28 o
mIdenIMWAIWIo HEMOHDPIBEMO. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. A={1, 3, 5}, B={2, 3} agmmilememwoenemsl@, n(A X B)=n(A)Xxn(B) agm’
OS] HE) 3>

If A={1, 3, 5} and B={2, 3} then show that n(A X B) =n(A) xn(B).

16. A={1,23,4, ..., 45} 80 R og)m® A @}OS Q@ ‘B0 Moal@ies Ald®o’ ag)omy
0121896 S1BlH0M B0) NIMWAIlo @DOM®IT, R agmmalom, AX A
af)M@IOM qveninmg @R ag)Li®id. R 60 6ISD@MI0 GO0 dhenzialSlaaid.

Let A={1, 2, 3, 4, ....., 45} and R be the relation defined as “is square of a number”
on A. Write R as a subset of A X A. Also, find the domain and range of R.

17. 3,6,9, 12, ..., 111. ey ag). afl. Oleal aleemales ag)gno &enziaflSlenid.
Find the number of terms in the A.P.

3,6,9 12, ..., 111.

18. 3+k, 18—k, 5k+1 oM@ 80} af). afl. @@ @eemssl@d k densiallSlaeid.

If 3+k, 18—k, 5k +1 are in A.P. then find k.

19. @OHODYH —9 ©o QAUBPDILITBSIOS WIEMManalo 20 EOWAIWIES &h]0ALOFld
MUDOUOBYO G)PI® .

Determine the quadratic equations, whose sum and product of roots are —9 and 20.



20.

21.

22.

23.

24.

25.

1522 +11x +2=0 )M Pl MaIodEREmlaY aldpoesmsales calletau®
Qf) P

Determine the nature of the roots for the quadratic equation 15x%+11x +2=0.

AABC ogmMail@d, D, E agmlal egym alteavsiesl enflazisegio AB, AC agmilal

DE || BC agmlemem®@imosm. A_g :% @jo AC=15 cm ®o @ReeMs:IG AE
BHeN3lal1Slae) .

In AABC, D and E are points on the sides AB and AC respectively such that DE || BC.

If ﬂ = g and AC=15 cm, find AE.
DB 4

(=3, —4), (7, 2), (12, 5) ag)l efla3yeeBD Maneralwmoeemnm @&l eeid:.

Show that the points (—3, —4), (7, 2) and (12, 5) are collinear.

8x—7y+6=0 )™M EMACOAIWIOS 2IBlalo ¥ DMAOMATRI0 HEMBOIBEIdb.

Calculate the slope and y intercept of the straight line 8x—7y +6=0.

CHO-BoAWIeMy @OHUOTWI@ 3x—2y—6=0 oM CORIWIMBOHHNIOM
EDMRBEMVTRIHID dh6N83alIS] 6.

Find the intercepts made by the line 3x —2y—6=0 on the coordinate axes.

10/3 m 9VOME B0 GNIalREEEI@ mMImMio 30 ol. B}0AWIT] GialwIdd
mudlaileolgum &) ilaziallo GUaEEBIEN @oNEINAIe ®aXlees @oUlld

80al af)BIGCUHNM dBenalallSee .

Find the angle of elevation of the top of a tower from a point on the ground, which is

30 m away from the foot of a tower of height 10/3 m -

4964
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26. 2 dl. 9O alod aflnieldepo 250 2l. dl. oo o8 aoy Milellenedlon aljoaimo
BHeN3laf1Slae) db.

Find the volume of a cylinder whose height is 2 m and base area is 250 m?.

27. 660 MOW®o B0} aldklsS OOISIH®I0 B0} MIEMWo ESOQY H21QIdb®io O21L®).
MM @M ean Afl9iniomio aldsls 60y BRWENHO BHOEMIBOINIOMIDIBE MVOUWM®
BEMBEOBE) Jbb.

A die is rolled and a coin is tossed simultaneously. Find the probability that the die
shows an odd number and the coin shows a head.

28. o6 m3QUyEm MMIalldh®Haes OWOEmd momlelgs @omiald®o 1 : 2 agMyo
@OIWIeS aloaallEdenemid madleyss @omialomo 3 : 4 ag)Mio @REEMESIE
@OOIIOS A0aT®ETBWD ®ONARSE @RMINIO®MO dHEENBEYTd:.

The heights of two right circular cones are in the ratio 1 : 2 and the perimeters of their
bases are in the ratio 3 : 4. Find the ratio of their volumes.

89Wo - I1I1 / PART - III

&0laj: ago®@mlaljo al®W C.0I0GIEIBHHN OODOODYI®Id. G.210Gj0 MMID 42 o
MRNUMLAIWIe HODOODPIBEMO. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29. A={fxe W | x<2},B={xe N | 1<x =<4}, C=({3, 5} agamilemBem @o6emss@d,
AX(BNC)=(AxB) N (AXC) ag)mM aldleuooulleeid:.

Let A={x e W | x <2}, B={x e N | 1 <x = 4} and C={3, 5}. Verify that
AX(BNC)=(AxB)n (AxCQC).



30.

31.

32.

33.

34.

35.

36.

80} of). all. oAl RSSO MM alBETBEIOS @DHODIH 27 o IeMMantlo
288 o @@em. 00 MMM alB6mBUd dhensiallSlaeid.

The sum of three consecutive terms that are in A.P. is 27 and their product is 288. Find
the three terms.

396, 504, 636 ag)MIIWIOS OEDD TVIWOOEM 1FEMdHo BHENBIalISIBE .

Find the HCF of 396, 504, 636.

@ldARLOdEMO O2IQd @ x+y+z=5; 2x—y+2z=9; x =2y +3z=16.

Solve : x+y+z=5; 2x—y+2z=9; x -2y +3z=16.

64x% —16x° +17x% = 2x +1 agym@ilo AIdmelo densia NISlHn)s.

Find the square root of 64x*—16x3+17x2—2x+1.

£6alEMEMNIOM MlALIMMO (AIBlaloGlee)ihQlo DSV BHIBDI0 6.2 1Q)id:.

State and prove Pythagoras Theorem.

80} (@EHIM@BIE MOUNETRUID TVAHILIAIBDT:WD @O0 HeMEHONE @6 EMATY
OO D H6))b>.

Show that in a triangle, the medians are concurrent.

wldaylmyend A6, 2), B(=5, —1), C(1, 9) agmMlemeom®o® AABC ag)om
(@leHoemEmean A Olaes HSMIGalddkhiM A0WINOTION VA o
dHensiaf1Slde) .

Find the equation of the median of AABC through A where the vertices are A(6, 2),
B(—5, —1) and C(1, 9).

4964
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37.

38.

39.

40.

10

P(—=1, —4), Q(b, ¢), R(5, —1) agyam] enfla3ise D eHoellmlwolio 2b+c=4 o
@6EME:IMY, b, ¢ ag)MIlaIWies mieljo dhensiaflSlde .

If the points P(—1, —4), Q(b, c) and R(5, —1) are collinear and if 2b +c=4, then find
the values of b and c.

6N} Halelidh?d B0} ©0LIQaOVMIOM ) @IMEEILINW] B0) MOYBETILRAS
qUERIBHOIM]. 80D dha el dllmmio ©6RIG a0VIVIOM BIHRBEINECOMHNINS
@@oUIld 60an ag)RIGNaHM LNdWhmo 30° 45° ag)mMiletBam@oe.eerlq aovmilend
O®@o 200 . @ROMHBIE DD dhalalidhtd @oleas @odkhelo &hensiallSldnid.

(V3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of
the top of the lighthouse as observed from the ships are 30° and 45° respectively. If the

lighthouse is 200 m high, find the distance between the two ships. (/3 =1.732)

45 oM. ol (lgmies B0} EUEMLOTIOM QUJETDOHIOMOW @R(NBINETBROS BROETBRD
@LOO(HMo 28 HV. Al. 7 eav.all. ag)ilemem@oeemasl@, @ alemL@Ee Aljdal®mo
BHeN3laf1Slae) .

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,
find the volume of the frustum.

mlellens® eoHhyalolegs 680y HElajogemlng o B0 @AELAIYED O]
80a{l2fldleenymmy. dellaljogesilo seo 25 av. dl. @M. EIEN Halomy Arvo
12 om.al. @emM&I@ Helaosemleon) eademo salcl®mal allmeldepo
dHensialISlae) .

A toy is in the shape of a cylinder surmounted by a hemisphere. The height of the toy
is 25 cm. Find the total surface area of the toy if its common diameter is 12 cm.



11 4964
41. 06 aldklsSHhid ©0333My. @I HOMlHNIM MVOEHBINS @D dh YD Jdb
®ICPQ|OIMAUDIHIMBR NOUNMHWD HONBODY. (i) 4 0 qvao (ii) 10 BB
en® (i) 13 em #6000 6210w
Two dice are rolled. Find the probability that the sum of outcome is (i) equal to 4
(ii) greater than 10 (iii) less than 13.
42. (1+m?)x?+2mex+c?—a?=0 af)MM MVAQUOSYOTINT MVANOW MIEITBRD ©e6nas:ad,
c2=a%(1+m?) o)’ om&IDe6))d.
If the equation (1+m?)x?+2mcx+c?2—a2=0 has equal roots, then prove that
2= az(l + mz).
@%0o - IV /PART - IV
®0laj:  ©®69 BSOSO G2 I0GIEIBRHE) HOTHOEDPI®)cbb. 2x8=16
Note : Answer the following questions.
43. (a) al0Bo PQ=45 emv.al, £ZR=35 @ oltmio R Gal#s8s mOWio 6 &v.al. §o

@O RG mid0mH6))ds.
@ 6L 81 @D

QUYODEH(MBETI@ mlamgo 8 em.al. 33eewas P agmm emilasiaflad allmyo
6 60V.4). APAIVOIRE B0} QYENO QOB . AUYODOETIERISNE: PA, PB ag)am
6NE" MVoAlOMEOEUMBHID UOWHIHWI0 @OAUIWIOS MIB0 BhEENBEYM Jdh Q0
6.21QY .

Construct a APQR whose base PQ=4.5 cm, ZR=35° and the median from R to
RG is 6 cm.

OR

Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its
centre. Draw two tangents PA and PB to the circle and measure their lengths.

[ Turn over
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44. (a)

12
2+x-12=0 af)M@NOM (ol UL EH:. @OAIWIOS al@la0o0OHled
QNeUaU®BHRD (ol @SlaloE]B6) k.
@R ;1M

y=x2+3x—4 oM ([D0al QUOWEOI. x2+3x—4=0 ag)M@ rldRLOVEMO
£-21QAIOMOWS @R® HaIGWOUSBE)d:.

Draw the graph of x>+x—12=0 and state the nature of their solution.
OR

Draw the graph of y=x?+3x—4 and hence use it to solve x2+3x—4=0.

-00o0-
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o <
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Note : (i) Answer all the questions.
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1.

2.0T0 Fe¥ n(AxB)=6 D A={1, 3}, T3 n(B) oI :
(@ 1 by 2 (c) 3 (d) 6
If n(AXB)=6 and A={1, 3} then n(B) is :

@ 1 (b) 2 (© 3 (d) 6

17290 CIVARIER VTR AFTRTY CIVARIER OSNY TOSVOING mgwd :
(@ 1 (b) 2 (© 3 (d) 4
The sum of the exponents of the prime factors in the prime factorization of 1729 is :

@ 1 (b) 2 (© 3 (d) 4

doumy Fi=1,F,=3 ®& F,=F,_;+F,_,s53 F; @
@ 3 ®) 5 © 8 d) 11

Given F; =1, F,=3 and F,=F,_{+F,_» then F5 is :

(@ 3 b 5 (© 8 @ 11
DPIIE 3 Snr seon) and 3N
25xyz 3
16 |x%2* 16l 16 | y 16 |xz*
@ 5 2 (b) 24 © 52 d 5 o
Th tof DOXVED o al
€ square root o T 6. 66 1s equal 1o :
25xyz
16 |x%2* 16l 16 | y 16 |xz?
@ 5,2 (b) 24 © 52 d 5
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2,000 BeDeod (DAEONT®) BAEBTLOT MOFTER) 20T

(a) Sed Besd (b) &g

(c) TTZOLOD (d) ©8TTZOOD
Graph of a linear equation is a

(a) Straight line (b) Circle

(c) Parabola (d) Hyperbola

al am+1 am+25 G CD. OSDR’DJ\ BOLLRBCND :
(a) a™ (b) am*l () am*2 (d) 1
The G.C.D. of am, am*1 qm+2 jg .

(@) am (b) am+l () am+2 d 1

WO =¥ AABC OSJQQ, DE||BC, AB=3.6 F0.e0e., AC=24 0o..0e. msz AD=21
%0.c0e. 8BS, AE 0 2B ) -

(a) 1.4 Bo.Q0e. (b) 1.8 Bo.qwe. (c) 1.2 Bo.owe. (d) 1.05 Bo.we.

If in AABC, DE || BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then, the length of AE
is:

(@) 14 cm (b) 1.8 cm (c) 1.2cm (d) 1.05 cm

maé WOTNRNIOT 5@@ @m& gz:smﬂm& RBORNWIVI ?

(a) 2.0 (b) AT (c) ©To3 (d) 33

How many tangents can be drawn to the circle from an exterior point ?

(a) one (b) two (c) infinite (d) zero

[ Turn over
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9. (—5,0), (0, —5) ¥R (5,0) RVODNRYOT TRTNROT FPRT DR
(a) 0. o (b) 252 O30
(c) 5. o3 (d) @) PP @Y
The area of a triangle formed by the points (-5, 0), (0, —5) and (5, 0) is :
(a) 0sq. units (b) 25 sq. units

(c) 5 sq. units (d) none of these

10. (0,0),(1,0) &3, (0,1) WOWPRALOT TRTDILOT ST TOLOIN :

@ 2 (b) 2 © 2+42 d 2-42

The perimeter of a triangle formed by the points (0, 0), (1, 0) and (0, 1) is :

@ 2 (b) 2 © 2+42 d 2-42

11. 20T Re$ NPCTTT RTTT B, BT 3093 emzﬁ@cs VT3 f3:1 SBT3,
RRODFS DTTT 3ReTR) 33 WYY, BROVT :

(@) 45° b) 30° (€ 90° d) 60°

If the ratio of the height of a tower and the length of its shadow is /3 :1 then, the

angle of elevation of the sun has measure :

(@) 45° b) 30° (€ 90° d) 60°



12.

13.

14.

5 4965

2,000 WO JBeod JONIT DT, CSPRTT &%, 5 %o.q0e. B L.003RT 2T
13 Bo.e0e. T3odne, & :

(a) 12 Bo.qwe. (b) 10 Bo.awe. (c) 13 Bo.qwe. (d) 5%o.qwe.

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will
be :

(@) 12 cm (b) 10 cm (c) 13 cm (d) 5cm

WOTN NPTV T 2uE3) &eeﬂw DAEFF) BTT \_%)asscs [RENY DT, Ted, ?
(@ (b) 4w (c) 3w (d) 2w
The total surface area of a hemisphere is how many times the square of its radius ?

(@ (b) 4 (c) 3w (d) 2

20T m#ﬁ@od 20T m@ﬁoﬁam‘% oﬁmzﬁ@z%w%mﬁ BSOBOCN. SOAIT T :30938033
FUING FITQY @030 7808 3R WOLTOHT FOZRBICCHIORY :

3 7
@ 19 ® 15 © 3 d 3

A page is selected at random from a book. The probability that the digit at units place
of the page number chosen is less than 7 is :

[ Turn over



4965 6

on - I/ PART - 11

Aeus 1 ImRmESR 10 TIRIR, G030, B, K05, 28 SEOHTONT. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. 2.0m &e¢ A={1, 3,5} DR B={2,3} sT3 n(AxB)=n(A)Xn(B) 20 pcdA.

If A={1, 3, 5} and B={2, 3} then show that n(A X B) =n(A) xn(B).

16. A={1,2,3,4,..., 45} 8N &) A o e R 8 BowoRxy) “omd ‘50935033 mne”
— O mémém}mﬁd. Ra’p‘)l AXAT QVTNRD DO WTOND. Tonode, R 3 O
(cé@daéas) msg ‘5)@96053:% FOTBHRCND.

Let A={1, 2, 3, 4, ....., 45} and R be the relation defined as “is square of a number” on
A. Write R as a subset of AX A. Also, find the domain and range of R.

17. AP. o0Q ©03n¥ 5093503353% BOTLLROND.
3,6,9, 12, ..., 111.
Find the number of terms in the A.P.

3,6,9 12, ..., 111.

18. 2.0 Ped 3+k, 18—k, 5k+1 Aisd AP. oD Cacéd, 1<of>a<f>aol FOTIHBOND.

If 3+k, 18—k, 5k+1 are in A.P. then find k.



19.

20.

21.

22.

23.

7 4965

3Bo00F e BENCBTLONTRD, HEOND, CIPHTT BRT A INFAY YOIIoR —9 I
20 A3,

Determine the quadratic equations, whose sum and product of roots are —9 and 20.

1502+ 11x +2=0 2330F BNeFTRE, [NENAY ZORTI), THFCWO.

Determine the nature of the roots for the quadratic equation 15x>+ 11x +2=0.

AABC o»Q, D &2 E 20m07ed AB @02 AC 0 20NnYY ©m0gmdemeN Ienoss

AD _ 2 o3y AC=15 Fo.we., €T3 AE chah, 30mGAR0.

DE||BC. 2.0t R8¢ — = —
DB 4

In AABC, D and E are points on the sides AB and AC respectively such that DE || BC.

If ﬂ = E and AC=15 cm, find AE.
DB 4

(=3, —4),(7,2) 303 (12,5) RoDNRH TTTeD (3RDVONT?) 20T 20edA.

Show that the points (=3, —4), (7, 2) and (12, 5) are collinear.

8x—7y+6=0 e3 TeB0D YD BB ¥ IeFF (QORTAT) =, FOEOROWO.

Calculate the slope and y intercept of the straight line 8x —7y+6=0.

[ Turn over
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24.

25.

26.

27.

28.

BRERF I wINY e 3x—2y—6=0 TeBoWOT TRRT FeFTRTI, FOBLRBOWO.

Find the intercepts made by the line 3x —2y—6=0 on the coordinate axes.

FOT 2 20T VOIVOT TWRCTNTT ;’Saeer%ﬁd cbgdcj %@eswmol FOWRROWD,
O33R 30 e, HITT RPCTNTT TOTOOT 104/3 W€, TRTTYT.

Find the angle of elevation of the top of a tower from a point on the ground, which is

30 m away from the foot of a tower of height 10/3 m -

200 AIOBOT FIMOZB/I), FOWHLREND CIPPYTT DT 2m DB 3¢ DALEF )
250 m? &N33.

Find the volume of a cylinder whose height is 2 m and base area is 250 m?.

2,000 TRYRIZY, W 20T B, NIPOTY HHODGVONB. TRy B3I [0S,
3ROMT/ DT SRk BT SRCORT FOLWBALONZONT), FOBLRBOWD.

A die is rolled and a coin is tossed simultaneously. Find the probability that the die
shows an odd number and the coin shows a head.

RTVD WO FTOTOT JORNY DTTY 1: 2 9NTITIT 0B, @IYNY YT JOLNRAW
3:4 ODTVITYN. WPNY PI ©FZ0H UDTOTBI), TORLROWO.

The heights of two right circular cones are in the ratio 1 : 2 and the perimeters of their
bases are in the ratio 3 : 4. Find the ratio of their volumes.



9 4965

gon - III / PART - 111

RS 1 oIRPYmemte 10 TIINRTRY, W0Z0A. T, K0, 42 TEYORTNG. 10x5=50
Note : Answer any 10 questions. Question No. 42 is compulsory.

29. A=fxe W | x <2}, B={xe N | 1<2x=4}=x08>) C={3, 5 srvd.
AXBNC)=(AXB)Nn(AXC) 20T TOdeAA.

Let A={x e W | x <2}, B={x e N | 1 <x =< 4} and C={3, 5}. Verify that
AXBnNC)=(AxB)n(AxCQC).

30. A.P oDYTT IR FRIPXNEG WOINY [BTH) 27 0B, @RNT MOFo0F:R) 288. 00T
©0T (©08) NFTY, FOWERAWD.

The sum of three consecutive terms that are in A.P. is 27 and their product is 288. Find
the three terms.

31. 396,504,636 3 HCF (0.3.%.) 53301 O &LRCNO.

Find the HCF of 396, 504, 636.

32. JWO®OA :x+y+z=5 2x—y+z=9; x—2y+3z=16.

Solve : x+y+z=5; 2x—y+2z=9; x—2y +3z=16.

33. 64x4—16x3+17x2-2x+13 InF DROTR, FOWELRCWD.

Find the square root of 64x*—16x3+17x2—2x+1.

[ Turn over
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34.

35.

36.

37.

38.

10

B, PORRTE" TRDEONTJIY, S DB TORA.

0

State and prove Pythagoras Theorem.

2,000 SRRTY DFINW (WREODT”) DTFIEIT (BS°ITOL®) Q0T BLCOA.

Show that in a triangle, the medians are concurrent.

A(6,2), B(—5, —1) &3 C(1,9) 3onnedds A oD HROT Toodnm AABC o
&a@oﬁaas/mqﬁsmcs xmesdwd@% BOTRLBOND.

Find the equation of the median of AABC through A where the vertices are A(6, 2),
B(—-5, —1) and C(1, 9).

20T Be¢ oW P(—1, —4), Q(b, ) I R(5, —1) ZXTeD (3RDIONT') nALd
DB 20w Be¢ 2b+c=4, STT bPBD ¢ O d@@a@mcl FOTILROWO.

If the points P(—1, —4), Q(b, c) and R(5, —1) are collinear and if 2b +c=4, then find
the values of b and c.

RO TRONWD SEFTPFT FTBR FENTY FBNTIY Zeeddsd. TBNAOT NIATOZ
ErDVRS DOOD 2HITT e 30° DT 45° OWTTWON. oW Be¥ TEFTOF

200 Q€. DITTRET, HTE TEOMG IBRT TRTBY, FoBHEWO. (V3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of
the top of the lighthouse as observed from the ships are 30° and 45° respectively. If the

lighthouse is 200 m high, find the distance between the two ships. (/3 = 1.732)



39.

40.

41.

42.

11

2,000 Be¢ 45F0.c0¢. DFTNTWT 2,000 HIBFB BTYTOT DDOOD SWAD 28 F0.<0e.
B 7 F0.c0e. NPT PIFT FRMOTWI, FOBLBOWO.

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,
find the volume of the frustum.

WO JDOBOT Woeed rirae%quasm% B3ROTTONTR BTTTY 20T 230303, WBoedod
PTTY 25 F0.QWe. WO HeY ¥TT mmsé ma@’@ 12 B0.qwe. DA, 8300230
SOl dze@w DALEOF T, FOWIROWO.

A toy is in the shape of a cylinder surmounted by a hemisphere. The height of the toy
is 25 cm. Find the total surface area of the toy if its common diameter is 12 cm.

2T TOENIRD, DFOHTUB. B FOTOTT BRTH) (i) 4 § A (i) 10808 B3y, (i)
13808 3RF ATY, VBT FOLWBACODIODTY, FOWELRBOND.

Two dice are rolled. Find the probability that the sum of outcome is (i) equal to 4
(ii) greater than 10 (iii) less than 13.

2,00 Fe¢ Beweadee (1+m?)a?+2mex +c?—a? =07 FDTB SIRFNETT ?=a(1+m?)
QNOTN TORA.

If the equation (1+m?)x?+2mcx +c2—a2=0 has equal roots, then prove that
2= a2(1 + mz).

4965
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DRV

Note :

43. (a)

44. (a)

12

@en - IV / PART - IV

$9NT TBRYR, GVIOR. 2x8=16

Answer the following questions.

APQR B, dWFAY OIRPYTIT 3¢ PQ=4.5 Fo.0e., LR=35 =3I R 03
RGR SNRODT /BFFTY) 6 B0.50¢. SNT.

[Slofvo

3e0TH0T 8 F0.A0¢. BRTNTVE P DOWII0T 6 F0.40¢. AT B FBI), 88,
BB HTW ITFT PA DI PBATI, 88 DB, PN e0Z B, 998 SRA.

Construct a APQR whose base PQ=4.5 cm, ZR=35° and the median from R to
RG is 6 cm.

OR

Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its
centre. Draw two tangents PA and PB to the circle and measure their lengths.

PHx-12=0 I TR, B8 DI, WYNY TOTOT FTRATHD, E9A.
[Slotvo

y=224+3x—4 I F D

), B WP, Tortode wTIEY, ¥2+3xr—4=0 WRBOID
UTA3RENA.

Draw the graph of x>+x—12=0 and state the nature of their solution.
OR

Draw the graph of y=x2+3x—4 and hence use it to solve x?+3x—4=0.

-00o0-
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‘< n(B) < A={1,3} #n(AxB)=6 Ji
6 (d) 3 (9 2 (b) 1 ()

If n(AXB)=6 and A={1, 3} then n(B) is :
@ 1 (b) 2 (© 3 (d) 6

 Sn B S AL 7 AU S P12 1729
4 () 3 () 2 (b) 1 ()

The sum of the exponents of the prime factors in the prime factorization of 1729 is :

(@ 1 (b) 2 (© 3 (d) 4

e Fs - F,=F,_1+F,_, s F;=1,F,=3
11 (d) 8 (o) 5 (b) 3 (a)

Given F; =1, F,=3 and F,=F,_1+F,_, then Fgis:

@ 3 b 5 © 8 d) 11
256 x8y4zlo
-%d}\/& &/)U,\gg 5 x6y6z6
16 |z 16|y y? 16 [x*2*
5y @ 5 2| © 1623 o 5,2 @
Th fof DOV ED Ll
€ square root o 6 6.6 1s equal 1o :
25xyz
16 |x2z* y? 16|y 16 |xz
@ 5,2 ®) oz © 32 @ 5[y




4% (d) A7

Graph of a linear equation is a

(a) Straight line (b) Circle

am+2

1 (d)

The G.C.D. of am, am*1 agm+2 jg .

(a) am (b) am+ 1

3 4967

—e by oy (:}Jobbfu}'} 5
Blg ()

(c) Parabola (d) Hyperbola

_;/(pb"‘ G.CD. K am agm+1 gm+2 g

©) am*l (b) am - (a)

. <3 AE » AD=2.1cm 4 DE||BC, AB=3.6cm, AC=24cm (% AABC.JI 7

1.05cm (d) 1.2cm

() 1.8cm (b) l4cm (a)

If in AABC, DE || BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then, the length of AE

1S

(@) 14 cm (b)

A (d) Gl

1.8 cm

() 12cm (d) 1.05 cm
¢ Qril?;iﬂjvz"f/?;/’ucﬁ&%ug 8
(©) 2 (o) £ @

How many tangents can be drawn to the circle from an exterior point ?

two

(@) one (b)

[ 31 (£ / Turn over
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:‘L;/Kw_g!/;; (5,0) s (—5,0),(0, —=5) b& .9
S @) wEEIGrs @ W25 () UEEIG 0 ()

The area of a triangle formed by the points (—5, 0), (0, —5) and (5, 0) is :

(a) 0sq. units (b) 25 sq. units (c) 5 sq. units (d) none of these

L e bl (I (0,1) 41 (0,0),(1,0) & .10
2-42  (d) 2+2 (9 2 (b) V2 ()

The perimeter of a triangle formed by the points (0, 0), (1, 0) and (0, 1) is :

@ 2 (b) 2 © 2+42 d 2-42

Gt e e ¥ V31 UG by LSk Sl 11
60°  (d) 90° (0 30°  (b) 15 (a)

If the ratio of the height of a tower and the length of its shadow is /3 :1 then, the

angle of elevation of the sun has measure :

(a) 45° (b) 30° © 90° d) 60°



- 13 cm Jl{ﬂu{}/ﬂ 5 cmjsﬂg‘ﬁ:d@y/&{ﬂdﬁ;}}/uﬁ@uﬁ
5cm  (d) 13ecm () 10cm (b) 12cm  (a)

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will
be :

(@) 12 cm (b) 10 cm () 13 cm (d 5cm

¢ {nwggd/éﬁﬂigju/f’fgg/ﬂug
27 (d) 37 (0 4 (b) T (a)

The total surface area of a hemisphere is how many times the square of its radius ?

(@ (b) 4w (c) 3w (d) 2w

sife 7 368Gy A F S e b S e ]

7 3 7 3
9 @ 9 © o ® o @

A page is selected at random from a book. The probability that the digit at units place
of the page number chosen is less than 7 is :

[ 31 (£ / Turn over
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PART - 11/ l-&4

10x2=20 e G128 A g S ey 10dS o wd

Note : Answer any 10 questions. Question No. 28 is compulsory.

:n(AxB)=n(A)xn(B) Si> B={2,3} » A={1,3,5} 1 15

If A={1, 3, 5} and B={2, 3} then show that n(A X B)=n(A) xn(B).

_é(kfu’%nﬁwKR ﬁ_é4/;b£&5v/£ AxA {R

Let A={1, 2, 3, 4, ....., 45} and R be the relation defined as “is square of a number” on
A. Write R as a subset of AX A. Also, find the domain and range of R.

: ,/?MMJ:,L,ZU: AP. 17
3,6,9,12, ..., 111.

Find the number of terms in the A.P.

3,6,9 12, ..., 111.

JEE e K Jun 341,18 —k, 5k +10f AP. S 18

If 3+k, 18—k, 5k+1 are in A.P. then find k.
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- 20 0 =9 V/J'i busl o Kuylgé f}/’/u.‘.; K lolrBres 19

Determine the quadratic equations, whose sum and product of roots are —9 and 20.

LG T et Uie L 1522 4 110 +2=0 = hble@i 20

Determine the nature of the roots for the quadratic equation 15x2+11x +2=0.

AD 3 . “ .
AC=15cm s DB = 1 I.DE || BC fuZC/J’LLEJ ExD uj’/L{ ACIAB 2¥“AABC 21
_://r}""AE y

In AABC, D and E are points on the sides AB and AC respectively such that DE || BC.

If Q = E and AC=15 cm, find AE.
DB 4

~JBA (12,5) » (=3, —4),(7,2) bES36 22

Show that the points (=3, —4), (7, 2) and (12, 5) are collinear.

SEE sy By 8x—Ty+6=0 £l 23

Calculate the slope and y intercept of the straight line 8x—7y +6=0.

[ 31 (£ / Turn over
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S b e 3x—2y—6=0k5UnH ¥

Find the intercepts made by the line 3x —2y—6=0 on the coordinate axes.

~<s5 30 m L(ﬁézt{:ﬁ(é()’”)’/.:,lﬂl{;/d/?ﬂ[f/tﬁvgﬂ 10J3 m = B

Find the angle of elevation of the top of a tower from a point on the ground, which is

30 m away from the foot of a tower of height 10./3 m -

250 m2 360 B L 2 m SIS e 15

Find the volume of a cylinder whose height is 2 m and base area is 250 m?.

Ly Lostrsie Doy I\ S Y b UG LA (Lslsle bl AT Ll

A die is rolled and a coin is tossed simultaneously. Find the probability that the die
shows an odd number and the coin shows a head.

LfLULLL 3:4,—/5(U}ﬁ5’£u?lal£ubﬂ+qk7g 1:2 uy/)éu;fbj:'u@:}/u%)
LBy

The heights of two right circular cones are in the ratio 1 : 2 and the perimeters of their
bases are in the ratio 3 : 4. Find the ratio of their volumes.

24

25

.26

27

28
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PART - 111/ III-2J4

10x5=50 a2 Ay Efeur10 & 2

Note : Answer any 10 questions. Question No. 42 is compulsory.

-C={3,5} sl A={xeW | x<2},B={xeN | 1<x <4} 2JJ/} 29
AX(BANC)=(AXB) N (AXC) sz

Let A={x e W | x <2}, B={x e N | 1 <x =< 4} and C={3, 5}. Verify that
AXBnNC)=(AxB)n(AxCQC).

_E e e 288 AN sl 27 AKUA PG AP 30

The sum of three consecutive terms that are in A.P. is 27 and their product is 288. Find
the three terms.

P (HCP) S22 ¢ 396,504,636 31

Find the HCF of 396, 504, 636.

xty+z=52x—y+z=9; x—2y+3z=16 DS 32

Solve : x+y+2z=5 2x—y+z=9; x—2y +3z=16.

64x4 —1623+17x2—2x+1 : ZE 0 Ly 33
Find the square root of 64x*—16x3+17x%>—2x+1.

[ 31 (£ / Turn over
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-écf,méug.aiﬁéx»

State and prove Pythagoras Theorem.

_@Lnf//?),#ug;wub’, DA NG

Show that in a triangle, the medians are concurrent.

U C(1,9) 1 A(6,2), B(—5, —1) U lilzs /e ilaz 5L AL AABC

Find the equation of the median of AABC through A where the vertices are A(6, 2),
B(—-5, —1) and C(1, 9).

_EE e ¢ sl b B bt e=4 St BAREG, —1) 4 P(~1, —4), Q(b, ¢) b&]

If the points P(—1, —4), Q(b, c) and R(5, —1) are collinear and if 2b +c=4, then find
the values of b and c.

A Sl Usitg S S L Ui A e il L L AU St
(V3 = 1.732) oo b nd Uiz el sk 200m Jibest o 45° 1130°

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of
the top of the lighthouse as observed from the ships are 30° and 45° respectively. If the

lighthouse is 200 m high, find the distance between the two ships. (V3 =1.732)

34

35

.36

37

38
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_’ngj“” (g KssE490s 7 cm 91 28 cm /ﬁﬂéw//u;}ﬁ” é.}i 45cm L by ﬁ.‘g/ﬁ 39

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,
find the volume of the frustum.

Fr 12em B e 25 em Qg SL M e S a6 JIF L0 a0

A toy is in the shape of a cylinder surmounted by a hemisphere. The height of the toy
is 25 cm. Find the total surface area of the toy if its common diameter is 12 cm.

e 13 (iii) < lze 10 (i) Gl 4 () FE LIS ZE Uk b a1
4

Two dice are rolled. Find the probability that the sum of outcome is (i) equal to 4
(ii) greater than 10 (iii) less than 13.

c2=a2(1+m?) S AU obrsie (14 m2)x2+ 2mex + 2 —a2=0 ehle Sl 42

If the equation (1+m?2)x?+2mcx +c2—a2=0 has equal roots, then prove that
2= a2(1 + mz).

[ 31 (£ / Turn over
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PART-IV/IV-2.

2x8=16 : 28 S U f 3T

Note : Answer the following questions.

-« 6cm B RG < R 1 PQ=4.5cm, /R =35 o463 APQR {1  (a)
i
PB sl PA UWispoiiocoim 8em = Ll 12« 6om = P BBEAE5 0L (b)
‘gtuguJuu,uf;f

(a) Construct a APQR whose base PQ=4.5 cm, ZR=35° and the median from
R to RGis 6 cm.

OR

(b) Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its
centre. Draw two tangents PA and PB to the circle and measure their
lengths.

-é@g%fjJJLJU}'é/Wdﬂ/ﬁ_p{ R+x—12=0 (a)
b
L L S 2+ 3x— 4 =0 ISLSLE y=x2+3x—4  (b)
(a) Draw the graph of x24+x—12=0 and state the nature of their solution.

OR

(b) Draw the graph of y=x?>+3x—4 and hence use it to solve x> +3x—4=0.

-00o0-
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@l : Qeualearmsgrer mrenE LGHsamers CasTeimg.

Note : This question paper contains four parts.

U@ - 1/ PART -1

@y : () ewersg elamssErsEh allenlwafldsa]. 12x1=12
(i) GasrhssuulL mrem@ el safled Wsa|b gnuemLw ablenL_ulener
CampOsBss @GN HLer ebleLulenaryd Carggl er(pseLb.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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Tr&ClsL 6reygedled eldl /s LweTU(HSSLILIHSH DS
(=1) Bl Lafler epeamprd adld)

(<) Bl Lefler Qumrg rlinduwe alg

(@) CrrGari(® 2 hs wrmrs Casmum(

() (1) wip> (@)

To project the rockets which of the following principle(s) is/are required ?
(@) Newton's third law of motion

(b) Newton’s law of gravitation

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

WlengenL_udler SI e &

(<21) Gom (<) g e (&) g (/) eum

SI unit of resistance is

(a) Mho (b) Joule (c) Ohm (d) Watt
60 SMOSHET Heng Coussdler (NTP) LiFaLd.

(<) 340 x 108 15/ &9 (<=y,) 340 S/e9

(@) 3x108 15/a9 (FF) 3x1078 15/eM

Sound waves travel in air with a speed of about at NTP.

(a) 340x108 m/s (b) 340 m/s

(c) 3x108 m/s (d) 3x1078m/s
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sHflwsssSler @
(<=1) grawT_gmen (<=1,) Sl
(@) QusGaTre (F) Qeneu DjananggDd
Unit of radioactivity is

(@) Roentgen (b) Curie

(c) Becquerel (d) All of the above

Lregm @&srser el uwearu®b 2 Corssd S
(1) YSgener (<) QeuairaaLd
(@) Gseredlwid (F) 1quyrredler
Alloy used in the manufacturing of pressure cooker is

(a) Brass (b) Bronze

(c) Magnalium (d) Duralumin

@@ &Ml Camngsler IUPAC Cuwir Cwgdled 19wyl L am-1-2,60. @\g| 6ThHS cUnSHE

Gamob?
(1) = vigamam (b (=}) srruTsSells ojLblevd

The ITUPAC name of an organic compound is 3-methyl butan-1-ol. What type of

compound it is ?
(a) Aldehyde (b) Carboxylic Acid

(c) Ketone (d) Alcohol

[ Hpliys / Turn over
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4
Q55 UMSHMET SHeTL_MbHeuT
(=) eNwereri (<=1,) smyed Cevetrl_evie crir
(@) efleedlwid emmrred (FF) el
The concept of blood group is derived by
(a) Wiener (b) Karl Landsteiner
(c) William Harvey (d) His

feanGaLoluder elleneTeaumed o (Heurag|

(=) @evGumrser (=,) Csmefliguwm

(@) ewsCGarl (smupLlenL ) (/F)  SHermACLmevCumTagerT
Syngamy results in the formation of

(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

pg o (heursssHnE 2ol Lweflg@gn uilu fLfuemLps Qaoser
(=) paeblene allbg euerm 2 udlyemi

(<) QarGLmedl Gladvaser

(@) &0y QFeser

(/F) avQurwl CLrGsreflwm

The large elongated cells that provide nutrition to developing sperms are

a) Primary germ cells
) Sertoli cells

(

(b
(c) Leydig cells
(

d) Spermatogonia



10.

11.

12.

5 4969
wemamns 2 ulfludler @QmBbgisTen 2 udr Garemmliig) eremieng blenGsseurr.
(1) emuilev LimevLIT (<=y,) geumleo

(8) apreGLe (FF) M

Life originates from pre-existing life was showed by :

(@) Louis Pasteur (b) Oparin

(c) Haldane (d) Lamarck

LT CSHMned eremig) @er Crrl erlmiLg Smer QUDD FHD Y @LD.
(<1) @by (<) Gped

(@) slen_Liuulm (FF) w&sTEGFTETLD

Pusa Komal is a disease resistant variety of

(@) Sugar cane (b) Rice
(c) Cow pea (d) Maize
shdoronsder epod 2 HusH Cleuwe erarm GlBed F&HD

2 QUTGEMENLD GUMLBS eaTentld CFHSS euem(HLD.

(=) srudl Qevrermym (=) S LmAlLmr 2
(@) e sara () aflbdi
is a rice variety produced by mutation breeding that grows well in saline
soil.
(a) Sharbati Sonora (b) Atomita 2
(c) Pusa Gaurav (d) Himgiri

[ Hpliys / Turn over
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L@&3 - II/PART - II

GOl : eTemeuCuend e elarssErsE e wallssa|h. eflarm orer.

22 -§@ SLLMuns eflenwefl&sa] . 7x2=14

Note : Answer any seven questions. Question No. 22 is compulsory.

13. @6l omeger srHMler LIFe|bCLUTE DiHem FISaTHeT
(=) Sameuder Hengudeb =iSramid
(=) flraymid, e GO L des @eeame
(@) eweuier Hangsa@ CFmi@Gssrs dramid
() <Hmeymieugdlerane
When a sound wave travels through air, the air particles :
(a) vibrate along the direction of the wave motion.
(b) vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.

(d) do not vibrate.

14. (=) Qeafluyenti gadludler ySlrCleusr ereomen?
(=) erdlCrTellsE@E Coemeumar GanhsUL &5 CsTanee| 6Terer?
(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?

15. eTEHFSTEllE LILIGNEHET @TeTiq.enail 6T (LpGIs.

Write any 2 uses of Ethanol.



16.

17.

18.

19.

20.

21.

22.

7 4969

GFOUTE TG GTEITMTE) 6T 6060 ?

What is respiratory quotient ?

weflg ellbg CFedler LILLD auabg LMSBISMET &hl&sHe| 0.

Draw and label the parts of a sperm.

LIflemTTOW eTETmTed 6T eTen?

What is called evolution ?

o2 L& Qg Ber fldlFans wHmDd @ar Qe e HHsmasdlen_Cui 2 drer

Caumum g enesT 6T (Lpg)I5.

Distinguish between somatic gene therapy and germ line gene therapy.

Hhm Clge, srgmrent Gaedledmbg ereuaimm CeumuBhidEmg?

How is Cancer Cell different from Normal Cell ?

Oleeramis SLley&eT ereueumm 2 HuSSHuirdlermer?

How are e-wastes generated ?

<aCasCrr elldlenwis samis.

State Avogadro’s Law.

[ Hpliys / Turn over
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L@3 - III/PART - III

GO : eTemeuCuend e elarssErsE e wallssea b, eflarm orer.
. . . . 7x4=28
32 -5@ sLLmuwns alenL wefldsea .

Note : Answer any seven questions. Question No. 32 is compulsory.

23. (&) Wemeu(md WednmisEnd@ @GN Igmer eT(pgis.
(i) sy QevewriiL (i) WersenLwimss
(iii) eefllenr evLCuwim( (iv) enLGwm
(<=4) 12 sagd WerGermiliib 5 ellpmg Cord e Wleredlarsdlen aulplwims
umLdlmg) erefled, e UG GlFergyd WlenGam L SSlem iemey eTemen?
(@) Write the symbol for the following component.
() Ground connection (i) Resistor
(i) Light emitting diode (iv) A diode

(b) A charge of 12 Coulomb flows through a bulb in 5 seconds. What is the current
through the bulb ?

24. (3) AL (H GTET - QUENTILIMISHSE|LD.
(<=1,) CO, -eflen epavdann Hlanpmenw senrdsdHs.
(a) Define Atomicity.

(b) Calculate the molecular mass of CO,.

25. (&) &I ereueumm THUGSHDE? SI(H 2 (HUTGEUSET FOGTLTL ML S(Hs.
(<) @flbrasans sH&GD Wernser erenelCwead @ reamiqemertl LM
GT(LDGIG.
(a) How is rust formed ? Give the equation for formation of rust.

(b) State 2 methods of preventing corrosion.



26.

27.

28.

29.

30.

31.

32.

9 4969

(=) eallECarsans eranmmed eranan? @g Claedldr eTmiE BeanL ClLmIEmg)?
(=) sTHM FEUTFD WHMLD STHMHleer &eursbd - Coumu(HSSIs.

(a) What is photosynthesis and where does it occur in a cell ?

(b)

b) Differentiate Aerobic and Anaerobic respiration.
aury leneudled 2 erer grauy anmrGomen 6Tgl? SiHer almpailiied allenere,dser

gCaeaibd epaThlenat 6T (Lpgis.
Name the gaseous plant hormone. Mention any three of its physiological effects in

plants.

(=) warHE CaTEMSE TERTMTE 6TETET?
(=) warBEe Carsamaudlen LILETHEENET Fnnis.

a

b

(@) What is pollination ?
(b) State the importance of pollination.
&CrmGrGarien enwlienL efleuflEgHe .

Explain the structure of chromosome.

MmSFleusgiannuie 2 uldli Qgmleom Letlwdler paEEusgeisams 6T (Lpgis.

Discuss the importance of biotechnology in the field of medicine.

wenipBi Callliy emwliyser ereueurny Hleossy Brvl L soms fsfsss
QS ermen?

How do rainwater harvesting structures recharge ground water ?

U8 eramp gaflbb <our Aagelhe oL uGSpg ecrafler, Cal gaflsHe
2 ater Hlull rrenseflen cravranilsamaanwis sarsdl(Hs.

9pU?38 experiences a-decay. Find the number of neutrons in the daughter element.

[ Hpliys / Turn over
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u@d - IV/PART - IV
GO : Siemesisg lamésErs@h elle weallsa)b. Coemeuwmes @)L nigafld
UL LD GUEHTS. 3x7=21

Note : Answer all the questions. Draw diagrams wherever necessary.

33. (&) Bl Leaflar QusssSnasrear adldaamer cilemss@s.
S|60605)
(=) () Hlrlurrene, girliurienel @Gapurhsamer Coumili(hsss.
(i) EeNCeerslem LIWGTSET G)T6mTiqane 6T (LS.
(a) State Newton’s laws of motion.
OR

(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(i) Write any 2 applications of concave lens.

34. (&) (1)) MgSO, - 7H,0 2 liepu GeuiulihggnGung) eranear Hlaspdlng?
i) rmrb 2Mepabd Corwmger LOMDL FFD 2 HEpdd Famryb
Caromgmer eT(HSSISSTL_(HL 6 6NlersEs.
360605
(=) () OCetiugfengey eSlenaaeT eTeTDTE 666 ?
(i) Bearelenar - Werm aflenesr GCoumiLi(Hds.
(@) () What happens when MgSO,-7H,O is heated ? Write the appropriate

equation.
(ii) Explain hygroscopic substances and deliquescent substances with examples.
OR
(b) (i) What are called thermolysis reactions ?

(ii) Differentiate reversible and irreversible reactions.



11

@Qrssslen Lenlsamer LiL g uied(hs.

@emaggiamarger SDUILSHEGLLD PHEUSDEGD STTERTLOTET HEHLOLIL|

STUL QFO&EET Y GD. G&FmDMESTE STTERTHRISENETS S(HS.
360605

DG S(HBSHILITSER&SE FhUBL rsflenarsaner gl Clalieugnamen

Ereneusd &(Hs.

2 L HU(HLOGIEHEGS STTETONGT STFERlEH6T cTenel?

Enumerate the functions of blood.

Guard cells are responsible for opening and closing of stomata. Give reason
for this statement.

OR
Suggest measures to overcome the problems of an alcoholic.

What are the contributing factors for obesity ?

-00o0-
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grifo - 1/ PART -1

() o BHDH J&rerdo a%odl. 12x1=12

(i) DS Teord (HEgETISre0N Tl KBITPAN JoHE IO HBIM e
&85 085w HoobS DEPEPae) TPoDok.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.  ooEgR (DAPA0ToMD 8D T8 H drdlo(en) ©sds0 ?
(@) Seges Sord® Sol Se@o
(b) g Tod) HtOEXREGes depodo
(€ o B EF0ES 6B HIADE Hradowso

(d) (a) 0B (c) BoKkx»

To project the rockets which of the following principle(s) is/are required ?
(a) Newton's third law of motion

(b) Newton’'s law of gravitation

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

2. Q888 SI (H&ees0

@) e b) S € & (d) ==

SI unit of resistance is

(a) Mho (b) Joule () Ohm (d) Watt
3. 25.8.5. o & odS K08 OIS FSBorren (HasTBIRa.

(@) 340x108 m/s (b) 340 m/s

() 3x108 m/s (d) 3x1078m/s

Sound waves travel in air with a speed of about at NTP.

(@) 340x108 m/s (b) 340 m/s

() 3x108 m/s (d) 3x1078m/s
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3&@?@6&6 (5&ea0
(a) &FPoe5RS (b) &rsd

(c) BESPBS (d) 29
Unit of radioactivity is
(@) Roentgen (b) Curie

(c) Becquerel (d) All of the above

%5 ©55 Sar8® e5@rRod MFH o

(a) =38 (b) sPoig0 (€) dmdcho (d) &TeenHS
Alloy used in the manufacturing of pressure cooker is

(a) Brass (b) Bronze (c) Magnalium (d) Duralumin

a8 w8 JEFSo GwE) TUPAC 2t 3-086 a0trS-1-ol. ©b & 88 dey¥so ?
(a) ozrE (b) STE)OE CSFRE

() B8 (d) eopsS

The ITUPAC name of an organic compound is 3-methyl butan-1-ol. What type of
compound it is ?

(a) Aldehyde (b) Carboxylic Acid
(c) Ketone (d) Alcohol

[ Turn over
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7. @8 (58 g B
(a) I8 (b) =§ eg0ERonI6

() OO TR (d) oFf

The concept of blood group is derived by

(a) Wiener (b) Karl Landsteiner
(c) William Harvey (d) His
8. 6?5’9)&8%)&26& POSD Jodsng dodmio.
(a) @~RE) (KXY Deso) (b) &
(© 8BS (4 SEREG

Syngamy results in the formation of
(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

9. dogRy ©DHB BR0oMSH NHsron SHETT) G TrH Seren
(@) (@rEE BE) Seren (b) 28® Gezren
(c) S&R Beeen (d) B RPRase
The large elongated cells that provide nutrition to developing sperms are

(a) Primary germ cells (b)  Sertoli cells

(c) Leydig cells (d) Spermatogonia



10.

11.

12.

5 4970

K80&® &) do $0d #o HERHTHLOD (HEGPODS T8 :

(@) erowd FHE (b)) «HBI () &*BS (d) e~5rE)

Life originates from pre-existing life was showed by :

(@) Louis Pasteur (b) Oparin (c) Haldane (d) Lamarck
HF S 038 % Bobs THASEE Bso.

(a) BT (b) KB

(€ T 5 (aerddey) (d) KK

Pusa Komal is a disease resistant variety of
(a) Sugar cane (b) Rice

(c) Cow pea (d) Maize

R0 GRS SBmorr ¢E)B TehadS K8 B¥o, ub T Jo& erre
HDotHEod.

(@) NGB FF (b) ©etder 2 € SHrar BB d) Se&HAB

is a rice variety produced by mutation breeding that grows well in saline
soil.

(@) Sharbati Sonora (b) Atomita 2 (c) Pusa Gaurav  (d) Himgiri

[ Turn over
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grio - II/PART - 11

B8 1 DI D% BHoH Jrgrdo aod. (Y Sozg 22 SBN38. 7x2=14

Note : Answer any seven questions. Question No. 22 is compulsory.

13. m™d Dow) g SBoKo (DAPBRYIPL, MO ©e0Hen :
(a) BBoro BEOE IS LodIeow.
(b) Sodakow S AJT JE BIS® 5.
(c) SBoifo BLOE BHIE wo0ome EoHICow.
(d) BoHosY.
When a sound wave travels through air, the air particles :
(a) vibrate along the direction of the wave motion.
(b) vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.

(d) do not vibrate.

14. (a) (B&g8 P:HV0 @08 & ?

(b) 8 %0 wHHBG S Erdo A8 ?
(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?



15.

16.

17.

18.

19.

20.

7 4970

AFTPS BwE) IZT® 2 &HBRre TPohod.

Write any 2 uses of Ethanol.

FR00208 He8o (BRUTEE adots) @o Do ?

What is respiratory quotient ?

BBea0 &%y Ad oA grrren KHBoKod.

Draw and label the parts of a sperm.

HBegeHo 3&)& ®OLP ?

What is called evolution ?

ABSrBE &5 Bd Hocke BE) BS &S BED gy FweSod ?

Distinguish between somatic gene therapy and germ line gene therapy.

Fgrdee Eeao&® SO '55:6“)5 gea0 Ao DYYore &otnod ?

How is Cancer Cell different from Normal Cell ?

[ Turn over
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21. a—zééc(;e» dee &R dzeon ?

How are e-wastes generated ?

22. ©OIME SrEed) BOCHEDOE.

State Avogadro’s Law.

griio - III/PART - III

H5QE 1 IJT D (BEeD J&rgrdo adol. (D) Koxg 32 EHAS. 7x4=28

Note : Answer any seven questions. Question No. 32 is compulsory.

23. (a) &S grrred H%e (Rod)K Teabhod.

i) ([Fo& 5388 (i) Q&%sEEm
(i) S08 &TPOS FErXE (iv) BBrE

(b) 53858° 2.8 ey e 12 Erendd wido (KHErodod. aey) &° (Haeieo dod ?

(a)  Write the symbol for the following component.
(i) Ground connection (i) Resistor
(iii) Light emitting diode (iv) A diode

(b) A charge of 12 Coulomb flows through a bulb in 5 seconds. What is the current
through the bulb ?



24.

25.

26.

27.

9 4970

(a) DBITeBESE ABDOWOE.
(b) CO, e (B5350°8 8&oB0k.

(@) Define Atomicity.

(b) Calculate the molecular mass of CO,.

() &) dev DEHEod ? iy TrHBEHETomHS 8o B8,

(b) e 8°00T 2 Arraresy BOAHEOE.

(@) How is rust formed ? Give the equation for formation of rust.

(b) State 2 methods of preventing corrosion.

(a) 8BevedgdoRBK (A 008 DB HBL Eeos® ©d AEE 2BrH&E0E ?

(b) PAENXEPE FRIED 0BAW @aPcsn FXIED s B0y BOGHIB)0&.
(a) What is photosynthesis and where does it occur in a cell ?

(b) Differentiate Aerobic and Anaerobic respiration.

PANERHOSER Froes 6’5556&5 D BOADHHCHOE. IFOP T o) (BaSreE)E (Seraren
DB Bor&oB BOADHEADOE.

Name the gaseous plant hormone. Mention any three of its physiological effects in
plants.

[ Turn over
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28. (a) DONI0DE0 ©o& DA ?

(b) SoerKoHKo TE) ([FPere BOCDHDHGOE.
(a) What is pollination ?

(b) State the importance of pollination.

29. (ERessBsm Qoe) DNBoBOE.

Explain the structure of chromosome.

30. 35 Soros® adrdsnwd G@nE) (Frerige B0 $8)oSsod.

Discuss the importance of biotechnology in the field of medicine.

31. 598 Do8ges dopesen D Dore aﬁﬁﬁqb&eﬁ@?& éwg Secw ?

How do rainwater harvesting structures recharge ground water ?

32. ,U?8 a-decaysd @PoB08. w68 JORoes &% Lmgery Somgy EPSod.

9oU?® experiences a-decay. Find the number of neutrons in the daughter element.



B8 :

Note :

33.

34.

11 4970

grio - IV/PART - IV

o) HHOH IXrrHo X8, BIIETI e Koo ACHOA&. 3x7=21

Answer all the questions. Draw diagrams wherever necessary.

Sgerd Bl drEee BOCHFAHOE.

@)
(i)

Soe
g08 SSare 5% Breen : SHBTHAT HHBAH FTRHEDEEDAsT

SRES BF) ) VI 2 BHEFPTORH TAHOE.

State Newton’s laws of motion.

OR
Differentiate the eye defects : Myopia and Hypermetropia.

Write any 2 applications of concave lens.

MgSO,7H,0 & S&B1S Do esdorhehod ? S 18800 T°cHod.

3_50@5@6&335 (@@@é%é) émc;en SB35 aé)érg?ooéf (5De88) a’amU‘;oEﬁ)
STPTB0E 580508,

G~y
BEBRD BErES) @ I& wotrdd ?

BBB0S BB BBBB)PS BAFER) Sy BBod ?

What happens when MgSO,-7H,O is heated ? Write the appropriate
equation.

Explain hygroscopic substances and deliquescent substances with examples.
OR
What are called thermolysis reactions ?

Differentiate reversible and irreversible reactions.

[ Turn over
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35.

12

880 @) G HIBoBoE.

HSBolgren BEHBIRoE HBAM HTKOEZ05HE r7°§ Segeen aeiss
HSPJeaw. &3 o5 SPBee0 BOCHED0A.

Sae
)08 ESEVSICES) 9OKDOBToHE SOOI SoedoBod.

Rpeseasrdd oed & wozBod ?

Enumerate the functions of blood.

Guard cells are responsible for opening and closing of stomata. Give reason
for this statement.

OR
Suggest measures to overcome the problems of an alcoholic.

What are the contributing factors for obesity ?

-00o0-
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(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

&0l : DD €210B)Eala|Gl0) Mmoal BGOWEBU one.

Note : This question paper contains four parts.

B89Wo - I/PART -1
®0laf: (i) «gEO C2I3EIBRBNI0 OBHOODLI®EMO. 12x1=12

(i) @mlcleniom moa’ oemeesgldd mlMMio wAIVIYW HOmEO
ODMOOETHSYOYD) VOBIWIBMOCU0 B30alaHM CHIWI0 G)PIEd.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.  cooden afledualeMEBIG 69 @MIIGElHNIM of® EBIMoENY | BEYEH3E06M
@OOURMOWIBR®) ?
(@) mMUSeOM myMoo olaim ailmo
(b) mMusSOM B (lmo
() coellw @ monsrem Mlwmo
(d)  (a) @ () @Yo
To project the rockets which of the following principle(s) is/are required ?
(a) Newton’s third law of motion
(b) Newton’s law of gravitation

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

)

2.  (aoflemowaerilen SI ey @D6).
(@) Mho (b) &d (c) &% (d) g

SI unit of resistance is

(a) Mho (b) Joule (c) Ohm (d) Watt
3. voenis ®oownessud ao@ildd )@ <l all eeum@EII061TY MVErRIBlBaIME).
(@) 340x108 m/s (b) 340 m/s
() 3%x108 m/s (d) 3x1078m/s
Sound waves travel in air with a speed of about at NTP.
(@) 340x10%8 m/s (b) 340 m/s

() 3x108 m/s (d) 3x1078m/s



3 4971

coallewo @adslaligloies @emlg @M.
(a) @OoeNDERM (b) Al
()  ©BNUORIOTD (d) 6odd aloeTmInEeoo

Unit of radioactivity is
(@) Roentgen (b) Curie

(c) Becquerel (d) All of the above

(oD BHiOGlOM MldmMmOM@TIM ©ale@oUlloflBlae30M GRIaOMVE:00 @OLOCID

@CLIOQ) @6.
(a) alloyg (b) ecusmelo
(c) @ounoellwo (d) aooellwo

Alloy used in the manufacturing of pressure cooker is
(a) Brass (b) Bronze

(c) Magnalium (d) Duralumin

80 MoiHmEman IUPAC momo 3-alleeln@ enlyism-1-6800 agomoen’. ey

QR®®O0 CVOWIBBHMOEN) ?
(a) @D@WIeHOW (b)  #odGeNUOBMIE]E @I

(c) &legosm (d) ERD@HOCOOUD

The ITUPAC name of an organic compound is 3-methyl butan-1-ol. What type of
compound it is ?

(a) Aldehyde (b) Carboxylic Acid

(c) Ketone (d) Alcohol

[ Turn over
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7. 080 (Do g Gor@o ERONaHeadl oo @O6M.
(@) aflemd (b) MO eloMEIIMD
() aflejo anodenl (d) ool

The concept of blood group is derived by

(a) Wiener (b) Karl Landsteiner
(c) William Harvey (d) His
8.  miladwall 0gafleem@B B00eMMOBIM.
(@)  VYIBAIOAMY (b)  eoemlalw
() ©6emends (d)  godleawomicalodmy

Syngamy results in the formation of
(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

9. augoym il ERAIMMOW GaldaHHheB@ M@ alell@ Mmigo dhislw

BAHOUDETBUD @6N.
(a) eellndl 6&Ro CMIUDETBUD (b)  ©MBEsIE] CBOUETBUD
() elufluy eaovossRUd (d) emdmoegoemosniw

The large elongated cells that provide nutrition to developing sperms are
(a) Primary germ cells (b)  Sertoli cells

(c) Leydig cells (d) Spermatogonia



10.

11.

12.

5 4971

mydad” cileiddlomloymm elaimled alome glaim ooi@sidlenmy agmy emel ooy

- @®em
(a) ey alomiald (b)  eatodlm
(€)  OO@OWDD (d) em0dH6)

Life originates from pre-existing life was showed by :
(a) Louis Pasteur (b) Oparin

(c) Haldane (d) Lamarck

a0 GHODM 6F GEIW (laflemoleoal@ias sommoeny
(a) AT (b) emgf () & afl (d) eo@my
Pusa Komal is a disease resistant variety of

(a) Sugar cane (b) Rice (c) Cow pea (d) Maize

elalemmiemaas agrlad mmoell algom, apegaH@ Enflallowy Al pEalodlafl ol
emafle sommoeny

(@) aHRENUOZl HAVOEMOIM (b) @rexoally 2
() v mwoeal (d) oFaddi@l

is a rice variety produced by mutation breeding that grows well in saline

soil.
(a) Sharbati Sonora (b) Atomita 2
(c) Pusa Gaurav (d) Himgiri

[ Turn over
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389o - II/PART - II

&0laj: ago®®mlae a@¥ ColIBIEBRH HEMOODLI®IH. GaldGjo MM 22
MRUMLAIWIe HODOODPIBEMO. 7x2=14

Note : Answer any seven questions. Question No. 22 is compulsory.

13. &0} wmiB®moomo (UOWAEReS MVERIBISHIEMUIOMD, (LUOW] BeNMldds(d :

(@) ®@OOMETIOM MVERIOVAIOBQHE) @RMITVIHAOW] HMIMo 6.21Q)lo.

(b)  HMIMo ealgpeaslelo dleno® apemeslelo dluwdlendlg).

() ®@OOMEBIOM MERIOVAIIMWEE AloeMINOW AL &HMIMo 6).21Qo.
(d) Hmimo e.olQflg).

When a sound wave travels through air, the air particles :

(a) vibrate along the direction of the wave motion.

(b) vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.

(d) do not vibrate.

14. (a) @ERAYEVIWIOS YYOEMIVIWMOQ al@lW]l ag@oeny ?

(b) &0} (Iaflavailes @AM afRAI0 HIOETH BJoaldlW] ag)@wosy ?
(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?

15.  og)@mEMoglonn aRemlalio 06N HAICQIMNETBUD ag)PImids.

Write any 2 uses of Ethanol.



16.

17.

18.

19.

20.

21.

22.

7 4971

60MafleaQd] 0oyl agOMo@d ag)nm) ?

What is respiratory quotient ?

a® enlizoslond ol@o AIe.L] GIMEBW @ESWIREQ SIETNID.

Draw and label the parts of a sperm.

al@lemomo ag)MMm alO@IMEmATIOMmEoey ?

What is called evolution ?

OMO00Fldy ORI 6@, eRo eeeIM &M e®Oall agmial madlenss alj®PTvo

CUNBONOBE) .

Distinguish between somatic gene therapy and germ line gene therapy.

@odenIyBo enI0Wla) GHOUETBMD (HOMAVD GHOUWDETBUD) QVOWOIMEM CHOUDETBE @D

Mo QEMIBDOBHIMEMmETIOM ?

How is Cancer Cell different from Normal Cell ?

0-00llMETBWD B)al1Ha|SIME) ag)suBOM®OET) ?

How are e-wastes generated ?

@OQUIMICWO Mlao (al®SlaloGE]e6)id:.

State Avogadro’s Law.

[ Turn over
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89Wo - III/PART - III

0laj: ago®®mlae a@¥ GolOBIEBRH HEMOODLI® M. GaldGjo MM 32
MIRUMWAIWIe HODOONPIBEMO. 7x4=28

Note : Answer any seven questions. Question No. 32 is compulsory.

23. (a) ®o6Y MMIAHNM CLISHETBEIOS MV IHETBRD af)PIMid:

1) (06N BHEMBRHD (i) eomiaud
(i) eeag afdliglowy awewoy iv) af) e

(b) &0 euddmildd 5 OVBHMIG 12 $iER0 2108 [ IQASIENIMM]. ag)MIT @D
enidenileeswiss 00 ag)@@oeny ?

(a)  Write the symbol for the following component.
(i) Ground connection (i) Resistor
(iii) Light emitting diode (iv) A diode

(b) A charge of 12 Coulomb flows through a bulb in 5 seconds. What is the current
through the bulb ?

24. (a) @crIAlNGl agemm rdQ.olleeid.
(b) CO, oMM CROlEOIRI0D MOQ) EEMBHIBHId.

(a) Define Atomicity.

(b) Calculate the molecular mass of CO,.

25. (a) ®IOINI Olalo OBHIBMODETEIOM ? ®IOINT OJalea|SIMEION VA0
QG) 93D
(b)  ®IOOMUSIBNIME HSWIAIOMES 2 MOBRETBWD (o BflatoBleid.
(a) How is rust formed ? Give the equation for formation of rust.

(b) State 2 methods of preventing corrosion.



26.

27.

28.

29.

30.

31.

32.

9 4971

(@) (dHOUD MOBRAHEMO ag)MIE )T B0} GhowEBImBsld agalloswosm
@@ MSHEOIM®) ?

(b) ogeoomilesll@wio oRMafeOoMilsslB@io LBITVIEHIWD QANOTVO ag)D.

(a) What is photosynthesis and where does it occur in a cell ?

(b) Differentiate Aerobic and Anaerobic respiration.

QUO@&HONIMNDILNER VMY GaOIBEMEMIONM Gald ag)Pimids. TVAVETREIG @owl6
DAEUIMI(@alODOQ aRO®EIRI DI (IBOCUSTBRD af)Pi®ids.

Name the gaseous plant hormone. Mention any three of its physiological effects in

plants.

(a) al@IEMo @OLAALD alEdMAl®mEEMo ag)MOad ag)y ?

(b)  alEXWEMETIONM (I0WOMo (I@SlaltoGElhe)ids.
(a) What is pollination ?

(b) State the importance of pollination.

G(@omemodleng caism allaidlesid.

Explain the structure of chromosome.

008w AIBAMOEM MON®T NICINSHEMIRHIWIOS (aI0WOM§o 21d.0) 6.2IQid:.

Discuss the importance of biotechnology in the field of medicine.

DY & JHlOIBOHOWIRE CRISMEB:WD BINAR RAIOED ClolodLe 62IQIMe®mETEIOHM ?

How do rainwater harvesting structures recharge ground water ?

9 U8 @uooatem@mslad’ aflelw@modhymy. eawosd ag)elondlen myiesoemiealens
ag)emo dhemallSlenid.

9o U?8 experiences o-decay. Find the number of neutrons in the daughter element.

[ Turn over
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89Wo - IV/PART - IV

&0laj:  aggld CoIBIEBHRHNI0 HEMOODYI®Id. GOOININIERWIsaBald ofl(®o
QUOQHE . 3x7=21

Note : Answer all the questions. Draw diagrams wherever necessary.

33. (a) mused aleimn Ml (laflalodHaid.
@R 1M
(b) () 0eWfw, §6a0q|de0ESIe® ag)Ml M@ eOQlH)EBRD ®oilees
QU@IOM0 QUBDDIHEId>.
(i)  CHIMMEHOS HRIMBMIONM aRe®m®IRo NS HalGIWNETBUWD af)PIBid:.

(a) State Newton’'s laws of motion.
OR
(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(i) Write any 2 applications of concave lens.

34. (a) (1) MgSO,-7H,0 6m 2)So0s6iemIoud ag)m) muocllenio ? @omicmoimow
MVUACUOBIO G PI®Id>.
(i) ©6a0ENIMNEHIQld: alE0dMATBRI0 HAWANEHIHNVNG alBOdMmOBRI0
£B2a006M Madl®o ANUoG|d@lHE) )b
@R L) ;1M
®) () ®oad Afleaisl® (@] (UAEDHMETBW @OLOAIO H®BEMO6 6 Al MMy

Slosrdmy agym afldlenimemasiiom ?

(i) ASlecusmilendld Glosrmdavio endleauvmilenilid Sleodummlo @omleas
Q@OTVo AULNBEOIDIH6)Jcbb.
(@) (i) What happens when MgSO,-7H,0 is heated ? Write the appropriate
equation.
(ii) Explain hygroscopic substances and deliquescent substances with examples.
OR
(b) (i) What are called thermolysis reactions ?

(i) Differentiate reversible and irreversible reactions.



35.

11

ASDODIONR WAMETBUWD QllaIRl0E®d:.

BEROMIY MIOSHNHIM@IMNI0 BOSWHNHIMEIMIO EHIVEMMOLIME) NDOBdAY
GHOUDETBRIEM. 60D (AIMIMIUMWBNIRR HIVEMO Q) PIBds.

@ 6L %] @D
B0} ABPNBMTT MO (IWMETBE ®OEMO 6)21QYIAIOMIBR MSalSldhtd

mBERUBl B 1.

@oAl®AUENOHIMN MVIAOIWELBDIMBIM CLISHEMBID aRBe®mEoo ?

Enumerate the functions of blood.

Guard cells are responsible for opening and closing of stomata. Give reason

for this statement.
OR
Suggest measures to overcome the problems of an alcoholic.

What are the contributing factors for obesity ?

-00o0-
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(1) TZFPSE B0Tro FpoNciodhe HOT AIOTRABRY, 2wow Hew B3 IoDY

2TTTR $R0T AFY IFose BOTE HeTTOR SR

(2) VT WIOHLY T VFRT HFODL VD WF TI, IO, WA

TONP eﬁ-.s@arwmcl T33eD ﬁ@p@ WD,

(I) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

3 DITEF0D Ty, GRNAYRY, WIRRORT.

This question paper contains four parts.

gonR — I/ PART -1

SNOr) =3 rﬁ%aol emgaf%. 12x1=12

e

30 Towy, SORNYY BOOIPT YLITHR, SO T VW3 oL BB,
EA[oJounts) msi T COIITEDOT emgdﬁ:oel 23ToN0.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. Oodtrnemy, AdReRTIed 39N O3 IIW/NY ONZT 9
(a) BRI WOZOH BRTIe 0BT
(b) TIREIF MTOTYERFFOD DD
(c) Tesdeod wBen FOTTHROD DT
(d) (a) B (c) NTBE®
To project the rockets which of the following principle(s) is/are required ?
(a) Newton's third law of motion
(b) Newton’s law of gravitation
(c) Law of conservation of linear momentum

(d) Both (a) and (c)

2. Téleerm SI o
(@) Mho (b) FoeF () Ohm (d) =&

SI unit of resistance is

(a) Mho (b) Joule () Ohm (d) Watt
3. NTP 0@ meodg 3 ITONNH FORTIOT Sendeodn BORESS.

(@) 340x10%8 m/s (b) 340 m/s

() 3x108 m/s (d) 3x1078m/s

Sound waves travel in air with a speed of about at NTP.

(a) 340x108 m/s (b) 340 m/s

(c) 3%x108 m/s (d) 3x1078m/s



3 4972

DBTLHCOI0N OVEF

(a) BRONOTHET (b) O
(c) &35 (d) R0edT QTP

Unit of radioactivity is
(@) Roentgen (b) Curie

(c) Becquerel (d) All of the above

BRO® BTO(TLS ToE)T NTITIODY WIS WISReTH)

—~

a) &Y (b) BOWD () IeAcdawo (d) TOTILNT

Alloy used in the manufacturing of pressure cooker is

(a) Brass (b) Bronze (c) Magnalium (d) Duralumin

2,00 WITORT BOOINFW [UPAC IIL 3—&33(;393@ 20T -1-0l. QT OSPH 3TJE
ROOINBR) ?

(@ w9z (b) FBRFIIT B
(c) dede® (d) wdprmve

The IUPAC name of an organic compound is 3-methyl butan-1-ol. What type of

compound it is ?
(@) Aldehyde (b)  Carboxylic Acid
(c) Ketone (d) Alcohol

[ Turn over
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7.

4
08 ORI w%’%ﬁoi)ab% 00T TBWODESROWD.
(@) QeonIo* (b) TSE SROWRLIT
() QDoHO TOIeE (d) &=*

The concept of blood group is derived by

(a) Wiener (b) Karl Landsteiner
(c) William Harvey (d) His

AR OO0 SRIDRPNDIN/CBIN 59000,
(a) =RRRET (b) BRABOSP

(0 Zpiew (d) R BRART,

Syngamy results in the formation of
(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

@m@%momgdm QEOITOFEONON 5’&@@&%@0255630l LTNET TBRG WT 0T RSN

(a) RPNT RETY £ ERESTE (b) RederO Zoe3nsd

() Seln* 3oe3nsd (d) ZSFEERRRICID

The large elongated cells that provide nutrition to developing sperms are
(a) Primary germ cells (b)  Sertoli cells

(c) Leydigcells (d) Spermatogonia



10.

11.

12.

5 4972
BeSsY Beue WATBOTH BeSINOT BOLRIT 0T SLEOATREITI
(a) QRN TWIT® (b) 2.TOT°
() g (d) ©oTPFTE

Life originates from pre-existing life was showed by :

(@) Louis Pasteur (b) Oparin

(c) Haldane (d) Lamarck
DT BRSO WROD Been ABRETTENT.
(a) %y b) w2

() B e (WeRET) (d) g Lk

Pusa Komal is a disease resistant variety of
(a) Sugar cane (b) Rice

(c) Cow pea (d) Maize

33T WP BIN B3I GRTROTT HOTIREIZONOT CVIZOIRIOT 2,00 HIT
Ak

(a) 3T BRIJLTO (b) @i 2
(c) DI NOT (d) &N
is a rice variety produced by mutation breeding that grows well in saline
soil.
(a) Sharbati Sonora (b) Atomita 2
(c) Pusa Gaurav (d) Himgiri

[ Turn over
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DRV

Note :

13.

14.

15.

won - II/PART - II

CIRPYTRTTR D TIRT, YBOR. TI, H03, 22 FEYOLTNT.

Answer any seven questions. Question No. 22 is compulsory.

O3RN B IVONR) Mevcdeodnt BORITee, BN MYOD BN :

30on BoRoh B FowRIT,

BOLRTT BTT 03)Te %éd 033Q v,

™

3TOn 2BOZOD @éﬁ ©0TON FOLRIST

i

302 HROY.

When a sound wave travels through air, the air particles :

vibrate along the direction of the wave motion.
vibrate but not in any fixed direction.
vibrate perpendicular to the direction of the wave motion.

do not vibrate.

BRIEIT IR Seed SRR ?
@é%ﬁoﬁ e TR BRT O, ?
What is the audible range of frequency ?

What is the minimum distance needed for an Echo ?

VPIBRCTI OIWR)TOTOR 2 YVTOIRENNTTY, 2TOND.

Write any 2 uses of Ethanol.

7x2=14



16.

17.

18.

19.

20.

21.

22.

SVATOLIT BRCSCOLF DD ?

What is respiratory quotient ?

COITVEENVNT BT/, SR B GPONNATR), MTOSA.

Draw and label the parts of a sperm.

QBT DO OIWRTY, FTOINTT 7

What is called evolution ?

RARDUT BT PO DB, WIFF eﬁéaf BET® POLOD T BIVOWA.

Distinguish between somatic gene therapy and germ line gene therapy.

ﬁégc‘* BRCIR) mm% FRESINOB Ten ws&mﬁd 9

How is Cancer Cell different from Normal Cell ?

Q—@éaséﬁ% en wggommgd 2

How are e-wastes generated ?

VFPMRRERE 3 AONTT, SPR.

State Avogadro’s Law.

4972
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DR

Note :

23. (a)

24.

25.

on - III/PART - III
OIR/RYTTSR D TINYI, WB0X. T, ﬁo&js 32 BWYORTRNT. 7x4=28

Answer any seven questions. Question No. 32 is compulsory.

9N TUBRR BB OB, WEEWO.

) o BowdE

i) SE3ReFT

i) 3P BRTBRRE BO3RET®
iv) wodwer®

12 BRCOOFAT WOTD 230E weas TRVE 5 FEOBNTY 560333%53. aoef%d
TPOT BOO3N FT0LF DI ?

(
(
(
(

Write the symbol for the following component.
(i) Ground connection

(ii) Resistor

(iii) Light emitting diode

(iv) A diode

A charge of 12 Coulomb flows through a bulb in 5 seconds. What is the current
through the bulb ?

TTDTVENVTT[R, WAITVA.
CO, 0T ©edF BBOoSONT, FOWERBONO.
Define Atomicity.

Calculate the molecular mass of CO,.

BB, Tert TRIDRRNIT 7 IS SRTVARKNER BACFTEOTI, dok.
B8, LROILIODTY, IWMLRT 2 DTIINTTY, I9R.
How is rust formed ? Give the equation for formation of rust.

State 2 methods of preventing corrosion.



26.

27.

28.

29.

30.

31.

32.

9 4972

PRELPAOTAT H0TTER DB $pe3TY B Y BOFNTIT ?

0 0 ry

()

(b) SRNERTTIROZ (DTREWT’) B BIRTITCLE (YITRNT) YWATHWBI), BIWA.
(a) What is photosynthesis and where does it occur in a cell ?
(b)

Differentiate Aerobic and Anaerobic respiration.

SNSRI TORREF TR, TROX. AANTY OPYNE OIPPYTRTTR [T T90e0F

TR, TR0

Name the gaseous plant hormone. Mention any three of its physiological effects in

plants.

(a) T|ORAIBF DOTTERD ?
(b) ToNBIFT TWTNDIONIZ, SPR.
(@) What is pollination ?

(b) State the importance of pollination.

3RRReEREETT TWBIONTY, VB[O

Explain the structure of chromosome.

BROODH 3:3BY HDT S0P TRVD)ION, B3R

Discuss the importance of biotechnology in the field of medicine.

TP B3R TIINW ©OBRF OTZ), Tt YIT P S[RWTSH ?

How do rainwater harvesting structures recharge ground water ?

pUP, a-B3¢ 0, ODFITT. W, ©03TY BRI 00D, 0T EHRWO.

9o U?*® experiences a-decay. Find the number of neutrons in the daughter element.

[ Turn over
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@on - IV/PART - IV

BN 1 2y TFNAEI, WToR. YRZITO IR, WSR. 3x7=21
Note : Answer all the questions. Draw diagrams wherever necessary.

33. (a) DRLAT BOIOH AOPTB/R, EVA.
[Slotvo
(b) () BT TReRNTIY, BEFYOWR 1 TOIRELOTT WNBY BTV LR O®.
(i) Qe WWRHTT CIPFYTOTIHL 2 WJONINRTY, WICWO.
(a) State Newton’s laws of motion.
OR
(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(i) Write any 2 applications of concave lens.

34. (a) () MgSO,7H,O D, DATRRTON DTOMHITT 9 ARTIWT ALOCFTEIRY, LITON0.
() TyieeAnes IHND D) BIsFoW (FRT ) IWNTR, LVHITTEREROON
QTOR.
[Slofvo
(b) () BPBRFSRT TBEORNW DOT CIPYTE, IT0INTVT ?

(i) 20SVNTWIOTIT (OVJRFWET) WPV LOSWNARNT (YT OTAFL)
BEEODNYT), TIYCWA.

a i What happens when M¢SO,-7H,O is heated ? Write the appropriate
PP g 4 2 pprop
equation.

(ii) Explain hygroscopic substances and deliquescent substances with examples.
OR
(b) (i) What are called thermolysis reactions ?

(i) Differentiate reversible and irreversible reactions.



35.

(i)

11

333 s0DhoDRY,/ TODFR, He3F IR

T38 SRe3ND Bemnwes ITOIDE T BN TTmSE.
3 DePIN o0 BR&.
PO
SERTINET FIDANTIY, JWORLY FNTY, FOBIPR.
m%@@ofoéﬁ FOTLOWOME BWOSNL SR ?
Enumerate the functions of blood.

Guard cells are responsible for opening and closing of stomata. Give reason

for this statement.
OR
Suggest measures to overcome the problems of an alcoholic.

What are the contributing factors for obesity ?

-00o0-
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() b Il ol Jlude Ut 5Pt SR S U
=K AR ()
i KK (b)
Sl el (©
Ui () 41 @) (d)
To project the rockets which of the following principle(s) is/are required ?
(a) Newton’s third law of motion
(b) Newton’'s law of gravitation
(c) Law of conservation of linear momentum

(d) Both (a) and (c)

« eapdeisl
b (d) o () Jz  (b) Mho (a)

SI unit of resistance is

(a) Mho (b) Joule (c) Ohm (d) Watt
_rd e L Ftny NTP (g /SonT
340m/s (b) 340 X108 m/s ()
3x10-8m/s (d) 3x108 m/s (c)
Sound waves travel in air with a speed of about at NTP.
(a) 340x108 m/s (b) 340 m/s

(c) 3%x108 m/s (d) 3x1078m/s
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o dedsr a4
$sd (b) FU ()
Flbasr  (d) d3 (©

Unit of radioactivity is
(@) Roentgen (b) Curie

(c) Becquerel (d) All of the above

< c«/dbLbJJWiufd/?J/f/'ﬁ‘.g 5
oA (d) Al (© ~€ () S )
Alloy used in the manufacturing of pressure cooker is

(a) Brass (b) Bronze (c) Magnalium (d) Duralumin

¢ o I U e ol 1yt F3 E TUPACK rdktll 6
A LS (b) LA (a)

L4

A @) v ©

The IUPAC name of an organic compound is 3-methyl butan-1-ol. What type of
compound it is ?

(a) Aldehyde (b) Carboxylic Acid

(c) Ketone (d) Alcohol

[ &3¢/ Turn over
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i1 154 Kbvd/'/z s
K (b) (@)
ot (d) s (©)
The concept of blood group is derived by
(a) Wiener (b) Karl Landsteiner

(c) William Harvey (d) His

Y LS U]
v (b) < (a)
casi® () =L (©

Syngamy results in the formation of

(a) Zoospores (b) Conidia
(c) Zygote (d) Chlamydospores
GG e nd 1L S SRk

£ () Lzl ()
) LS ©

The large elongated cells that provide nutrition to developing sperms are
(a) Primary germ cells (b)  Sertoli cells

(c) Leydigcells (d) Spermatogonia



: &U; L"‘L(E&/L)ﬁ)&?jc&/'
LW (d) Ly (© Lyl (b) LA (@

Life originates from pre-existing life was showed by :

(@) Louis Pasteur (b) Oparin (c) Haldane (d) Lamarck

e (P S
& (@ LY (© Jb () ¢ (@

Pusa Komal is a disease resistant variety of

(a) Sugar cane (b) Rice (c) Cow pea (d) Maize

e PAE R S e AU dnle Sl 2L S
2LJ  (b) Li&S  (a)
Wl A (d) sl (9

is a rice variety produced by mutation breeding that grows well in saline

soil.
(a) Sharbati Sonora (b) Atomita 2
(c) Pusa Gaurav (d) Himgiri

[ &3¢/ Turn over
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PART-II /-2

7x2=14 ce il 22 Azl etivalds e
Note : Answer any seven questions. Question No. 22 is compulsory.

Dl e e v SnTea a3
g7l ()
_&nufwgf/é}@ ui/uj Ln‘:f} (b)
U3 ol e S Pl ) (o)
S (d)

When a sound wave travels through air, the air particles :

(a) vibrate along the direction of the wave motion.

(b)  vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.
(

d) do not vibrate.

¢ Lo bdS U (a) 14
¢ zpbnlleb SPILLEST o)

(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?

ey 2 ZJes 15

Write any 2 uses of Ethanol.
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¢ ‘Lt{;/{ﬁpuf 16

What is respiratory quotient ?

AL UL S Sl LT 7

Draw and label the parts of a sperm.

¢ ‘a}’/gafkﬁjﬂ 18

What is called evolution ?

E WG IANEAS E YA 19

Distinguish between somatic gene therapy and germ line gene therapy.

¢ e AL b 20

How is Cancer Cell different from Normal Cell ?

bl QA e 21

How are e-wastes generated ?

= AN { %

2(1?‘\\

22

State Avogadro’s Law.

[ &3¢/ Turn over
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7x4=28

Note :

PART-III / III-&.4

e G132 Al el S

Answer any seven questions. Question No. 32 is compulsory.

w2 Zazitits ()
Ko (i) Wi )
LT (iv) SIS (i)
¢ i e b 5 sl it 12 (b)

Write the symbol for the following component.
(i) Ground connection (i) Resistor
(iii) Light emitting diode (iv) A diode

A charge of 12 Coulomb flows through a bulb in 5 seconds. What is the current
through the bulb ?

Zokp S (@)
_E A LU co,  (b)

Define Atomicity.

Calculate the molecular mass of CO,.

e SE G s A ()
Ay por s (b

How is rust formed ? Give the equation for formation of rust.

State 2 methods of preventing corrosion.

23

24

25
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?La@néuug@i‘#um ‘LE{(—{:(/"JW (@) .26
OO RS Fungafun (b)

(a) What is photosynthesis and where does it occur in a cell ?

(b) Differentiate Aerobic and Anaerobic respiration.

-’“leuﬁld@féfémufu»g_;a(tKungéugu’f 27

Name the gaseous plant hormone. Mention any three of its physiological effects in

plants.

ey @ 28
Eokea$dy ()

(a) What is pollination ?

(b) State the importance of pollination.

-éé“/‘l{&v&pm/ 29

Explain the structure of chromosome.

_Ead eI G Sl b 30

Discuss the importance of biotechnology in the field of medicine.

¢ gL S el WIS R I LG B

How do rainwater harvesting structures recharge ground water ?

-g(M'A;JU'f}Cuf/’%~§.L“;f; - Vg 92U238 32

9oU?38 experiences o-decay. Find the number of neutrons in the daughter element.

[ &3¢/ Turn over
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PART-IV /IV.2.{

3x7=21 _gvﬁwdn/.’ulg_éﬁgylﬁéowff 7
Note : Answer all the questions. Draw diagrams wherever necessary.

E kST K () 33
|
Gt ol 2 63ALBEA () (b)
ey 2 M s (i)

(a) State Newton’s laws of motion.
OR
(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(i) Write any 2 applications of concave lens.

_&lehlounr § ctnlf et MgSO,TH0 =2 (i) () .34

SEAL DT ISl ety (i)
i
C ol et SE @) ()
LGOS WIS AN (i)

(@) (i) What happens when MgSO,-7H,0 is heated ? Write the appropriate

equation.
(ii) Explain hygroscopic substances and deliquescent substances with examples.
OR
(b) (i) What are called thermolysis reactions ?

(i) Differentiate reversible and irreversible reactions.
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S ekl s (i) (@) .35
2 IS NS KD LS L s (i)
i
SE A WAL L Sl DA ) ()
¢ Uit £ dly (i)

(@) (i) Enumerate the functions of blood.

(i) Guard cells are responsible for opening and closing of stomata. Give reason

for this statement.
OR
(b) (i) Suggest measures to overcome the problems of an alcoholic.

(i) What are the contributing factors for obesity ?

-00o0-
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1. Yerorpegs sré&Swusnars Latarml(hé srssSalmbg CleualGumbmiii’ L
BT :
(o) Ogiwadl (<) peiguim (@) @ssrad  (w) Syrens

The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

2.  oQwfss uki@sbmssaid PP QUG IPFS erhLIl L BIeT :
(1) 24 &CLmTuT 1929 (=) 14 &CLmur 1929
(@) 24 meubur 1925 (FF) 24 meubuim 1928
In America, the first huge Stock Market Crash occurred on :

(@) 24 October 1929 (b) 14 October 1929

() 24 November 1925 (d) 24 November 1928

3.  eflCarm Quisssdler wrprige @b GrHildurs sobg Csramr e :

(=1) ereousgT Frevdlil (<) Gordlooredr Crm

(@) myeuamiemed Crm (/F)  eueveouml L Gred

In the Non-Aligned Movement Conference participated as the Indian
representative.

(a) Lal Bahadur Shastri (b) Motilal Nehru

() Jawaharlal Nehru (d) Vallabhbhai Patel

4. 2L aslol gnge (58) @Ulssiul L e :
(1) 1827 (<24) 1829 (@) 1826 (/) 1927

Sati was abolished in the year :

(a) 1827 (b) 1829 () 1826 d) 1927
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gpml :  Wfligey ors 1857 -, b Y amger Herrdflenws @ HDLSSTD
QaTeanT(h LSS g
SMI6seTd : LW LILRSSUULL  Hlifeursid QoTssme Slerrgsl
CameveilienL_bSg!.
(=) smpmi, srrewTd @rearhGw Seum
(<) sabm Seiml, STrewrd Fil
(@) smom HmID sTrewTd @remHiGL &, CaD STFewTD FnmidsTenr Filwmer
eNlET&HS DTG LD.
(FF) Sabm LOOMID STFERTD &Fifl, Y emTed STFenTd Fmpmisasrer Filwmer edlerésLd
©@cvrene.
Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.
b) (A) is wrong and (R) is correct.

(
(c) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

QUTHS S5

(1) smbue Yrlé i Ll
(2) Geudreflls Yyl &l i) @enss
(3)  Seulyd Yyl (i) Ggmed
(4) u@uqu L& (iv) o pmger
(1) (W)-(iid), (2)-(), (3)-(iv), (4)-(i)

(=) (1 2)-(iti), (3)-(1), (4)-(i)

(@) (2)-(i), (3)-(i), (4)-(iii)

() ( (2)-(iV)/ (3)-(1), (4)-(iid)

Match the following :

(1) Grey Revolution (i) Egg

(2) Silver Revolution (i) Meat

(3) Red Revolution (iii) Leather
(4) Brown Revolution (iv) Fertilizers
(@) (D-(itd), (2)-0), (3)-(v), (4)-(iD)

(b)  (D)-(v), (2)-(iti), (3)-(1), (4)-(i1)

©  (D-Gv), )-60), (), (@)

(d)  (D-(D), 2)-(v), 3)-(0), (4)-(iid)

[ Hpliys / Turn over
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7. Cuhssdu @enLuymisermed weplpll Gureneals Cumid L@d

(=1) slpBTH (<) Gayparm
(@) ueEparl () wsHw 9rGseb
Western disturbances cause rainfall in :
(@) Tamil Nadu (b) Kerala
() Punjab (d) Madhya Pradesh

8. LDTRIGEIS -0 Lweru(HEDg).
(<) W6 HLGTEHET (=) SlQwesr swmrliLy
(@) Q&b 2 (BEEGH® (FF) QuiGpredlwu &sHlatiy
Manganese is used in :
(a) Batteries (b) Cement Manufacturing
(c) Copper Smelting (d) Petroleum Refining

9. @ndwureier s wEsET FTens GETamL rble :

(=4) &8s (<) Sl&&I0
(&) 28dlru ArGgew () sUlppTE
The state which has highest population in India :
(a) Gujarat (b)  Sikkim
(c) Uttar Pradesh (d) Tamil Nadu
10. @nHlurelile slpBHTH 2 HuSHud® @rearrmbd @b eudlsHng).
(<=1) sma (=) Coulilaa (8) smby () umss
In India, Tamil Nadu ranks second in production.

(@) Coffee (b) Tea (c) Sugarcane (d) Cotton



11.

12.

13.

5 4976

< mdHCar - @pdwer eu@libarfallmbg o Wrdbldeaw s bamsSHne
Bludliinedr

(=) ERWrs sl (<) @B

(@) WpsemwssT (FF) &L LDGIMm SLIMBIWST

One representative of the Anglo-Indian Community to the State Legislative Assembly
is nominated by

(@) The President (b) The Governor
(c)  The Chief Minister (d) The Speaker of State Legislature

& W&TeT Team&ECHT(H BTh&Eh&E Qe G 2 6Ter 6rebene

A, GLD.

(<) uinor - @pHur (<) @S - Seon

(@) @bSlur - urdlevgmen () @bSlur - Crumerd
Mc-Mahon Line is a border line between

(a) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

Qs 2 MHrL(h 2 HUSSH QSTLTILTET SEUDTET FmDHenmd ST _HweLb.
(=) Qumrmermsry auerrdsl unMH DHG CEmerers LweTUHE DG

(<=1,) uewreigsd LHMD LewTeuT L gHer fésosar LHH Ml 2 Fa|dng.
(@) Qumrmlsafler srsms jereldll Lt LwaTLOE DS

(F) eumii@b SHpevar wHIEH Qe 2 adpg.

Find the incorrect statement.

Importance of GDP.

(a) Used to study the Economic Growth.

b

(b)
(c)
(

d) Used to estimate the purchase power.

Used to solve problems of inflation and deflation.

Used to measure the quality of goods.

[ Hpliys / Turn over



4976 6

14. opplu Qsreueant Cooramang s b GQEram( eurliil L 6T :
(1) 1999 (<2p) 2019 (@) 1992 (7)) 2005

Foreign Exchange Management Act was passed in the year :

@) 1999 (b) 2019 (©) 1992 (d) 2005

U@ - II/PART - II

SO : eTemeuCuienid LISGG lammésErdE e wealldsea|b. eflearm eraum. 28-&
SL_L_muwng el wefl&sab. 10x2=20

Note : Answer any ten questions. Question No. 28 is compulsory.

15. ugihEd GWLGUTT weap GhsSe Bhiser oidbstserear ?

What do you know about Trench Warfare ?

16. UMEnETUSSETITEHET T SLENDSET WTenel ?

What were the duties of the Palayakkarars ?

17. eaurfle Qi deratengullen gt uiled Gfligey orsle Qenanmsgis
QamarerULl L L@dlgener UL Iqwied(Hs.

Name the territories annexed by the British under the “Doctrine of Lapse”.

18. Qummerrsmy GuBLBSDL @bHw Geuerreammenouler W r&SMmEL STESEMS
TOLUGSELE 2

How did “Great Depression”” impact the Indian Agriculture ?

19. @nSureler allhgeme CumyT LSSl ojemelClLFerqer Lkt wrg ?

What was the contribution of Annie Besant to India’s freedom struggle ?



20.

21.

22.

23.

24.

25.

26.

27.

28.

7 4976

Caumuphsais : Cone sLhsamrs swbleafl, fpsE sLpsamrs Fobleef

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

@ndlwrefer sroblanasamer LITEHSELD SrranilseT wranel ?

List the factors affecting climate of India.

LWI&@ (P& aumasilena enoild WemelfaeneT erelelmm er&Ffsdng ?

Before cyclone, how does the Meteorological Department warn the fishermen ?

sOlppriiger W Hwu uCrréEgs HiLmsalear CUwLTsaT gCgenbd
BTESHenETs Snmis.

Name any four important multipurpose projects of Tamil Nadu.

o wir BwermsHern sasGs o flu fHouemruenn srrmiger wrene ?

What is the original jurisdiction of the High Court ?

Lgrsde Qamerenssamart Ll iqwiedhHs.

List the guiding principles of Panchsheel.

SOIPBTL g eleTer oarl’ | §&858 S L B&6T eraneuCuia)d Brendler OlLiweny
T(PSIS.

Write any four names of Nutrition Programmes in Tamil Nadu.

SOIPHTLIged CFTAIE WTHEl6n F&H0&H6T WTeneu?

What are the problems of Industrialisation in Tamil Nadu ?

Lig&sLl(H wen Geuermamenn LM Fm GOILIL euenrs.

Write a short note on ‘“Terrace Farming’.

[ Hpliys / Turn over
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U@ - II/PART - III

@Ml : stemeuCuenid LSF aTTésEnsE ellenLwalldgeyb. elerm erear. 42-6@,
SL_L_mwong eflenL wefldsey L. 10x5=50

Note : Answer any ten questions. Question No. 42 is compulsory.

29. W 2 sl CUTmESTET (PSS STrewThIGemeT 6dleurdléseaL.

Discuss the main causes of the First World War.

30. @uewrLmb 2 sl Gumfler eflenere|Fer wWreneu ?

What are the effects of World War II ?

31. Guawseier Guburiigha@ 19-b Eroprar® s msseaurdaer <,nmw
Lemll&eT GNSSH @ SL(HenT eUENTS.

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

32. Geugyrfley 1806 -e» Cleuigss LirSullem smmsaner cdlemd:@s.

Account for the outbreak of Vellore Revolt in 1806.

33. sPBETLige &Gs58 QUGS ereueurm erdliCsmeareriiiilL g ?

Discuss the response to Swadeshi Movement in Tamil Nadu.



34.

35.

36.

37.

38.

39.

40.

9 4976

UL &@ weasalar (Guubame) o G fleysmeryd, iser P& Elwggieln
upMyo eleufése.

Explain the Divisions of Northern Mountains and its importance to India.

@QBSu war aumsseT gCab ghdlameans GOILGAL(H, wearranflen L ser
LHmIL el umMl edleuféseyLb.

State any five types of soil in India and explain its characteristics and distribution.

SWOIPBTLigen CariL Gealerreamenn UMM 6bleTéEs.

Explain the plantation farming of Tamil Nadu.

@pHw sirflweewliber ApLiLs smsmer 6Sle6TdHEs.

Explain the salient features of the Constitution of India.

QrHu Guurss sooaflar sl wean womb B AHsTrrisaer
deuf&sab.

Describe the Executive and Judicial powers of the President of India.

BT eu@brasams sansdl(Heusn@ Csrryenw uoGaum &HmEgsamer
deuf&sab.

Explain various terms associated with measuring of National Income.

@\ Crirps wHmb @\ wermps cutlgamer allerd@s.

Explain any two direct and two indirect taxes.

[ Hpliys / Turn over
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@Il : urfemeuwdD WwreaTelfser srosGsr( wHmb euamruLgde weannGu
Blspeysamerd @LBismeruid GHUAL(HE sTL(Heush@ UdHors
Sjaupenn umPlw GOILLsET Kb er(pg Ceam(HLbd.

Note : Blind candidates have to write only notes for the questions related to Time Line
Chart and Map.

41. Spssrauaaundn@ STECETH euamnTs.
1910 g 1940 auenpuleorer @b Csslu QusEs eugeormdlenr P& w
Hlapeyser gCaeabd mpdlanar eT(pgis ?

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

42. Spssramid QL mismer @QBHW UL GDlEsa|b.
() Ceugrpewrwid (i) egrewdl (i) wgFTeL (iv) MQTElLGTEITOTLITS
(v) uwbumd
In the given India Map mark the following places :
(i) Vedaranyam  (ii) Jhansi (iii) Madras (iv) Jallianwalabagh

(v) Bombay
L@&3| - IV/PART - IV
@My :  eeumd ellemdsErdd alenlwefl&Esey . 2x8=16
Note : Answer the following questions.

43. () sWOPBriigeenw Feps WLIHDBSERSE m.Cleu.gr. Guflwrfer
ey wHUSEH QFwe.
S|V
(<) srpdlugsefler #Lomilil] Qusssans LD elleuflsseyLb.

(a) Estimate Periyar E.V.R’s decisive contribution to the social transformation of
Tamil Nadu.

OR
(b) Explain Gandhiji’s Civil Disobedience Movement.
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@Oy : uTTemeuwdHy wreaTeliser euarUL GeTLIyen LW 6SerTss@nhs s
GDILILSET WL (DD 6T(LPS@LD.

Note : Blind candidates have to write only notes for the questions related to Map.

44. () Qarhssuul(Herer QbHw cueprLLFH SpsTamibd @)L Bisamars
&DSHa|LD.
(i) <Yreuel wemaghlsmir
(i) euaTL e ewr rewTlL(HD LGS eemm
(iii) LOEOUTT SLDHEMF
(iv) QsearGuon@ u@meuds sTHN eIHbD Heang
v) <=dls wep Cumibd LG
(vi) Hlessfl deaLsgb GLLb
(i) wasanisd) Weps @A wrhlen
(vii)) s&ETanT L0l
S|V G
(=) QarhssiulHearer SWOPHTH cuearuLSHed Spsramibd @)L Bismerd
&DSHa|LD.
() @aums o
(i) &mbY edleneTuybd LGS
(i) STEHFYTLD
(iv) CuLEm iemewr
(V) Br&sUUL gD
(Vi) <& LDENEL
(vi)) SIPHTLIger WmerblaevL i

(viii) Gop@ CsrLTEs eneser

[ HpLiys / Turn over
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(a) Mark the following places on the given Outline Map of India.
i)  Aravalli Range
ii)  Alluvial soil region one
iii) Malabar Coast
iv) Direction of South West Monsoon
v) Heavy rainfall region
vi) Any one coal mining place
vii) Most densely populated state in India
viii) Deccan plateau
OR
(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area
iii) Kanchipuram
iv) Mettur dam
v) Nagapattinam
vi) Anai Malai
vii) Manchester of Tamil Nadu

viii) Coromandel Coast

-000-
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(DE,DIBE S(SEB0 DO E9,T° &R BIEIS0. S| DO §25es
E333,07,650 (10 DTREEINE BT 0I0S0.
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Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

S () HOES® Teentd griiknen ET2)00.

This question paper contains four parts.

gro -1/ PART - I

(i) o DD Jrerdo axxes. 14x1=14

(i) 2YS Trenid (HEvgEmairefod Ty KBHTPAN JoHE Ko HON 8BS
&5 8850 HoobSs &gl TeoDod.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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DTOE P & B1VoWD P TPTeerd JWE 0D aLPRBoBES B0 :

(@) et (b) 8axg () =&d d @S
The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

wBSE’, FE Lr5)ES 0B g8 DKo PeVHHHY
(@) 24 o885, 1929 (b) 14 o8, 1929

() 24 $%oxb, 1925 (d) 24 o8, 1928

In America, the first huge Stock Market Crash occurred on :

(a) 24 October 1929 (b) 14 October 1929

(c) 24 November 1925 (d) 24 November 1928

0dIP g0 SEns® GPEERI0 (HAIG™ FETH.

(a) oS aFeErs R (b) Ire8erS JHoe

(€) 2556erd I (d) SpFrdd &S

In the Non-Aligned Movement Conference participated as the Indian
representative.

(a) Lal Bahadur Shastri (b) Motilal Nehru

(c) Jawaharlal Nehru (d) Vallabhbhai Patel

08 8% Babdd HodS B0
(a) 1827 (b) 1829 (c) 1826 (d) 1927
Sati was abolished in the year :

(a) 1827 (b) 1829 (c) 1826 (d) 1927
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QGHo (A) 1 1857 o8 BduiHeren AR g0 Erdore wedichados.
80 (R) : 'sso@ée)éé VHSE 0P B0y BBDerEn DHOF0E.

@) A) 8w (R)Bo&r 3050

(b) (A) $Bse 8 (R) $Bod.

©)  (A) 855 (R) Bokre KBS 805 (R) 938 (A) & 8BS DSes.

(d) (A) 508050 (R) Bo&kr $BED =0 (R) 038 (A) & $BS DHBes 0.

Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.

(b) (A) is wrong and (R) is correct.

(c) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

OMD A &éé@o& :

1) @ 6IerS ()
(2) 2exb 8BTS (i) Srodo
(3) BE BFHergdS (i) &den
4) (B OD0rHS (iv) dBoHen
a)  (D-(iii), (2)-(3), (3)-(iv), (4)-(i)

3)-(1), (4)-(id

(

(

(b)  (1)-(iv), (2)-(iii), ( )
(©  (D-@v), (2)-(1), B)-(i), (4)-(iii)
(d)  @D)-(D), (2)-@v), 3)-(), (4)-(iii)
Match the following :

(1) Grey Revolution (i Egg

(2) Silver Revolution (i) Meat

(3) Red Revolution (iii) Leather
(4) Brown Revolution (iv) Fertilizers
(@)  ()-(id), -() @)-v), @-()

(b)  (1)-(iv), (2)-(ii), (3)-(0), (@)-(i)

©  ()-Gv), 2)-6), (), (@)

(@) ()-(), Q-v), B)-), (@-(i)

[ Turn over
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10.

a8 été@f’@@% Western disturbances 50890 :

(a) SWFT (b) B

(c) SHoerd (d) SoggHas
Western disturbances cause rainfall in :

(a) Tamil Nadu (b) Kerala

() Punjab (d) Madhya Pradesh

LoD HJSE &HBrA0SHE0d

(a) ergeaden (b) 0o S5

(c) %8 YQoh (d) PO 8A0R
Manganese is used in :

(a) Batteries (b) Cement Manufacturing
(c) Copper Smelting (d) Petroleum Refining

FEEBI0S® wEHY aTrge SOAS oo

(a) oxoE (b) 8o

() &85 H3S (d) S

The state which has highest population in India :

(a) Gujarat (b)  Sikkim

(c) Uttar Pradesh (d) Tamil Nadu

ePBEET oS’ f%e‘éo)@;@s BQFre Bokd 5;26068 &od.

(@) =5 (b) BSrsH () B8 d) 58
In India, Tamil Nadu ranks second in production.

(a) Coffee (b) Tea (c) Sugarcane (d) Cotton



11.

12.

13.

5 4977

SO -80BHS S5m0 K0 a8 (H8G oo BRRBS ©20d8 B OIS
HTK.

(a) ToES (b) K550

(c) Loomgiool® (d) ool BRRSE 986

One representative of the Anglo-Indian Community to the State Legislative Assembly
is nominated by

(@) The President (b) The Governor

() The Chief Minister (d) The Speaker of State Legislature
DE-I*HeS Ty 93O DS Bty BB B2.

(a) @O - grEERIo (b) &r8SBI0 - B

() arB8GE0 ~ PELS (d) rESEE0 - IPS

Mc-Mahon Line is a border line between .

(a) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

I<lol=i) a‘°§sp§:63 EoRPK508.

GDP Go8) (&850,

(a) ©08 HAV wggabHo BR0HE SOBPACSEE .

(b) @5585633830, @@@Seée%)sao Do HOTYTIE SHBrA0BREIEOR.
(€) P T SOVoHD GHAPACSDEEH0E.

d) Eoflen 38 wolSar 10D GITPACSDEE0E.

Find the incorrect statement.

Importance of GDP.

(a) Used to study the Economic Growth.

(b)  Used to solve problems of inflation and deflation.
(c) Used to measure the quality of goods.
(

d) Used to estimate the purchase power.

[ Turn over
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14.

K58 1 JIQ B8 Dot Jdrgrdo adod. (©F) Sogy 28 SZIIL.

Note

15.

16.

17.

18.

19.

20.

QR L8 (B350 e €0 &s A0S eRrhoSwER !
(@) 1999 (b) 2019 () 1992
Foreign Exchange Management Act was passed in the year :

@) 1999 (b) 2019 (©) 1992

griio - II/PART - II

: Answer any ten questions. Question No. 28 is compulsory.

(BoS 508 80D D% Do Benddd ?

What do you know about Trench Warfare ?

FOIPEEE) DeHen dod ?

What were the duties of the Palayakkarars ?

‘EBonS &P oy 8ol (AR B FB0 VOB (Frosre D) BOADECHOE.

(d)

(d)

2005

2005

Name the territories annexed by the British under the “Doctrine of Lapse”.

“Qos5E @gé &3°0L50” ePSERA%H éegé@dﬁﬁﬁ& dere (HgrdB0 Bod ?

How did “Great Depression” impact the Indian Agriculture ?

GPEEEE ol oeer0s @ HRoes FE Do ?

What was the contribution of Annie Besant to India’s freedom struggle ?

Boren BOCHREDHOE : HB)KH BF Dorraren KOG &P 88 Jowearen.

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

10x2=20



21.

22.

23.

24.

25.

26.

27.

28.

7 4977

ePESBI0S® %éeog?g@@ (Herddo Fo wozed rdacre TeoHod.

List the factors affecting climate of India.

0B Hotorr Trerddes DKo ePoXHo @ Jore TeHogod ?

Before cyclone, how does the Meteorological Department warn the fishermen ?

SDYHER DBV Trenth SwagRdd e IS (EHe D BOHEDOE.

Name any four important multipurpose projects of Tamil Nadu.

38 Gg) TGS 008 (smsBRAES) Dol ?

What is the original jurisdiction of the High Court ?

Hosde TE) BeBBE Sm(EeB0d ?

List the guiding principles of Panchsheel.

EDWFTDER) HFT Trenid VLB SEYBIre DL TDhod.

Write any four names of Nutrition Programmes in Tamil Nadu.

SDYTHS® F0(5eendssen B KBS ?

What are the problems of Industrialisation in Tamil Nadu ?

‘BRBS Frdvoly (3)3@ &%) D 0w a5y o°aHod.

Write a short note on ‘“Terrace Farming’.

[ Turn over
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grio - III/PART - III

B8 1 DI B0 BHoH ISrrdo aes. (Y Sogy 42 SHNSL. 10x5=50

Note : Answer any ten questions. Question No. 42 is compulsory.

29. B (HHoS Oiwa(;@é e se8ero S8)osodk.

Discuss the main causes of the First World War.

30. Bo&t @’)o"aoédﬁmgo $OBod ?

What are the effects of World War II ?

31. HdrFe 6HBE Koxofod 198 %@”88058 hexn 3?63?9?6& Do)Beaen DER0NS PSR

a"?g‘(\’)o o0&,

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

32. 1806 o*d Joedy &BMHeren MHB80D) TPAnod.

Account for the outbreak of Vellore Revolt in 1806.

33. SPFRHS 653% t%tﬁegaﬁao 60306526 00 z‘ﬁ%oiﬁo&.

Discuss the response to Swadeshi Movement in Tamil Nadu.

34, &I0°0 D8O JgPrre HO0N SO PESEI8 o @°z;°?6?go 080D DHBoPoR.

Explain the Divisions of Northern Mountains and its importance to India.



35.

36.

37.

38.

39.

40.

9 4977

ePESBI0STY DI 0 Ere oo BOCHEGH0E HOWM T gD, HoDB
&% DHB0PS-.

State any five types of soil in India and explain its characteristics and distribution.

SEDFIE @) PoBHRS JH 980 HBOBO&.

Explain the plantation farming of Tamil Nadu.

EoRlo)a) O‘%fgoﬁo cﬁ:oégr Eéaagpé c‘D%cgéeJa 809 JHBoS0&.

Explain the salient features of the Constitution of India.

B8 m@oﬁ@ @Dé& S°6§§00‘°555°é 0B agoﬁavéswm %809 BOSHECHOA.

Describe the Executive and Judicial powers of the President of India.

2PHAD eTPSHo 6%27006)58 SOEDE &) DG Htre HBoD JHBoLE.

Explain various terms associated with measuring of National Income.

DI Bok (D&E 080 Botd Xo&'sé DY 80D HHBoBOE.

Explain any two direct and two indirect taxes.

H8 1 BB a"g 0B85 HErDS $020HONS (HHOL ©oL @aﬁ&%@a DSBes TR Toen.

Note : Blind candidates have to write only notes for the questions related to Time Line

41.

Chart and Map.

1910 %009 1940 £5555°er8 Hor0§od) AT 8D TB(EE Dozedde ST ACHOA.

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

[ Turn over
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42. gPEERE HE0s® BIHS (Fromred HBOS0S !
(i) SerSesgo (i) SRy (i) D@D  (iv) 2OHSTeerrh
(v) eroB

In the given India Map mark the following places :
(i) Vedaranyam (i) Jhansi (iii) Madras (iv) Jallianwalabagh

(v) Bombay
grifo - IV/PART - IV
BSOS 1 QDS (DD JSrgrdo 308, 2x8=16
Note : Answer the following questions.

43. (a) SWFILH PEPRE HOHEIS OIS ©.D.68. HE U H&oH SADod.
S
(b) mobd L WIFAHE GsErEY DHBoSOE.

(a) Estimate Periyar E.V.R’s decisive contribution to the social transformation of
Tamil Nadu.

OR
(b) Explain Gandhiji’s Civil Disobedience Movement.

Q8 1 S 8 020600 (HHH ©of 8)@568@ (‘35&3\) o) HOBE0B.
Note : Blind candidates have to write only notes for the questions related to Map.

44. (a) grBESRE OHABS H608° BDS (Frozres HBOBOE.
() o5 (3
(i) ©eIHS Fond 8BHS S
(i) oeerd 5o
(iv) & IY HBHBSTe HY
(v) grd BB (Frodo
(vi) BT 2.8 & K goo
(vil) gPBSRI0E® 223 5Fe0|3E wEorr &G o0
(vil) SES HBeD
G~
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(b) SDFE HE0S® BIHS (Frosredd HBOSE.

() Srraw 58

(i) B Ho&oB (Froseen

(ili) sP0DHTo

(iv) Sotapds wg

(v) Srd8es0

(vi) o3 8

(vii) Sr0BHE ©F SYeH

(viil) E85PoES o

(@) Mark the following places on the given Outline Map of India.
(i) Aravalli Range
(i) Alluvial soil region one
(iii) Malabar Coast
(iv) Direction of South West Monsoon
(v) Heavy rainfall region
(vi) Any one coal mining place
(vii) Most densely populated state in India
(viii) Deccan plateau
OR

[ Turn over
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(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area

iii) Kanchipuram

iv) Mettur dam

<

) Nagapattinam
vi) Anai Malai

vii) Manchester of Tamil Nadu

(
(
(
(
(
(
(
(

viii) Coromandel Coast

-00o0-
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

&0l : DD 60106)Galo|Cl0Y moel BGOWEBUH Hene.

Note : This question paper contains four Parts.
B890o - I/PART -1
0l : (i) «gEO C2IBEIBRBNI0 OBHOODLI®EMO. 14x1=14

(i) @MIdlenimM moel HEmOE3EIEd MliMmio LBIIW HEMMO @IlEEETMSIBTTY
HOMO0 60alaUMDEHOUI0 af)PIBD:.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. adldadulom @@alogalond caldld mdQiooky qaljemldd alomio
AJOEDOLOEQ|S 0o
(a) =domai (b)  Oady (c) engefl (d)  (anoadmy
The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

2.  @codlHnlod @REIm0Qf 630a0dl Aflatenlidd A ®®d.o OB :

(@) 1929 eHHesoenId 24 (b) 1929 eGsoenId 14
() 1925 mQuoend 24 (d) 1928 mauoend 24

In America, the first huge Stock Market Crash occurred on :
(a) 24 October 1929 (b) 14 October 1929
(c) 24 November 1925 (d) 24 November 1928

)

3.  Gol@lG2ld (alAOIMEBRIOS TGN ®YS @
(S BWl@l 2] aleessiem).

(a) el@ eandEd CooMV(@ (b) e@05)eI@ HMaG)

() BUOBRIOE HMaOO) (d) lgjeow aleg@

In the Non-Aligned Movement Conference participated as the Indian
representative.

(a) Lal Bahadur Shastri (b) Motilal Nehru

(c) Jawaharlal Nehru (d) Vallabhbhai Patel

4. el dldemendlo aldatto :
(@) 1827 (b) 1829 (c) 1826 (d) 1927
Sati was abolished in the year :

(a) 1827 (b) 1829 (c) 1826 d) 1927
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@PMAIMo (A): 1857-681 Ala0O8e® ENfSlatidod @O (@MW @S]0 jmd®YS.

006mo (R) 1 803 G ((3ldhy® @oUla000ndMo nRI0EMm®mOTIoynMy alflgjalo
AlORWEQ|SOMIENSOW HOMEMO

(a) (A) @o (R) ©o 6®FO6EM.

(b) (A) emEoeM agOMO@ (R) vodl@oerny.

(©)  (A) @io (R) 9o vodloemy mo(®ng), (R) @ies vdlwo® afltodldoemmosn (A).
(d) (A) o (R) o vadl@oeny ag)mo@d, (R) @es vdlwo® afludleoemag) (A).

Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.

(b)  (A) is wrong and (R) is correct.

(c) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

621030 alSl G aIRHeIH

(1) <o allgjalo i) o5

(2) oz® allgjalo (i) @9oo0vo
(3) anaim aflgjalo (i) @AM
(4)  (eruem aflgjalo (iv) Ug6ETBW
(@)  (D)-(iii), (2)-(1), (3)-(iv), (4)-(ii)

(b)  (D)-(iv), (2)-(iii), (3)-(1), (4)-(ii)

©  (M)-(v), (2)-(1), 3)-(ii), (4)-(iii)

(d)  @D)-@), 2-0v), (3)-(), (4)-(iii)

Match the following :

(1) Grey Revolution (i Egg

(2) Silver Revolution (i) Meat

(3) Red Revolution (iii) Leather

(4) Brown Revolution (iv) Fertilizers
(@)  (D)-(ii), (2)-(1), (3)-(iv), (4)-(ii)

(b)  ()-(iv), (2)-(iii), (3)-(), (4)-(ii)

(©  (D-@v), (2-(), (3)-(i), (4)-(iii)

(d)  @M)-@), 2-0v), (3)-(), (4)-(iii)

[ Turn over
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7.

10.

alvaln QflehHocETBID DMYWHE) HOdEMMIBIM® ag)floswosn ?
(@) ®adlYmos (b) eHmrg

() ater06nt (d) oaveleaud
Western disturbances cause rainfall in :

(a) Tamil Nadu (b) Kerala
(c) Punjab (d) Madhya Pradesh

200NMIMY HIBOUIlENME aR@ilaloeny ?

(@)  enuogCland (b) o ©Galosmo

(c)  BHO|d MeOAEGlouy (d) ealeEoglwo Alesanmilouy
Manganese is used in :

(a) Batteries (b) Cement Manufacturing

(c) Copper Smelting (d) Petroleum Refining

MYV BRIl EMIVOALWIBS MVoTNIMo !
(@)  ”IROO®YDY (b) ailssilo
() ©O®md (CBUY (d) @adlYmos

The state which has highest population in India :

(a) Gujarat (b)  Sikkim

(c) Uttar Pradesh (d) Tamil Nadu

aslelwllad 9BalosMETIE ®AYMOS ©6eME00 MAIMEYD) MI@ILEYM,.
(a)  oq]l (b) codlel (c) AlmnT (d) aloyEs
In India, Tamil Nadu ranks second in production.

(a) Coffee (b) Tea (c) Sugarcane (d) Cotton



11.

12.

13.
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MoMNOM MHAMEWIERIHNIRE @oCRO MMM (IGlmlWlow moamldeguo

3]

£21QIM®Y @Q6M.
(a) ©OaH(Sal®) (b)  v»IdeMd
() ool (d) olamed maflead

One representative of the Anglo-Indian Community to the State Legislative Assembly
is nominated by

(@) The President (b) The Governor

() The Chief Minister (d) The Speaker of State Legislature
O0d GDOaNM COE nsileias @REIAMT GO6IWOET).

(a) enudom - &Yy (b) 80T - e&2IM

(c) By - alddslorunod (d) enmy - emajotd

Mc-Mahon Line is a border line between

(@) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

OMROW (AITV®IOUM dhensiafISlde i
&l aufl afl @es (alowomyo
(a) qoMUEDHle AUSB.2l aldleniM@IM alewoulleninm.

(b) MOEMWEOQ|Bla|EWIOM®Io MIM®  21JMISOOTIOR®I0  (alWMEEBURD
al@laO@lB6)00M HalEWoUsleanimy.

() 2lOHHRIOS NIEMOIIAININM0 BREHHINIONM SalEOUIlHEIM].

(d) QUOETBEIRUINH] dBHEMBEOHEIOMD HalEROUSHEINM].
Find the incorrect statement.

Importance of GDP.

(@) Used to study the Economic Growth.

b) Used to solve problems of inflation and deflation.

(b)
(c) Used to measure the quality of goods.
(

d) Used to estimate the purchase power.

[ Turn over
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14.  €an0GIM ag)gealeal M0eMEOANM @DHS aloqOSESIW QldaHo :
(@) 1999 (b) 2019 (c) 1992 (d) 2005
Foreign Exchange Management Act was passed in the year :

@) 1999 (b) 2019 (©) 1992 (d) 2005

389Wo - II/PART - II

#0laj: ago®Blalo IO CI0GIEIBRH HODOONYI® . G.2I10Gj0 MMID 28 o
mIdenIMWAIWIo HEMOHDYIBEMO. 10x2=20

Note : Answer any ten questions. Question No. 28 is compulsory.

15.  (an6ral @IBLO®D HGla] rilevstdas) agnmclwoo ?

What do you know about Trench Warfare ?

16. aloRIQHNOIBNIONG HSMHUWD ag)OmLJOMmOlMdINMY?

What were the duties of the Palayakkarars ?

17.  BOMaland dleao Yl (EN5lat)shod OeBHAINeR|SIOTI® (@ IGBUEIBRIOS Galdihid
Q) P>

Name the territories annexed by the British under the “Doctrine of Lapse”.

18.  2a00mOM3jo DB HOBdadld: QANNIMNOD ag)stdlam eniodflaly ?

How did “Great Depression” impact the Indian Agriculture ?

19. 80T QVP@(TT) TVAEEIED @I RITVBIOHN MOBIAIME:W agO®Eo ?

What was the contribution of Annie Besant to India’s freedom struggle ?



20.

21.

22.

23.

24.

25.

26.

27.

28.

7 4978

alwalla ®lomomealesalo alldaidlo MameEglo ®moTRRs Qy@OaVo
QUBODOHE) o>

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

EDNTYWIOS HHORIDAIMNNOD MVOUWIMlHHINM CRISHETBWD (I@TlaloGlee)idb.

List the factors affecting climate of India.

21)9efle60glay e lowl #oel0almnd alleovo aeeEODOYLI0El®WBHE) M Tldial
M@BHIMN@ ag)ETBOMQOETY ?

Before cyclone, how does the Meteorological Department warn the fishermen ?

mal$mogleal apemsslaio Mol mealwom aflallewoequs alALTI®HEIOS Galdidud
Qf) P

Name any four important multipurpose projects of Tamil Nadu.

£6a08HNOSHIWIOS WLNOAMO @OUSlH00aIBIUSl ag)nmoen ?

What is the original jurisdiction of the High Court ?

alemiudlel ®emelon mdNTldegud: OBITBRD alSldbea|SIOmid.

List the guiding principles of Panchsheel.

mal$mogleal apemsslalio MOal Galdatd0a000 alBLBIHEIONS Cal®idhUd ag)PI®id:.

Write any four names of Nutrition Programmes in Tamil Nadu.

®al¥mogleal aloaIMORIBHQIBHNMETIEN (IWMEBW ag)e®ejoo ?

What are the problems of Industrialisation in Tamil Nadu ?

OSOQIOR!l dhjaflo® #dla] 80y 2103 ®iGla] ®YOOILOID.

Write a short note on ‘“Terrace Farming’.

[ Turn over
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89wo - III/PART - III

0laj: ago@Blaljo alE GoI0GIEIBRHH HODOONYI® . G.210Gj0 MMID 42 o
mIdenIMLAIWIo HEMOHDYIBEMO. 10x5=50

Note : Answer any ten questions. Question No. 42 is compulsory.

29. &Moo GRIHMANIWIALETIONM (IWIM HIVEMETBUWD 2ldo) 6).0IQ)id:.

Discuss the main causes of the First World War.

30. ©6N300 GRIOHMANOWIALEHIOM @OMMNOANLIETBWRD afOmLjoo ?

What are the effects of World War II ?

31. W(@H68 oniawWlaniam (alwwmemsainod] miqweals 19-00 migoemsleeal
al@la¥e0emUOGIH0 Qladla] alsslom &)Cla] &) eleal) (alnIMWo MQOOIHE) ).

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

32. 1806-02! ©QIQJId Heldalo Haldglajioeqls®lom @idla] alleiloymmd.

Account for the outbreak of Vellore Revolt in 1806.

33. @al¥moglad qujeBudl (lmadm@BIn AIEle (I@le0eme®TD d:iGla) 2100 6).01Q))d:.

Discuss the response to Swadeshi Movement in Tamil Nadu.

34. MO aldQ® coalelidleal Alaflamithes ®iGlallo @AIYHE ONTQlenes
(I0WIMIOED dlojio AllGoC]d@leeid:.

Explain the Divisions of Northern Mountains and its importance to India.



35.

36.

37.

38.

39.

40.

9 4978

oayleal ope®sleljo @oeR oo QMNIHO8  BHiClallo @EPAUIWIOS
mjEoALMAfEUas®mHMW, All®esmo a)MIIOH® &:Glajio AlltdEldEles .

State any five types of soil in India and explain its characteristics and distribution.

mal$modlenl emose o &Gla] Aflltoledles .

Explain the plantation farming of Tamil Nadu.

DT BOEMALISM@AOS AVY(IWOM V@O MVANEUAHU®HGD ANl H .

Explain the salient features of the Constitution of India.

EDNTYM MK (SaIBIWIOS af)fslausial, eiaulayy@ @oUle:06mmB0 QlltoEMOBE d:.

Describe the Executive and Judicial powers of the President of India.

ERUIQ QIRIMOMO dEMENIHHIM@INOW niTweals dleiafllenes aflaflw aleerdd
QMVTEI NG EI S

Explain various terms associated with measuring of National Income.

apo®sleno g (Al Nl )@He8s0)01 2o ©ME alGOhH
eyl 68860351 2j30 AflvoEld:@le6)ids.

Explain any two direct and two indirect taxes.

[ Turn over
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#0laf: MVOWEEAI0D  210B5lo @JalSamO®]  MITWeQ|S  G2l0G|EBWHE
$H0Y21066UMHLYMER o ICHHARMAHWD HiGlafidbtd ag)LIElodd awf.

Note : Blind candidates have to write only notes for the questions related to Time Line
Chart and Map.

41. 1910 oy@@d 1940 QeO® MY ERUI® (aIMOdm 2Idl@ETIOa afomeslallo @oeml
(IWOM MOBALETBUD EHID@TIEMHE] 630) MNWEDEU BQOOIHE >

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

42. ®MIAIHOIM HOIWIOS BJalSEBIT ®IOY HHISIOWMICIHOHIMM qUNLIEHSUD
@OSWOROQ|SIOTD >

(i) eaIBOMEMio (i) @wondmil (i) o@EoMmy
(iv) eoellad aIoald 6oy (v) @entooeent

In the given India Map mark the following places :

(i) Vedaranyam (i) Jhansi (iii) Madras
(iv) Jallianwalabagh (v) Bombay

8o - IV/PART - IV

&0laj: 69 OBISIOTIASHIM G2 I0GIEIBRHE) HOTOEIDPI®)bb. 2x8=16

Note : Answer the following questions.

43. (a) ®alY MoSled Modia0y alBlUBEDHMOTI@ Oalcl@od . all. edlen
Y (IWOM MRIAUMEHUD LIRS @S )b,

@6 ;1M

(b)  wonlglies milalld Mloa elocalm oo ANvdEld:@lEe)id.

(a) Estimate Periyar E.V.R’s decisive contribution to the social transformation of
Tamil Nadu.

OR

(b) Explain Gandhiji’s Civil Disobedience Movement.



&)0la] :

Note :

44.

11 4978

@alsQ@o®]  MIMWeQ]S C2l0GIEIBWEE  HIY2ld  ©eQHRDI8R
alBlHOdMAlHRD HSlaidb(d )Pl @osd o).

Blind candidates have to write only notes for the questions related to Map.

®IdlenimM MMM clalsamland dlalcoaldld@ ®oey ®aldleniom
OLIETBID EOSWOREQ|SIBD .

() @oalg]l ald®alodhud
(i) 60) afBO@ (aIGBUo
(i) oelen1od oo
(iv) O®HE) alSleTmOOM HIRIAIRdUETOG v
(V) oSSO0 DPQINBOHIMN CO6A
(Vi) o@e®m®IRo B0 HBLOO UMM (A IGBUIo
(vii) DM@ aBROIOWldho EMIVO(MBOWIBR MVoNIMo
(viil) 606 aflodyall
@R 81 @D

®MAlHHIM MAYMoSIOn BlalsOBI@ ®oeY ®OTIGlHHIM MOLlEs3D
@OSWOROQ|SIOTD ) >

i) e mdl

(i) AT dyadl WOVOSMIEE CoEL
(iii) oeflalioo

(iv) a5 oo

(V)  mMOWalgemo

(vi) @emomeal

(vii) @al$mosian moemiand

(viii) ©)#HOOMIEMLE @00

[ Turn over
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(a) Mark the following places on the given Outline Map of India.
i)  Aravalli Range

ii)  Alluvial soil region one

iii) Malabar Coast

iv) Direction of South West Monsoon

<

(
(
(
(
(v) Heavy rainfall region
(vi) Any one coal mining place
(vii) Most densely populated state in India
(viii) Deccan plateau

OR
(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area
iii) Kanchipuram

iv) Mettur dam

<

) Nagapattinam
vi) Anai Malai

vii) Manchester of Tamil Nadu

(
(
(
(
(
(
(
(

viii) Coromandel Coast

-00o0-
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Zous 1 3 TIBFOI T, RAATR, BROHT.

DN D
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eon - I /PART -1

TRWN i AR TJ MY, LSO, 14x1=14
) & O] L )

(i) B Tows BODMTY BOCIHE YWITH, BOR T, VTS SORCD FRCTER,
20800 DB VTT WIPROETOT m:ﬁdwm& 223000,

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

QT ROT S e 380D SRAFFN den” B IeBTROT BHTTOILIT T3 :
(@) =IWED (b) T () aud (d) T

The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

WROTTY, BRTO Z0e 3¢ [TRTVFE, VAT BOLIDAT,
(@) 24 w3RewT, 1929 (b) 14 w3peT, 1929
() 24 8BowoTe, 1925 d) 24 SBowo*, 1928

In America, the first huge Stock Market Crash occurred on :

(a) 24 October 1929 (b) 14 October 1929

(c) 24 November 1925 (d) 24 November 1928

BOT BWTY (ST -VIT [0HoE) 0 [IoDY g5008e0 TEIHOITON
PONBEATITO.

(a) RS WITRT A (b) VpecdRe® IZT

(€) BRI IBI (d) TYFLFW Jedee*

In the Non-Aligned Movement Conference participated as the Indian
representative.

(a) Lal Bahadur Shastri (b) Motilal Nehru

(c) Jawaharlal Nehru (d) Vallabhbhai Patel

8 (55@@) oD, B VIRFTY THTRITVOWD :
(@) 1827 (b) 1829 (c) 1826 (d) 1927
Sati was abolished in the year :

(a) 1827 (b) 1829 (c) 1826 d) 1927
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BDPES (A) : 1857 T T3orioDd, VR BZ00T wvnRmen BETLROW.

53 (R) : Be0QL0D THTTT @&bﬁ%%oﬁm BoRod FFOZ FoT0TONTY.
(@) (A) B (R) 20TR I,

(b) (A) o3 X DB (R) BOOIWNT.

(©) (A) DB, (R) 2TBR FOOIWNAE 0B (R), (A) 0 ROOIPT DWTFBOIWNT.
(d) (A) B (R) TR BOC3RNS ST (R), (A) 0 BOOIRT DB[THBODY.
Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.

(b) (A) is wrong and (R) is correct.

(c) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

$UNIRTR, BRODY :

(1) e 308 (i) Rl

(2) 59 o3 (i) Swo%

(3) 3o 08 (i) °3=F

(4) 3o TOS (iv) oEReDRW
(@  (D)-t), (2)-@) (3)-(v), (4)-(i)

(b)  (1)-(@v), (2)-(iid), 3)-(), (4)-(ii)

(©  (D)-@v), -(), (3)-(iD), (4)-(ii)

(d)  (D)-G), 2)-@v), 3)-0), (4)-(ii)

Match the following :

(1) Grey Revolution (i Egg

(2) Silver Revolution (i) Meat

(3) Red Revolution (iii) Leather
(4) Brown Revolution (iv) Fertilizers
(@)  (D-(ii), 2)-G), B)-(iv), @)-(i)

(b)  (D-(iv), )-(iid), B)-(), @)-(i)

(©)  (D)-@v), -(), (3)-(iD), (4)-(ii)

(d) (D)D), (2)-(v), (3)-(0), (4)-(iid)

[ Turn over
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10.

4

mmsé VRIBALD AY N @d:@mmgﬁ :

IS
(@) BT (b) Beowo
(c) oo (d) =T, B3e3
Western disturbances cause rainfall in :
(a) Tamil Nadu (b) Kerala
(c) Punjab (d) Madhya Pradesh

méomw 2aQ m@ommgcs :

(a) eLONYY (b) Aot BTBIODNY

() T FTMLRTONY (d) Heipedobo BOFTBODY
Manganese is used in :

(a) Batteries (b) Cement Manufacturing
(c) Copper Smelting (d) Petroleum Refining

PR0ITY wée T, BITOLLNIT TOBID)
(a) TORTOT® (b) A30
(c) V2T I3 (d) SBR%ZW

The state which has highest population in India :

(a) Gujarat (b)  Sikkim

(c) Uttar Pradesh (d) Tamil Nadu

ZOTBTY, BT QTVTIONY RTEIOH FYITYT.
(@) Boe (b) B¥3® (© 3B (d)
In India, Tamil Nadu ranks second in production.

(a) Coffee (b) Tea (c) Sugarcane (d)

Cotton



11.

12.

13.

5 4979

Do, TOWTOON PR soRRe-0E0D TINTONT 2.2) TEODI,
00T ToATIeF dFTRMTT.

(a) TS (b) TORITHOT
(c) 0 W0 (d) oo, DTOTHLIOD XeTT”

One representative of the Anglo-Indian Community to the State Legislative Assembly
is nominated by

(@) The President (b) The Governor

() The Chief Minister (d) The Speaker of State Legislature
mf—mma" Sea3odn ne IS NR Tea3o3NT.

(a) IF - T (b) T - B

(c) %908 — s (d) o303 - JezY

Mc-Mahon Line is a border line between

(a) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

BOOPYT TePTODTY, TOWLROWD.

GDP o s@0Dg -

(@) SHFT BITEROD VPONTE WEBLRMIT.

(b) TETYT HBY BEVTNYTNPING ATDZNTR, WRTORLD IR,
(c) ROBNT MBI, WTONLD WIBRMITT.

(d) 200D FFONTY, WOTOBHLY WHBLRIMTT.

Find the incorrect statement.

Importance of GDP.

(a) Used to study the Economic Growth.

b) Used to solve problems of inflation and deflation.

(
(c) Used to measure the quality of goods.
(

d) Used to estimate the purchase power.

[ Turn over
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14.

DTS DITVOD JTEBED FOONTOND, 88 IRFTY WORRYITOONID :

(@) 1999 (b) 2019 () 1992 (d)
Foreign Exchange Management Act was passed in the year :

@) 1999 (b) 2019 (©) 1992 (d)

@en - II/PART - II

BeEN 1 CIRPYTTR T, IFNEI, Y0B0A. TIJ, F0J, 28 FEYOPTNT.

Note

15.

16.

17.

18.

19.

: Answer any ten questions. Question No. 28 is compulsory.

8025 BOMOERT Wi} VeeD SYTERORHEO ?

What do you know about Trench Warfare ?

m@oﬁa@dd %3?5671%30 SRR ?

What were the duties of the Palayakkarars ?

“Tod e BT T I BDRODY DLIRO0T THCIDRBRABROT TSNS, BIOA.
< 8~ > D s < 2

2005

2005

Name the territories annexed by the British under the “Doctrine of Lapse”.

gR03eCd FHOD Fed TRl 935%50333” Jen Tegows Wedd ?

How did “Great Depression” impact the Indian Agriculture ?

PO0ST TYBOT,, BHCTVLE WA, WROLFT FRWR O 7

What was the contribution of Annie Besant to India’s freedom struggle ?

10x2=20



20.

21.

22.

23.

24.

25.

26.

27.

28.

7 4979

QNG IWDW BIVOWA : THID FTIRY WONLONE B TRTE TTOHY W ODLONS.

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

50033 5@5&35%& TOFOR LETVT WOBNTR, Tes, JPE&.

List the factors affecting climate of India.

BOBRIRTVTT RTLY, CCTOMOTON Twowioms QTN Jen @zia% QETDIT ?

Before cyclone, how does the Meteorological Department warn the fishermen ?

BLNWTIRT CIWRTOTBTR TOLY, TFWNED QTIRCTI T CIRETINTDY, BAOR.

Name any four important multipurpose projects of Tamil Nadu.

wzﬁw méofmeoﬁazs R méodamééi OSRRT ?

What is the original jurisdiction of the High Court ?

WOWHCOT BINFTEE 3;@@;@& mg =08,

List the guiding principles of Panchsheel.

BNHTORTY LRCRT FoONF BONY 030)TOTETR SDISM) THDNGI, 2TWO.

Write any four names of Nutrition Programmes in Tamil Nadu.

INDTATY FROEITRT TAD SRIH) ?

What are the problems of Industrialisation in Tamil Nadu ?

306" OFOMT (F&) S Ny AeY T8 22T0W0.

Write a short note on ‘“Terrace Farming’.

[ Turn over
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won - III/PART - III

BRBT ¢ SRYTRTTR I @%ﬂ%ﬂmol SUZBOR. @% So&% 42 3THYOPTRNT. 10x5=50
Note : Answer any ten questions. Question No. 42 is compulsory.
29. [RTO I 0INTFT W00, TTLNRTI, BFA.

30.

31.

32.

33.

Discuss the main causes of the First World War.

QTTIe é)%ofmz%cﬁ TOTOBING OSRR)w) ?

What are the effects of World War II ?

B&WIODNT B0 193¢ ITIPTT BTOTTRFTOTIL AR LAT TOTH N, T O 2TOUW.

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

1806 5P ﬁu@pe TOROD ﬂ%@@scﬁ aorﬁ\ 2230200,

Account for the outbreak of Vellore Revolt in 1806.

BNDTATY IFed BARTBOT BIFOONT, WUFA.

Discuss the response to Swadeshi Movement in Tamil Nadu.



34.

35.

36.

37.

38.

39.

40.

9 4979
Eﬂ)édtﬁ eI @mm@m‘% m@g &Todé% ORNG @m&%éofb&bel WO,

Explain the Divisions of Northern Mountains and its importance to India.

mde‘cﬁ@ﬁ O3TOR)TOTTR 0T 2RO msgmel &9 m@g Clnle] rbsa@?d\saﬁ%fmol m@g
502&%0335301 WO

State any five types of soil in India and explain its characteristics and distribution.

BNNTORT é’x@e@m@éojamol QDTOA.

Explain the plantation farming of Tamil Nadu.

R03T BONTOIT TWND VFENTDZY, DWOX.

Explain the salient features of the Constitution of India.

P03 TUFTEOD THONFAWOF BT :ITY TY0IPONEOD WHTTJIY, VIWOR.

Describe the Executive and Judicial powers of the President of India.

m%@oﬁa STPONT WTBOIRODN FOWORIT TOFY WOBNYIZY, DWOX.

Explain various terms associated with measuring of National Income.

O3DPYTIOTTIR DT 3eT HBY PTHE TTREF SORNTI), L[OX.
Explain any two direct and two indirect taxes.

[ Turn over



Note

41.

42.

10

©VOT VPHFNH FTDOD Bead moErs &) mm%& FOWORNAT ag%r?@ﬁ wwweéﬁ@m%

398, wBonLIe.

Blind candidates have to write only notes for the questions related to Time Line

Chart and Map.

1910003 1940 T oTEeOD m%eoda BHHTVOD 0INR)TOTTR VW DETOAT T3NS
RTOD Te3oDI, WSA.

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

808, GO0 FRTUTY 3UNT FIRYaD, HS -

(@)
(v)

BegeseR0 (i) D (i) =TA  (iv)

230023

In the given India Map mark the following places :

(@)
(v)

DR

Note

43.

Vedaranyam (i) Jhansi (iii) Madras (iv)
Bombay

%on - IV/PART - IV
$9NT TR, W0IOR.

Answer the following questions.

OSSO DVLIONY

Jallianwalabagh

2x8=16

BNWTORT TOTIVRT VOWBEIN OO0INVT® A.R.G3T°. T FBoFONT &raz&rﬁofo:moz

HOTIVRA.
[Slofvo

MROQCWONTT FORO—LRTZTOT a':%e;ow@‘?ofnabol DWOA.

Estimate Periyar E.V.R’s decisive contribution to the social transformation of

Tamil Nadu.
OR

Explain Gandhiji’s Civil Disobedience Movement.



BRWT :

Note :

44.

B0 WPHF

11

)

Blind candidates have to write only notes for the questions related to Map.

B
ed

@)
(i)

0BT SadTess TToH e FENT AR, TSR,
WooRY 3eed

2,07 WLRNONS Weay TI3eT

TOWOT® BFTORY

SO0, TPRTT OR

e B, WTWEDT TeS

IPRYTTTR 2,000 FYTELD Nedmw0d F¢

$o08TY ézé% BIVWWT To,

Slotnn)

$m4 DRI FHOH SecS FINT WRAYR, OB

(vii)

(viii)

desmosf ®)
Gw% 238030T JOOD
Fo0WZTNTO

TDUWRTT BT
ed ed

INDTAT BROBIT

3RETROBE” TTORY (BRCF’)

N PRTWE FoWOoRAT IFNRR LBEIoDZ, B wToDle.

4979
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(a) Mark the following places on the given Outline Map of India.
i)  Aravalli Range

ii)  Alluvial soil region one

iii) Malabar Coast

iv) Direction of South West Monsoon

<

(
(
(
(
(v) Heavy rainfall region
(vi) Any one coal mining place
(vii) Most densely populated state in India
(viii) Deccan plateau

OR
(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area
iii) Kanchipuram

iv) Mettur dam

<

) Nagapattinam
vi) Anai Malai

vii) Manchester of Tamil Nadu

(
(
(
(
(
(
(
(

viii) Coromandel Coast

-00o0-
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2
: l;’/g@/lécfﬁf_jiﬂq?&uau ),»J,L"{/‘e;’ u’
S @) S @© G (b) &7 (@

The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

L C e At § e S (L

1929114 (b) 192941224 (a)
1928 #4924  (d) 1925 424  (c)

In America, the first huge Stock Market Crash occurred on :

(a) 24 October 1929 (b) 14 October 1929
(c) 24 November 1925 (d) 24 November 1928
_J:/’?uﬁlu(}l?/)ﬁw#é_ uﬁu’J/‘Kd/u{f“;JUL
sJuds (b) S Coledy  (a)
Siduds (@) iz (©
In the Non-Aligned Movement Conference participated as the Indian
representative.
(a) Lal Bahadur Shastri (b) Motilal Nehru
(c) Jawaharlal Nehru (d) Vallabhbhai Patel
I Ju 2LEE
1927  (d) 1826 () 1829  (b) 1827  (a)

Sati was abolished in the year :

(a) 1827 (b) 1829 (c) 1826 d) 1927
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Wbl iy A eand 1857 1 (A) §H 5
Eorr BB adSK et (R) 2
~Jrk (R) o (A) Usv  (a)
& Ry Atk (A) ()
e G () «R) #IE ®) 4 () U (©
e sl (A) (®R) 4 2E ®) 4 (A) U (d)

Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.

b) (A) is wrong and (R) is correct.

c) Both (A) and (R) are correct and (R) is the correct explanation of (A).

d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(
(
(

e is 6

() SIS )
= (i) <3P @
% (i) W, ()
S (i) —Wig (4
(i1)-(4), (iv)-©), (1-(2), (ii)-(1) (@)
(i1)-(4), ()-C), (iii)-2), (iv)-(1)  (b)
(ii)-(4), (iD)-@), (©)-2), (v)-1)  (9)
(iiD)-(4), (0)-G), (iv)-(2), ()-(1)  (d)
Match the following :
(1) Grey Revolution (i Egg
(2) Silver Revolution (i) Meat
(3) Red Revolution (iii) Leather
(4) Brown Revolution (iv) Fertilizers
(@)  (1)-(), (2)-() (3)-(v), (4)-(i)
(b)  (1)-(v), (D)-(itd), (3)-(), (4)-(ii)
(©)  (1)-@v), @-(), (3)-(iD), (4)-(ii)
(d)  (@)-G), 2)-v), 3)-0), (4)-(ii)

[ gl}“’ / Turn over
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s (b) Sttt ()
VFsges (d) Sl (©
Western disturbances cause rainfall in :

(a) Tamil Nadu (b) Kerala
(c) Punjab (d) Madhya Pradesh

—e b J(z?‘“!{f@
erfer (b) ULE (@)
S @) LMLl E (o
Manganese is used in :

(a) Batteries (b) Cement Manufacturing

(c) Copper Smelting (d) Petroleum Refining

te u&zdbé;d; (Tosl i or s skt

“ o) =f @
St (d) Juggl ()

The state which has highest population in India :

(a) Gujarat (b)  Sikkim
(c) Uttar Pradesh (d) Tamil Nadu
-c‘_/?/;/»uﬁ/uu,?& St s
vy (0 ) 3¢ ()
In India, Tamil Nadu ranks second in production.

(a) Coffee (b) Tea (c) Sugarcane (d) Cotton

10



5
By P iUl Gy i d L ST GL
2 (b) <ihdy  (a)

BFUE (@) & (9

One representative of the Anglo-Indian Community to the State Legislative
Assembly is nominated by

(@) The President (b) The Governor
() The Chief Minister (d) The Speaker of State Legislature
_4"_M/£>'uywcﬁ L‘jﬂdf}"vg

e - b (b) Wbk -ls (a)
JiF - s (d) ol - Ul (o)

Mc-Mahon Line is a border line between .

(a) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

2o Skl

4§ GDP

ce 1L LI L 55 ()

e Qe L L SFLJ L s binpr (b)
e S L P Sl ()

ce QUL L bk s d (d)

Find the incorrect statement.

Importance of GDP.

(@) Used to study the Economic Growth.

(b)  Used to solve problems of inflation and deflation.
(c) Used to measure the quality of goods.
(

d) Used to estimate the purchase power.

[ glj" / Turn over
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gLt Ju ok w,mu,g»f,f
2005 (d) 1992 (o) 2019 (b) 1999  (a)
Foreign Exchange Management Act was passed in the year :

(a) 1999 (b) 2019 © 1992 (d) 2005

PART-1I/11-&4{

10x2=20 —c 0 28 A il trnds
Note : Answer any ten questions. Question No. 28 is compulsory.

¢ U A Lot

What do you know about Trench Warfare ?

v & ALY,

What were the duties of the Palayakkarars ?

_ et L PSS eI GOT P e s L (YIS

Name the territories annexed by the British under the “Doctrine of Lapse”.

¢ 1 ALK s s

How did “Great Depression”” impact the Indian Agriculture ?

¢ el s Uit Gl e ST

What was the contribution of Annie Besant to India’s freedom struggle ?

14

15

16

a7

18

19
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PG ubg«U’Vd/"’ &G 20

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

_EE e pe N D L TS 2

List the factors affecting climate of India.

¢ A AL S e e gL 2

Before cyclone, how does the Meteorological Department warn the fishermen ?

el s e e 23

Name any four important multipurpose projects of Tamil Nadu.

¢ KSR 3L 24

What is the original jurisdiction of the High Court ?

e berdlute Wil G 25
List the guiding principles of Panchsheel.

el s Qe st 26

Write any four names of Nutrition Programmes in Tamil Nadu.

¢ USSPl st e 27

What are the problems of Industrialisation in Tamil Nadu ?

N TR T

Write a short note on ‘“Terrace Farming’.

[ gl}“’ / Turn over
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PART-III/IIl-2{

10x5=50 —e a2 A Szl et s
Note : Answer any ten questions. Question No. 42 is compulsory.

_é&i{agﬁﬁﬂ’d:@(jwﬁ

Discuss the main causes of the First World War.

¢ an/g!}!géu@,dud/»

What are the effects of World War II ?

-&%ﬂ.,g/?w:g@uuz‘gui‘” Lsun s 19 L L6 J18

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

“Eule 6T b ks S 1806

Account for the outbreak of Vellore Revolt in 1806.

_éﬁ:ﬁ.{u'l <Junuﬁfv{fu?.»’uf;5td'lﬁ’

Discuss the response to Swadeshi Movement in Tamil Nadu.

29

30

31

32

33
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B A et S L orsen Sy S 34

Explain the Divisions of Northern Mountains and its importance to India.

Y ek S U B byt 35

State any five types of soil in India and explain its characteristics and distribution.

_EE ot 36

Explain the plantation farming of Tamil Nadu.

_éé”?ngﬁuWJw% 37

Explain the salient features of the Constitution of India.

_E el et e 38

Describe the Executive and Judicial powers of the President of India.

‘éwwﬁd/obﬂk"ﬁg?cfgd/&xfd} 39

Explain various terms associated with measuring of National Income.

- é C/U/urg.:/ 1/ DTIICZIY J/ 40

Explain any two direct and two indirect taxes.

[ gl}“’ / Turn over
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_ufﬁ @)Lﬁ'/cjné c«Ul}’JW L:jjj}’bdﬂ}/ e fa el

Note : Blind candidates have to write only notes for the questions related to Time Line
Chart and Map.

“ZE LG e G BV L A8 3 airind 1940 <1910

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

: é(ﬂ)u@&oh@d}w u:ﬂ;éﬂluvméé;
Ul (iii) S (i) Ak (D)
& W Lok (iv)
In the given India Map mark the following places :
(i) Vedaranyam  (ii) Jhansi (iii) Madras (iv) Jallianwalabagh

(v) Bombay

PART-IV/IV-a.l

2x8=16 LI YA TY SIONE

Note : Answer the following questions.

e el sl EVR Gt ()
4
S CHSLASAAIASSEEE (b)

(a) Estimate Periyar E.V.R’s decisive contribution to the social transformation of
Tamil Nadu.
OR

(b) Explain Gandhiji’s Civil Disobedience Movement.

41

42

43
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2x8=16 -w.”@«]d/ofniaUlyygﬂ;by’pfca/w c Ly
Note : Blind candidates have to write only notes for the questions related to Map.

L 2 Bule b Sieat b Lyt () 44
dabbd (i)

S LSV (i)

AL (i)

ol Fe (iv)

SREASE (V)

USO8, (vi)
e\ T 2o Sutass (vid)

S8 (widi)

e

LB GBS s, S L L e L (b)
sedgdn )

Skl Lz 81 (i)

pgj;b/ (iii)

Fiud (iv)

A W)

duder i)

SRS (vii)

Jaerd P (viii)

[ gl}“’ / Turn over
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(a) Mark the following places on the given Outline Map of India.
i)  Aravalli Range

ii)  Alluvial soil region one

iii) Malabar Coast

iv) Direction of South West Monsoon

<

(
(
(
(
(v) Heavy rainfall region
(vi) Any one coal mining place
(vii) Most densely populated state in India
(viii) Deccan plateau

OR
(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area
iii) Kanchipuram

iv) Mettur dam

<

) Nagapattinam
vi) Anai Malai

vii) Manchester of Tamil Nadu

(
(
(
(
(
(
(
(

viii) Coromandel Coast

-00o0-
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Language — Part IV — TELUGU

Time Allowed : 3.00 Hours | [ Maximum Marks : 100

BSOS : (1) (BHIBE Swo(Sesn SO 6T o Irddn. Hn@ns® HBJ 88
GRHPEH JoI b KO ITEHIS BDAEABNH.

2) TPOTIERE S090TL @OEESB R DAL AL BT FeNY St VTP STEB
GDHA3TA0T0E.

goif&o - [/ PART - I
(15 SEnen) / (15 Marks)
&8 Bod T8 $BY dSreraren doHstod. 15x1=15

Choose the correct answer.

1. “R0” 3 DHBHI0IH @géaa
() 550 () & (8) s

2. “t%éé“)éo” o DB K)U‘goﬁaoﬁmw

(0) Hotks, Hzyo (8) 8, éd () e*F0, o8B0

3. “5r8” @ DHBRIB PT°TReD
() %e‘é@@, réjosé?go (e3) 330“%%2@, éroéa?géa (8) &8585, TP

4. HBHO @ DEINID (HE)B
() A5 (¢) eSado (8) &DS

5. TS50 @k HE50sh DB HeR) (@b,
(») F8S0 () FPEE» (®) &%

[ Turn over
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10.

11.

12.

13.

14.

15.

#3508 0% DS JEED (FohEm.

() &3B%+od (8) &3B+Dos

Barooho @5 20H.

() Hoedod () (88J0H

KED P seerd) DO 1R ?
() DBSoeSPOHW (es) ajé)o“qaf?péw

D PS8 Johdk.
(es) aéa&ww‘gzﬁéo

(SN VRSN PN
() @éaw‘szﬁéo

Hdads&n @263?6&535@?;58@533?
() t%éo)eeéavep (8) HoHEdre

Bob °BS° BxExgso 2O ?

©) D (@) oy

[aSEVVWEVISY)
(®) (P D&

D D8 (HSgasen.
(9) &5530‘5? D8

aPend IO
() @é% NBRBHX»

ENERENEVV
() g 250HBI0

8,50,0,5 95 9HoarEHe ?

(@) & (@) ©
Seepen Y:
(@) 16 () 3

=)

=)

=)

=)

=)

=)

=)

=)

=)

®)

&880 +000e8

PSP

@éocf?wfszﬁéo

'3"’635@)0

3(Ee

Sowe D28

B S5

[

37



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

3 5001

geiisd = I/ PART - II
(18 SrSxew) / (18 Marks)
Negrifsd® = 1/ SECTION -1
& (808 8 AR Tenid (HHoH 235°20050). 4x2=8

Answer any four questions from the following.

B8y Boo FPEBSDHDS ?

BDHH 16 a;o“)@e» D ?

SB0S® 25 B HORB Ao BOBR ED SHoTdd ?

D X ESE® Dekird der SR ?

‘THFE DD © D TPETRI8 5B ?

PSP T A M oI ? EPLSoe WG BeoHod.

QeriEn - 2/ SECTION - 2
& (80d T DAY 2 (HHeDH wTeadLN), 5x2=10

Answer any five questions from the following.

BHBBEI08 BBt (FCHoED.
€ oX

Oorisoen A ? & D ?

JEFEmen oIra ? ©d D ?

DTV ) ? © D ?

[ Turn over
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26. (DPXr SENBA S0 OITID ? GTSR =W
27. &FHIERESE0e0 ) ? 9D D ?
28. &80 $H80D (TAHod.

g3 = I/ PART - III
(18 SBew) / (18 Marks)
Derifdn - 1/ SECTION - 1
DIV B (BHoH 2350200500, 2x3=6

Answer any two questions from the following.

29. ePHHS RSP D, oD FEHoLrdd ?
30. &rog HJBo Il (HABrered DHBoBo’.
31. S08R8HE eteeHnlerdd Ko 5800 A ?

Ngeiiso - 2 / SECTION - 2
DIV B (BHoH arendsn). 348 (BY) EHE TrahIBT. 2x3=6
Answer any two questions. Q.No. 34 is compulsory.

32. Homeend HBod (FPaHol.

33. “Ghen EPeny)” 50 ROHEDL S0 B 5B ? 0D odwdd, 988 B5508
S0Hw.

34. (®) Bodw ! ... 2.8) Erer3dS @ 5500 FoSes0KEn SHome (TPedm.
ol
(8) ° 30 OB vvnennn.. So0oHS @ S0 FSgiorsn BHom (FesnE.



35.

36.

37.

38.

39.

40.

Negriisds = 3/ SECTION - 3
DIV Bod (HHOD eTrareRd (TPC0E.

Answer any two questions.

©8ITrE OOEHND 1) VBB,
6O OFETodD Krd) (TPainn.
é?_.’aogb e‘ééé)o)éaa’l D50 80D (GPADHo.

g0 = IV / PART - IV
(25 SE5en) / (25 Marks)
O DHODH 225200,
Answer all the questions.
() 83 Zéw?ge;f_% 3°€5?Seg°ﬁ T (P00,
G~
() BodBHD @%?Se;w‘ﬁ FT0BY) (FTPC50s.

() Do ddozrdo Jod @cﬁavwzééwég) ?
5l
(@) D (Pt 267 88 peaed) TPahod.

BenrHSI8 i BB0HE.

5001

2x3=6

5x5=25

Agriculture is the backbone of our country and so it has to be developed

intensively. Since land cannot be expanded, the available land has to be put to maximum

use. We have to grow two crops now. Where we were growing only one. Modern

methods of cultivation should be adopted. Pest control cannot be forgotten. Marketing

helps the development of agriculture.

[ Turn over
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41. (B0 KEEEnD SOD (HHODH SrErdsnen (F°anm.
B0rred SrEdDd 1940 JRS-15 By VoS (PDT) 38 Beps® “aird” (rod®

‘B8’ 03 & WHTR Hewowos® oB. Horrd DX T8 e’ eldyed SWHHI
oII0 Teer SN ©oNID)BE B8 IMWES Dex B B0’ LB SHHBHTND.
1959 &° &8 BT DG I8 B,
(Do :
(1) Sorrd Srerdd Y Qo3 ?
(2) Sorrd SErdd ASVoDS ((Pro 2O ?

(3) Hored LrErdd & Hewonod® o ?

4) D Dy B3 WSHro&® EOR SEHK0 (FPEodoerdd ?

(5) &QE FETe EFH O SoIB)BoE® P8 BFG ?

42. (o) BSrdo (53%3@50 DYHAIR BerHse08 S (55°05005500.
ol
(&) D TS SRS K8y Sol&8 Be (TPS0H.

ootfSn - V/PART - V
(24 SEnen) / (24 Marks)

Bob (oD esarendiy. 3x8=24
Answer the following questions.

43. (®) “BBH Kois arss” &égwﬁ FPT0TR)) T°CHok.
5ol
(8) Beord edHS NOre FT20F°R) T°CHoE.

44. (v) B &)%éapvﬁ FTOTR)) T°0D0&.
5 ond
() 3D 3°6§ap°?§ FPT0TR)) ToIHOE.

45. (®) ‘©ICHD KO ©H WoIoD afg&PéO& (FP03050.
5 ond
(e3) “éé{.@ HB HEBe” TR 8 a‘g‘cﬁéaazéa (E°cSw.

-00o0-



No. of Printed Pages : 7 5004

Language — Part IV — HINDI

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100
o (1) BUE & Wosdl & ¢ I97 0 &1 " F, Al oo § wIE HH A A, A
A heT g Sl giad |

(2) Tl 1 W <H o T et a1 hiet STRT T ITAM B |

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline.

uIT - 1
(15 Marks)

T SR A fafan | 15x1=15

Choose the correct answer.
1. §11914 =t H HEThRTeT h1 TehIYH g |

(31) F H A (3T) HHAR (3) Travam (3) wgyfa
2. wifg iR A & A 8 W I[@ ST T g

(31) HIARHE® EORIEHRED (3) TOTRES (3) SHREIER
3. feage, H A B

(31) @ (1) feTae (3) HAR (3 T
4. s T < foT Heieslt i ol JMdIe EEhr e |

(31) = (&) s (3) R (3) #Hw
5. fhen o<1 9 991 W & | i et 1 ol e T

(31) g (1) YT AR (3) W 94l (3) wfesh

[ Turn over
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10.

11.

12.

13.

14.

15.

2

_ ¥ %gFeR geEuE Sl & S - TS Sl HUIes SR |

(31) HerH (3M) 7w (3) =gl Bww
TEHid 1 @E I8 © Y Fedt 7

(1) SARH-YSH (a1 -t (3) fosedi @
forem FT HT AEATE A T

(31) HdA (3m) oiferes (3) wifde
g | THh Tl

(1) THd (1) HiT (3) Y&HA
farEnfa F TG ST T

(31) vl S (3M) HEIeE (3) frem
&S 1 SRR T HAE SR

(31) Aol sTEET  (3T) gl i (3) U
wiferst 7 U 99 ot =l fou|

(31) Ear (31) THerEa™ (3) fyam
EIEGl| T 3SR T

(31) | (am) fagraom (3) e
propicl ot gl AT ®

(31) uftom (1) o (3) R
T 9 foliy iy ©

(1) fohg (sm) = (3) "R

()

()

©))

©))

©))

©))

()

()

()

()

e e

AfHR



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

3 5004

T - 11
(18 Marks)

3T - 1
for=gl = Il < S| ST 4x2=8
Answer any four questions.
qu aﬁﬁn{ :
YT - - - - - - - - - - |
—————————— T 3I2M 1

e 3R qeTaR § hid 1 fo=m Yehe Hifer |
Akl T TAN § 7 T § 2

Sfrer # freror o1 T e ?

THEM 9 59 & foIu a1 =med € 2
HEhfd 1 GG - TR oIl W Jedr § 2

39T - 2
T8l ufer 991 & ST See | 5x2=10

Answer any five questions briefly.

fafya o fhe Fed €7 3SR o TR FIT

<iIehR | ST Wietl ST | (e T

ST 3TH 1 I o HHHTET |

el % ST HGM ¢ | (W AT H Wit e i Wdifehd i)
SFH Toha o1 IR0 S THEATET |

3G fohdTel ST et | (TS Hife)

ST SATRTOT & T7IH ST 81 39 R hed © 2

[ Turn over
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29.

30.

31.

32.

33.

34.

35.

36.

37.

9T - I
(18 Marks)
39T -1
Tl S 991 o ST ST 2x3=6

Answer any two questions.

T 3 FA-FA @ FET SR e

AT T A T, gF & Vel H THHART |

Qi hiadl gRI Shid 9 Hegl <1 9ed § ?

39T - 2
forsl S 9sl & SR SfSU | 9 T 34 AfErd © | 2x3=6

Answer any two questions. Question No. 34 is compulsory.

3T fohd™ YRR & BId § 2 ISR Tohi TR hifold |
JEYATE oM fohdl had § 7 Ik Ual @l farEu |

(31) fou U vl % wrse g fafau
()  3uem () AT (D)  HI
b
(3) =g sefer |
() T foed fama 7
(i) 39 A e

39T - 3
for=dl < ui & S ST 2x3=6

Answer any two questions.

121 sl FRE a0 SIS |

IR % TGed Feoshy hi G 39 HeHl & gRI el €, Hi 2

fargenel = 1ol & =N H fafew |



38.

39.

40.

5

HIT - IV
(25 Marks)

[ 7 & W T

Answer all the questions.
(31) Hfefero 7w it 1 wfa afma e

AT

(3T1) TYHT AT hifSTT |
fora srere
3o e dran
TR~ T, foig-foig

T @I ghr-Toy

ShIfc—hIfe o1 ST

BT | R
oY <9 3

(1) ftaa 3R fneror w uig-ui 9 fafan)
3rerar
() SATHARAT 1 13 o=l bl il & ALY, 2

SIS H ST HIfWT |

Translate the following into English.

(31) TS IR @ ST 9Tl R 9 Y g AR |

(31) TS 7 Tea 1 AT © SHeR! A=l |t ufast g €

(3) ARfoel Tge IR facter Uge TS=in gaTE Selst o1 STfashR fohar o |
(%) TS Tl i Ushehd THT ST & |

(3) wiead PRIaM 3R G Yhid & o o |

5004

5x5=25

[ Turn over
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41. TN I dgL A U T geHl o SW SN

Gy FRATdT 1 A0 €, <Y SR R A0 RS AT W-Ed R TRl el 39
a1fereh figet i STevdehdl &l el ST foIq 32 ot STagashar 8 & TH 774 1 31feren
g™ =t 3TUeT ST WY gT Ut ol aH sk STl fehTerT Tedl § iifeh STTevaeh T
STEvIhal § 1ok 91l 92 § W 9 I gu foa e war| S5t ae ekt dam steifq st @
yfafed ik & s1feh oM Sohgl 3 & IcT § o1 T8 SRl ATHh <H i 37U 39 $8 B
T ST R

(31) TRATaT =1 ARI0T AR 2
(3m) SR fergen @ 8 2
(3) ATt SMEATIHAT I Bl § ?
(3) wdre o we eref T2
(3) =9 ey & 3fua e S

:
ﬁ .
7
5

(b) Gfceree - T
(c) HeHeEh - =A
(d) " - T
(e) WHEATIH - S
- H
- &
3UdT
(3T) g HIT :

(a) o= Tl ST 91T |
b) THA U @

d) TETEHH TQE

(
(c) TR AT
(
() TARSMILI



43.

44.

45.

7

HT -V
(24 Marks)
[t 7ol 6 IR AT
Answer all the questions :
(31) HHER el 1 | fefEy |

3rerar
(em) # IR & g@ w1 e wiad w1 A fafem

(31) e AR freror 418 o1 9w fafew |
arera

(311) H&Rid 918 1 TR fafEu |

(31) ey gl 1 qRiv fafen
BOe))
(1) ST e T W 9 vl # fafan

-00o0-
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3x8=24
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Language — Part IV — URDU

Time Allowed : 3.00 Hours | [ Maximum Marks : 100

LI i S b Al gL Lerp Sl (1) 2
G LA ekl @)

PART -1/ Jslo

(15 Marks)

15x1=15 S-S

Choose the correct option.
- SO ATV T VU SR |

Buts (@) dagd () XD
-qu:)ﬁjrlfé/u: 2

1240 (&) 1230 (&) 1220 (1)
- b,ri/»!{uﬁ;{_c; ﬂ({jﬁﬂ 3

Enils (B) Q) Fde (L
_Ur sl VA

136 (%) 134 (&) 133 ()
LT b 5

B @) (UT ()] <> ()

[ Turn over
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NN JOFE G sty A

5¢ (@) Ju (L) A ()
: 2“_@/";?

Match the following :

() ()

sl LYl lo by 63l

(73}%;/;@'%0& d}’dﬁ/

b ls 26T}
&%M dtzi 0k ae
S Wit s
Joi.

: é - I /3;
Write briefly :

¢ gL

f %?u:‘:’d"{ff'awi.:m
el ey
et UADISE

¢ e Yl bonl L

10

A1

12

13

14

15



4x2=8

5x2=10

[ Turn over

3

PART - 11 /1.
(18 Marks)
SECTION -1
L& c«lj}?zi/!g J/LU:&U'/LJ:5
Answer any four questions :
¢ e bbb FSLeulUY
¢ oSt Urt
PR A GSIBRY
¢ Ul 20U UBLSute
¢ &I\ A A

Ky

¢ eyl 2808 bt

SECTION - 2
A2 LGVt s
Answer any five questions from those given below :
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2x3=6

2x3=6
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PART - III /I’r‘,-ﬂ’
(18 Marks)
SECTION -1
FEATAITZ 3/%6}0/:—‘.)3/@'5J:5
Explain any two couplets with reference to the context.
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Write any two Questions.
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SECTION -3
_@?W?’ﬁﬁutj’:’,uﬁc«lﬂf&j@/}

Answer any two of the following questions.
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PART -1V / (g, -
(25 Marks)
RIS
Write summary of any one Poem.
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RN S0y SIS Ry s
() 12E . R S U ()
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Welp I IR E e i s
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¢ drsud Gt e (3)
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S I AT NN
(Translate into Urdu) :
The important need of a healthy life are fresh air and clean water. To get these we
must keep our surroundings clean. If every one keeps his house clean it will lead
to a cleaner world.
g il ot
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PART-V/ (’“y
(24 Marks)
W ek L
Write summary of any one lesson.
~Zed S Bk TE UL (a)
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Hl“ H ‘“‘ Register Number

Language — Part IV — ARABIC

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline.

PART-1/ Js3 .30l

(15 Marks)
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[ L5l / cLadl] NI | s dll daa 1
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[ s / haaas] aalsll JoalloLall olbsle 5
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daa K] V""-w*’ - U:‘.‘L"J'" J'.‘.-‘ 8
eyl 3 sie
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WY ol glaal i< .22
c]a.«.u . uaJ‘ - uLwA‘ - gae
s Y ol g gendl i< .23
BT I
obliwdl € @ .25
outiadl cale JIE 1L .26
Yol Yaa s 27
53 Wl il LS s
Al gogalls phll 35, 4
de Jﬁ.c By ol e O ﬁSﬁ .28
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PART-III/ &dlilf e yall
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s ol L legaal oy .29
ol aa Lo MWl eaas .30
obell s ol o y855 1,81 .31
SECTION-2
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golaall ol gy Jla Il dbuill (o colguiiiall g cLuailly
3
alial it oia L JI5 13k
SECTION-3
2x3=6 p AV T gaill Wau¥) o aidl e aal ()

L) o g oLl Jaill cuual 3 <3135

L) o g oLl Jaill 23l iy LS5 .36



5009 5

[oris . Jaw - 5]

8 s4dll Y @)
dpdainS (i)
sl ol L (i)
PART-IV/ g Il 52
(25 Marks)
5x5=25 : b gaaall ol Q3<) (alf)
L e Gl 2L e .38

s WYl ol pyal .39
85y Sb 3o o b oo
il o s ) sdaall JSI Lo
o3 Y bl lsall e Jy33
2l I Giass o Julll elile o 1)
s elialy Yl enola¥ a3 ()
sl Y oboy bl e 5T sl s e alll s alll Jpany JI5 JIG die alll s 805 ol iy 40
@olasllal gy - alyall o ol SNl cpol din 32T Lo Tyl
Jla Sl o gl alll gl s g dile alll (s alll J gy JUB JUS die dlll o) lae Gl ey 41
@olaadlelgy - Jla b cbuill oo colgriitall g eluills
Al Lo o5 e b g tale Alll Lo dlll Sy aols e lll gy elllo ol il 5 () 42
dle il dudif o Lo d Y g (i aSaal e 50 Y Jli s s 4ule
o
Shas¥l ol 13l + JI6 sl g dale alll Lo alll J gy JI5 die alll s 85058 ol e (b)
ol sy 4l e 0 pllis al g ol 4 iy ale ol &yl Bn (¥ B o W dlac e ol
N

[ Turn over



3x8=24

6
PART-V / juolallcjall
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